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GENERAL DESCRIPTION
THIS DIAGNOSTIC CAN CHAIN 16 DUVIN1®S, THIS MEANS THAT
16 DEVICES CAN BE SEQUENTIALLY EXERCISED. THE DIAGNOSTIC
MAKES ONE PA>S BEFORE PROCEEDING TO THE NEXT DEVICE,
AND CONTINUES EXERCISING ALL DEVICES IN THIS FASHION UNTIL

HALTED.

THE DUVIY1 OFFLINE COMBINED TIMING AND INTERRUPT TESTS

VERIFY THAT THE TRANSMITTER AND RECEIVER CAN CORRECTLY
TALK TO EACH OTHER,INTERRUPT LOGIC AND PRIORITY LEVEL

/VECTOR ADDRESSES ARE ALSO VERIFIED

REQUIREMENTS

PDP-11/21 COMPUTER (LSI)

Duvil SYNCRONOUS/1SOCRONOUS OPTION

ONE CONSOLE TELETYPE OR EQUIVALENT

STORAGE
THE PROGRAM LOADS INTO 4K OF MEMORY WITH BOOTSTRAP

LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
IS TO BE USED.

STARTING ADDRESS
FOR ABSOLUTE LOADER

4K 017500
8k 037500
12k 057500
16K 077500
20K 117500
24K 137500
28k 157500

STARTING PROCEDURE
CONTROL SWITCH SETTINGS
NOTE: ALL SWITCHES RESIDE INTERNAL TO THE CPU_AT ADDRESS

176. THESE MAY Bt SET VJA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC. 176.

NOTE:  RUNNING UNDER APT=11, THERE IS A USER SWITCH REGISTER
CALLED '‘SUSWR''. IN ORDER TO BF FLEXIBLE ON THE AVAILIBILITY OF THE
H315 CONNECTOR, ONE BIT PASSES STATUS TQ APT-11,
BIT O IN SUSWR REFLECTS THIS STATUS, A O = CONNECTOR

.REM

.REM

SEQ 0002
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PRESENT

. CTOR NOT AVAILI
THE USEE
4

NNECT BL
THE CONTENTS OF THIS
E TABLE, BY ANSWERI

E.
LOCATION
NG THE

AF TER PROGRAM LOAD (INITIAL PROGRAM START)

ALL CONSOLE SWITCHES DOWN

YO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SWw09=1
T0O START PRCGRAM AT SELECTED T
S01=1 (ONLY IN SINGLE DEVICE

TO LOCK ON SELECTED TEST
(ONLY IN SINGLE

ES ?FTER A PROGRAM RESTART

T
TES

AFTER A PROGRAM RESTART
DEVICE TESTS)

SWis=1

NOTE1: IN GENERAL SWO1 WILL BE USED WHEN SW14=1 |S E
NOTEZ2: WITHOUT SWO01=1  *'LOCK ON TEST'' WILL DEFAULT TEST 1
STARTING ADDRESS

THE STARTING ADDRESS FOR ALL TESTS ]S 000200

THE RETARTING ADDRESS FOR ALL TESTS IS 000200
THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
THE STARTING ADDRESS TO LOCK ON TEST IS 000200

PROGRAM AND/OR OPERATOR ACTION

INITIAL PROGRAM START

4.3.1.1 LOAD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER
&.5.1.2 SET SWITCH REGISTER (LOC. 176) 10 ZERO.
4.3.1.3 TYPE 2006.

&.3.1.4 PROGRAM WILL START.

©.3.1.5 THE PROGRAM WILL TYPE ‘‘DUV11 CNDUU-A TAPE E'' (ONCE ONLY)
¢.3.1,6 THE PROGRAM WILL TYPE ''R'* TO INDICATE THAT [T IS ABOUT
TG START TESTING ,AND THEN IESTING WitL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE ''R'* AND WILL COMMENCE TESTING

.REM

.REM

SEQ 0003
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4.3.3 PROGRAM RESTART WITH SW00=1
4.3.3.1 SET SWITCH REGISTER (LOC. 176) TO A 000001,
4.3.3.2 TYPE 2006.
4¢.3.3.3 PROGRAM WILL START,

4.3.3.6 THE PROGRAM WILL TYPE ‘' 1ST DEVICE: RECEIVER CONTROL REGISTER
ADDRESS™ AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.5 TYPE IN THE ADDRESS OF THE FJRST RECEIVER CONTROL
REGISTER ADDRESS OF THE DuUV11 TO BE TESTED

FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE '’
AND WILL THEN REPEAT THE MESSAGE OF 4,3.3.4

4.3,3.6 THE PROGRAM WILL TYPE ''VECTOR ADDRESS='' AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

£.3.3.7 TYPE_IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUV1Y1 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>
[F AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE '"?*'
AND WILL THEN REPEAT THE MESSAGE Of 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE ''ARE YOU RUNNING MULTIPLE DEVICES 2"
(Y OR N)='" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.9 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
<CARRJAGE RETURN>

IF AN INCORRECT ANSWER IS GIVEN. THE PROGRAM WILL TYPE *''?*'
AND WILL THEN REPEAT THE MESSAGE Of 4.3.3.8

IF A *NO'' ANSWER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF A "YES" ANSWER 1S GIVEN:THE NEXT QUESTION IS ASKED
4£.5.3.10 THE PROGRAM WILL TYPE ''LAST DEVICE:RECEIVER CONTROL
REGISTER ADDRESS=-'' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
6.3.3.1 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL REGISTER
ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED BY A <CARRJAGE RETURN>

[F AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '"?*
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.10
NOTE:ALL ADDRESSES SHALL BE CONTIGUOUS

6.3.3.11 If AN *'OUT OF RANGE'' ADDRESS IS TYPED
IE. MORE THAN 16 (10) DEVICES AWAY (UPWARDS).....THE
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PROGRAM WILL TYPE ''OUT OF RANGE :RETYPE LAST DEVICE RXCSR ADDRESS-''
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

6.3.3.11.2 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL
RECISTER ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY A <CARRJAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE P OGRAM wiLL TYPE *'?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.11.1

If A DEVICE ADDRESS LOWER THAN 1ST DEVICE ADDR ESS IS TYPED.covvvennne
l...ScHOOLS OUT.........THERE IS NO PROTECTIO OR IHIS
THE PROGRAM WILL DEFAULT TO TWO DEVICES ACTIVE (UPWARDS FROM
1ST DEVICE ADDRESS).THE SAME APPLIES TO IDENTICAL ADDRESSES
TYPED FOR FIRST AND LAST DEVICE.
OBSERVE LOCATION @ ACTREG: SEE SECTION 7,2
6£.3.3.12 THE PROGRAM WILL TYPE ''# OF SYNC CHARS

SELECTED (1 OR 2)-"" AND WAIT FOR AN INPUT FROM THE TELETYPE
gs;??aRggs EEFER T0 MANUAL FOR PROPER SWITCH SETTINGS OF

6.3.3.13 TYPE IN THE APPROPR]JATE ANSWER ''1"' OR ''2'' FOLLOWED
gg ?chgx:é?GE RETURN>. (NOTE:ALL MULTIPLE DEVICES MUST

IF AN INCORRECT ANSWER IS TYPED T
AND WILL REPEAT THE MESSAGE OF &.3.
S

4.3.3.14 THE PROGRAM WILL TYPE ‘' 1S SEC XMIT SWITCH ES55-2 ON? (Y OR N)=''
AND WAIT FOR AN INPUT FROM THE TELETYPE KEVBOARD

6.3.3.15 TYPE IN THE APPROPRIATE ANSWER YES OR NO FO
BY A <CARRJAGE RETURN>,(NOTE THAT ALL MULTIPLE DEV!
MUST BE THE SAME)

HE PROGRAM WiLL TYPE '"?"
3.12
SEC

LLOWED
CES

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE *'2'°
AND WILL REPEAT THE MESSAGE OF &4.3.3.14
6.3.3.16 THE PROGRAM WILL TYPE '‘'IS SEC REC SWITCH ES55-3 ON?
(Y OR N)="' AND WAIT FOR AN [NPUT FROM THE TELETYPE KEYBOARD
«.3.3.17 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED
BY A <CARRJAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER 1S TYPED ,THE PROGRAM WILL TYPE °*'?"
AND WILL REPEAT THE MESSAGE OF 4.3.3.16

¢<.%5.3.18 THE PROGRAM WILL TYPE ‘'IS OPT CLR ENABLE SWITCH
ESS5=1 ON? (Y OR N)="" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
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6£.3.3.19 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED
BY A <CARRJAGE RETURN>, (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER 1S TYPED ,THE P OGRAH WILL TYPE *'2"
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

6.3.3.20 THE PROGRAM WILL TYPE ''ARE YOU RUNNING IN MAINT,
MCDE EXTERNAL ? AND ...... DO YOU HAVE THE EXTERNAL M3NIM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)="' AND WAIT FOR AN

INPUT FROM THE TELETYPE KEYBOARD
6£.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLCWED B
A <CARRIAGE RETURN>, (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
If AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '"?'°
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

4.3.3.22 THE PROGRAM WILL TYPE ''R'' TO INDICATE THAT IT
HAS STARTED AND WILL COMMENCE TESTING AT TEST 1

4.3.4 PROGRAM RESTART WITH SW01=1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED
IT WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED
IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,
AND ZELECT SW00=1 AND ANSWER ''NO'' TO THE MULTIPLE DEVICE QUESTION
SEE 4.3.3
6.3.4.1 SET SWO1=1 IN SWITCH REG (LOC. 176)
4.3.4.2 TYPE 200G.
&.3.4.3 PROGRAM WILL START,

4.3.4.6 THE PROGRAM WILL TYPE ''TEST PC-'' AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS T0O
BE STARTED FOLLOWED BY A <CARRIAGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE ''R'' TO INDICATE THAT [T HAS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TAKEN WHEN THIS F
oSINCE THERE IS NO PRCTECTION AGAINS
THAT IS IN THE MIDDLE Of A TEST
4.3.5 PROGRAM RESTART WITH SwWié4 =1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE 1S SELECTED
SEE NOTE [N &.3.4 FOR MORE DETAILS
4.3.5.1 SET SW14=1 [N SWITCH REG. (LOC. 176}

«.3.5.2 TYPE 2006.

EA URE S USED
T SELECTING AN ADDRESS
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4£.3.5.3 PROGRAM W]LL START,

4.3.5.6 THE PROGRAM WILL TYPE "'LOCK ON SELECTED TEST ? (Y OR N)="
AND WAIT FOR AN [NPUT FROM THE TELETYPE KEYBOARD
4£.3.5.5 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A

<CARRIAGE RETURN>

IF A NO ANSWER IS GIVEN: TH
TESTING AT TEST 1
4.3.5.6 IF A YES ANSWER WAS GlV

WILL FREEZE ON THE NEXT TEST UNTIL A KEY IS STRUCK ON
THE TELETYPE AND SO FORTH THRU THE PROGRAM, [F SWG1 =1

WILL PERFORM AS IN SECTION 4.3.4 ALLOWING GNE TO FREEZE

A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1
CPERATING PROCEDURE

OPERATIONAL SWiTCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIA LOC.

SWis =1 HALT ON ERROR

SWi4 =1 LOOP ON CURRENT TEST

SWwi3 =1 INHIBIT ERROR TYPEOQUT

SWil =1 INHIBIT ITERATIONS

SW10 =1 ESCAPE TO NEXT TEST ON ERROR
SWo9 =1 LOOP ON ERROR

SW01 =1 RESTART PROGRAM AT SELECTED

ER ADRESSES
RPARAMETERS AFTER A PROGRAM
TO INHIBIT ''END OF PASS'' TYPEOUT - TURN TELE

ERRORS

TEST
SW00 =1 RESELECT VECTOR AND CONTROL REGIST

RESTART

TYPE OFF

ERROR HALTS (UNDER LS] ALL HALT ERRORS RETURN CONTROL TO 0.D.T.)

THERE ARE FOUR DISTINCT ERROR TYPEOUTS

PC+2 = ERROR PC
WHERE PC +2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER +¢?

REFER TO THE ABOVE '‘HLT'' IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK ADDRESS @ RXCSR: TO LOCATE THE DEVICE PRFSENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC +2 = REGISTER ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 111111

WHERE 16XXXX ]S THE ADDRESS OF THE FAILING DEVICE REGISTER

HIS LOCK ON TEST WILL BE IGNORED
AND THE PROGRAM WILL TYPE "'R'* TO INDICATE THAT IT HAS STARTED

EN:THE PROGRAM WILL ACT AS FOLLOWS...
THE PROGRAM WILL TYPE 'R' TO INDICATE THAT IT HAS STARTED
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR IF ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM

SEQ 0007
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6.2.2
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WHERE YYYYYY IS THE EXPECTED CONTENTS OFf THAT REGISTER

WHERE 2222127 1S THE ACTUAL CONTENTS OF ThHAT REGISTER

PC +2 = RECEIVER ERROR PC

REGISTER EXPECTED ACTUAL

16XXXX YYYYYY 111111

WHERE 16XXXX IS THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS5 THE EXPECTED DATA CONTENTS Of THAT REGISTER

WHERE 222211 1S THE ACTUAL DATA CONTENTS OF THAT REGISTER

PC +2 = TRANSMITTER ERROR P({

REGISTER EXPECTED ACTUAL

16XXXX YYYYYY 122112

WHERE 16XXXX IS THE.ADDRESS OF THE FAJLING TRANSMITTER (TX(SR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER

WHERE 272227 1S THE ACTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETAILS OF ERRORS

ERROR RECOVERY

SW15 =0
IF THE PROGRAM IS RUN WITH SW15 =0 ,NO OPERATOR ACTION IS
REQUIRED TO CONTINUE TESTING

SW15 =1

IF _THE PROGRAM IS RUN WITH SW15 =1 ,TO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED ,PRESS THE PROCESSOR
CONSOLE “'CONTINUE SWITCH'

NOTE: THE PC ¢ 2 OF THE “'WLT'' WILL BE DISPLAYED IN THE DATA LIGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM WILL WALT IN
THE TRAPCATCHER, THE ADDRESS AT WHICH THE PROGRAM

MALTS 1S 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 TO
RECOVER FROM THIS ERROR.

ADDJTIONAL TROUBLESHOQTING AIDS ERRCNT: & PASONT:

CHECK THESE TWO YA LOCATIONS FOR TOTAL # OF ERRORS AND PASSES RESPECTIVELY.

LOADING 000200 AND RESTARTING WILL CLEAR THESE LOCAT]ONS.

D
IS TYPEQUT [S MENTIONED HERE ¢ . CONVENIENCE

%: Of PASS ROUTINE
IT IS IN THE FORM:

S
l

SEQ 0008
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END OfF PASS TAPE ¥

16XXxx = DEVICE

WHERE Y IS THE TAPE LOADED

WHERE 16XXXX IS THE DEVICE'S BASE REGISTER ADDRESS
T0 INHIBIT THIS TYPEOUT = TURN TELETYPE OFF

7. RESTRICTIONS

7.1 MULTIPLE DEVICES
UP 10 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS ADDRESSES AND VECTORS
NOTE: IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE ‘‘2EROQ: ADD  #10,BASEIV :NEXT BLOCK
(VECTORS)'' TO '"ZERO:  ADD #0,BASEIV';
THEREBY THE VECTOR ADDRESSES WILL NOT BE
UPDATED AFTER EACH PASS.

7.2 DISQUALTIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES
WHEN RUNNING MULTIFLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST E. BIT O FOR
DEVICE O BIT 15 FOR DEVICE 15
10 D'SGUALIFY DEVICES:

7.2.1  IF DEVICE 0 IS TO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWO0 =1 AND OMIT THE FIRST DEVICE.

7.2.2 IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO 8E DISQUALIFIED....LOAD THE LOCATION OF A(CTREG:
OBSERVE THE ACTIVE BI1TS (ACTIVE =1, NONACTIVE = 0)
AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED
7.2.2.1 T0 RESTART...TYPE 20

0G.
THE PROGRAM WILL CONTINUE WITH THE DEVICE 1T WAS IN BEFORE HALTING.
7.2.2.2 .......0R ..., .SET SWO0=1 IN SWITCH REG (LOC. 176) AND TYPE 2006....
ANSWER THE QUESTION :1ST DEVICE : ETC...........
' ....THE PROGRAM WILL CONTINUE WITH DEVICE O

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE _ THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE...... .TYPE 200G.

7.3 CABLE DELAYS
NOTE: EXTERNAL LOOP BACK TESIS ONLY (MODEM CABLE WITH H315 CONNECTOR ON)

7.3.1 TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE,
LOCATION "'HOLD:* MUST BE MCDIFIED TO ACCOMODATE FOR FASTER MACHINES.
PRESENTLY “'HOLD:** =20 IS SUFFICIENT TIME ON AN 11/21 MACHINE.
BASICALLY DON'T TRY TO EXCEED 10k TO 12k RATE USING THE EiA DRIVERS

7.4 T0 USE THE "'XOR'' TESTER ,THE BRANCH ARQUND THE ‘'‘XOR
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CODE MUST BE PATCHED TO A ''NOP'', (SEE LISTINGS FOR DETAILS)

DEFAULY PARAMETERS:
1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS- RXCSR: 174300

VECTOR ADDRESS- DURIV: 330
ARE YOU RUNNING MULTIPLE DEVICES ?- NO MULTD: 0
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= LASTADD: 0
# Of SYNC CHARS SE_ECTED - 2 SYNCNO: 377

IS SEC XMIT SWITCH E55-2 ON?- VYES SEXMIT: 377

IS SEC REC SWITCH ES55-3 ON?- YES SEREC: 377

IS OPT CLR ENABLE SWITCH E55-1 ON?- YES OPTCLR: 377

DO YOU HAVE THE_EXTERNAL MODEM BYPASS JUMPER
CONNECTOR ON (H315)~ YES JMRBY: 377

PROGRAM DESCRIPTION

<REM
THIS PROGRAM PERFORMS THE OFFLINE COMBINED (TRANSMITTER & RECEIVER)
TIMING & INTERRUPT TESTING OF THE DEVICE
SEE LISTING FOR DFTAILS .

.REM

FLOW CHARTS: RECEIVER tLOW,TRANSMITTER FLOW,TRANSMITTER & RECEIVER FLOW

REVISION HISTORY

gsgggg;oglAGNOSTlC WAS MODIFIED TO WORK IN 11/21 SBC-
PRIORITY 340 WAS CHANGED TO 300 WHEREVER ENCOUNTERED.
DEFAULT CSR AND VECTOR ADDRESSES WERE CHANGED.

VECTOR 140 WAS INITIALIZED TO ODT ADDRESS AND ALSO
BEVNT HANDLED WITH A MESSAGE.

DIAGNOSTIC WAS RENAMED TO CNDUUAO.

LISTINGS

SEQ 0010
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6489
6583
6584
6585
6596
6610 '
6611
6612
6673
6674
6879
7007
79?? .SBTTL APT COMMUNICATIONS ROUTINE
(2) '."t'ﬁ"til!‘."'l'i"f"fitfit"'l""'t.'tt".i'lt'.t".'iti"'.
(1) 000000 112767 000001 000236 $ATY1: MOVB  #1,SFFLG ::T0 REPORT FATAL ERROR
(1) 000006 112767 000001 000226 $ATY3: MOVB  #1.SMFLG “:TO TYPE A MESSAGE
(1) 000014 000403 BR SATYC
(1) 000016 112767 000001 000220 $ATY4L: MOVB  #1,$FFLG ::TO ONLY REPORT FATAL ERROR
(1) 000024 $ATYC:
(3) 000024 010046 MOV RO,=(SP) ::PUSH RO ON STACK
(3) 000026 010146 MOV R1.=(SP) *:PUSH R1 ON STACK
(1) 000030 105767 000206 TSTB  SMFLG : SHOULD TYPE A MESSAGE?
(1) 000034 001450 BEQ 5¢ S 1F NOT: BR
(1) 000036 122707 000001 001502 CMPB  WAPTENV,SENV  ;;OPERATING UNDER APT?
(1) 000044 001031 BNE 3¢ ;. 1F NOT: B8R
(1) 000046 132767 000100 001473 BITB  WAPTSPOOL.SENVM ::SHOULD SPOOL MESSAGES?
(1) 000056 001425 BEQ 38 ‘Y1F NOT: BR
(1) 000056 017600 000004 MOV 34 (SP) RO 2:GET MESSAGE ADDR.
(1) 000062 062766 000002 000006 ADD #2,4(SP) :BUMP RETURN ADDR.
(1) 000070 005767 001432 1%: ST $MSGTYPE ::SEE IF DONE W/ LAST XMISSION?
(1) 000074 001375 BNE 1% PU1F NOT: WAIT
(1) 000076 010067 001440 MOV RO, SMSGAD
(1) :sPUT ADDR IN MAILBOX
(1) 000102 105720 2%: 7818 (RO) + ;:FIND END OF MESSAGE
(1) 000106 001376 BNE 2%
(1) 000106 166700 001430 SUB $SMSGAD , RO ::SUB START OF MESSAGE
(i) 000112 006 ASR Ry 23GET MESSAGE LNGTH IN WORDS
(1) 000114 010 001424 MOV RC,$MSGLGT S PUT LENGTH IN MA]LBOX
(1) 000120 012 000004 001400 MOV #L . SMSGTYPE PITELL APT TO TAKE MSG.
(1) 000126 000 BR 5
(i) 000130 017 000004 000016 3%: MOV a4 (SP),4% ::PUT MSG ADDR IN JSR L INKAGE
(1) 000136 000002 000004 ADD #2,6(SF) - -8UMP RETURN ADDRESS
(3) 500144 177626 MOV 177776, -(SP) ;:PUSH 177776 ON STACK
(1) 000150 012736 JSR PC,$TYPE *:CALL TYPE MACRO
(1) 000154 000000 43 LWORD 0
(1) 000156 5%
(1) 000156 105767 000062 108 : TSTB  S$FFLG ::SHOULD REPORT FATAL ERROR?
(1) 000162 001416 RFQ 12% *:1F NOT: BR
(1) 000164 005767 001256 ST SENV : SRUNNING UNDER APT?
(1) 000170 001413 BEQ 12$ S31F NOT: B8R )
(1) 000172 005767 001330 11%: ST SMSGTYPE TIFINISHED LAST MESSAGE?
(1) 000176 001375 ] BNE 11% SIIF NOT: WAIT
(1) 000200 017667 000.2% 001322 MOV a4 (SP),$FATAL  ;:GET ERROR #
(1) 000206 062766 000002 000004 ADD #2,4(SP) : :BUMP RETURN ADDR.
(1) 000214 005267 001306 INC $MSGTYPE ::TELL APT TO TAKE ERROR



SEQ 0012

TIONS ROUTINE

10:02 PAGE 58-I
APT COMMUNICA

14-DEC-82
29-0C1-32 13:17

CNDUU=A MACY11_30(104¢)

(NDUUZ2 .M11

(& ]
L O
Y axx
L w
2O 00
e o LA ——
—_-0Z2Z
ey - & 1] (€]
g W L ¢
— DV XY J
COWL
w SE A
——F
xEXEXWVIWVO
gL L e TV, }
wwwo ar—-wm
d =d = OO WIS
uuadaaE
L] ®te acg*arcy
- e [ X K BA ]
-—_—O
xa
«® &
OO0+ +
—d e d ™~
[veyvay vy . Wy - §
“w JE NN
PRP— -0 OO
[VE]VY)
Ao ——
XL > >
OO M@
DO EEX ¢
(G 1
.e LL
o> [Ty Ve
(g ¥} = J
-— (" X"
oMY
Ne— O
OCoO
o000
lelele]
OOoO
MAAN—OMNOO
D DOO0OO00O0
OOOVONOO
[ValValvaloNo¥ e
OOQe—e—O
—e— OO0
OJOIT VO
[ V7oV T al al aXX SN SN 4
OO
oleleleleloelols]
lolololelale el o)
ololelelelolole)]

;:FATAL FLAG

::L0G FLAG
b

P Y o Ve Y N e e Rt X i N Nt I Won N

NN e
Nt N Nt Nt i sl N Nt gt et Nt Nt ot St St

74642
7654
76467



L-DE(-82 10:02__P/GE 61

(NDUU=A MACY1T _30(1046) 1
-82 13:17 APT (OMMUNICATIONS ROUTINE SEQ 0013

(NDUUZ M1 29-0CT

76491
7557
7563
7699
7727
7760
7801
7832
7883
7931
7984
7999
8011
8113



4(-DEC-82 10:02 PAGE 6

CNDUU=-A MACY11_3001046) 164- 2
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CNDUUA M1 29-n(T1~

8144 LIST  ME

8145 LNLIST MC,MD,CND

8 .ENABLE ABS

8 000246 PRGFRT ~/DUV11 CNDUU-A TAPE E /,*/(NDUU-A/,“/END OF PASS TAPE E/
000246 SHEADER */1977/,<DUvV1l (CNDUU=-A TAPE E >,<(NDUU-A>,<END OF PASS TAPE E>

s0UV11 CNDUU=A TAPE E
;COPYRIGHT 1977, DICITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

JSTARTING PROCEDURE

:TYPE 2006

;PROGRAM WILL TYPE '‘DuUv1i

:PROGRAM WILL TYPE 'R** T0
;AT THE END OF A PASS, PRO
;AND THEN RESUME TESTING

LTITLE  CNDUU-A

(NDUU-A TAPE E "
INDICATE THAT TESTING HAS STARTED
GRAM wILL TYPE ''END OF PASS TAPE E'

e N et e S S e o e vy v DD~

SN S ey e PN PSP P PN g, o, S ed
IR AL NN NI NININININD — O 0
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CNDUUA M1 29-0CT-82 13:27 APT COMMUNICATIONS ROUTINE SEQ 0015
f%; ;TRAP CATCHER FOR ILLEGAL INTERRUPTS,
(2) 000000 .=0
(3) 000000 000002 .42
(3) 000002 000000 HALT
(3) 000004 000006 .42
(3) 000006 000000 HALT
(3) 000010 000012 .40
(3) 000012 000000 HALT
(3) 000014 000016 .+
(3) 000016 000000 HALT
(3) 000020 000022 .*°
(%) 000022 000900 HALT
(3) 000024 000026 .+
(3) 000026 000000 HALT
(3) 000030 000032 .42
(3) 000032 000000 HALT
(3) 00003& 000036 .+
(3) 000036 000000 HALT
(3) 000040 000042 .42
(3) 000042 000000 HALY
(%) 000044 000046 +
(3) 000046 000000 HALT
(3) 000050 000052 +2
(3) 000052 000000 HALT
(3) 000054 000056 +2
(3) 000056 000000 HALT
(3) 000060 000062 +2
(3) 000062 000000 HALT
(3) 000064 000066 +2
(3) 000066 000000 HALT
(3) 000070 000072 +2
(3) 000072 000000 HALT
(3) 000074 000076 +?
(%) 000076 000000 HALT
(3) 000100 000102 s
(3) 000102 00C000 HALT
(3) 000104 000106 *2
(3) 000106 000000 HALT
(3) 000110 000112 +2
(3) 000112 000000 HALT
(3) 000114 000116 .42
(3) 030116 000000 MALT
(3) 000120 000122 .42
(3) 000122 000000 HALT
(3) 000124 000126 .42
(3) 000126 000000 HALT
(3) 000130 000132 Ry
(3) 000132 000000 HALT
(3) 000134 000136 .42
(3) 000136 000000 HALT
(3) 000140 000142 R
(3) 000142 000000 HAL T
(3) 000144 000146 .42
(3) 000146 000000 HAL T
(3) 000150 000152 .42
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CNDUUA . M1 29-0CT-82 13:27 APT COMMUNICATIONS ROUTINE SEQ 0016
(3) 000152 000C00 HALT
(3) 000154 000156 .42
(3) 000156 000000 HALT
(3) 000160 000162 .42
(3) 000162 000000 HALT
(3) 000164 000166 .+
(3) 000166 000000 HALT
(3) 000170 000172 .+
(3) 000172 000000 HALT
(3) 000174 000176 .42
(3) 000176 000000 HALT
(3) 000200 000202 .42
(3) 000202 000200 HALT
(3) 000204 000206 .42
(3) 000206 000000 HALT
(3) 000210 000212 .42
(3) 000212 000000 HALT
(3) 0007164 000216 .+
(3) 000216 000000 HALT
(3) 000220 000222 .42
(3) 000222 000000 HALY
(3) 000226 000226 +2
(3) 000226 000000 HALT
(3) 000230 000232 +2
(3) 000232 000000 HALT
(3) 000234 000236 +2
(3) 000236 000000 HALT
(3) 000240 000242 +2
(3) 000242 000000 HALT
(3) 000244 000246 +2
(3) 000246 000000 HALT
(3) 000250 000252 +2
(3) 000252 000000 HALT
(3) 00025 000256 +2
(3) 000256 000000 HAL T
(3) 000260 000262 +2
(3) 000262 000000 HALT
(3) 000264 000266 +2
(3) 000266 000000 HAL '
(3) 000270 000272 +2
(3) 000272 000000 HALT
(3) 000274 000276 +2
(3) 00276 000000 HALT
(3) 000300 000302 +2
(3) 000302 000000 HAL T
(3) 000304 000306 +2
(3) 000306 000000 HALT
(3) 000310 000312 +
(3) 000312 000000 HALT
(3) 000314 000316 +2
(3) 000316 000000 HALT
(3) 000320 000322 M
(3) 000322 000000 HALT
(3) 000326 000326 .42
(3) 000326 000000 HAL T
(3) 000330 000332 .42



CNDUU=-A MACY1Y 30(1046) 14~DEC-B2 10:02 PAGE 62-3
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(3) 000332 000000 HALT
(3) 000334 000336 .+
(3) 000336 000000 HALT
(3) 000340 000342 .42
(3) 000342 000000 HALT
(3) 000344 000346 R
(3) 000346 (000000 HALT
(3) 000350 000352 .7
(3) 000352 000000 HALT
(3) 000354 000356 .+
(3) 000356 000000 HALT
(3) 000360 000362 2
(3) 000362 000000 HALT
(3) 000364 000366 .42
(3) 000366 000000 HALT
(3) 000370 000372 .+
(3) 000372 000000 HALT
(3) 000374 000376 +2
(3) 000376 000000 HALT
(3) 000400 000402 +2
(3) 000402 000000 HALT
(3) 000404 000406 +2
(3) 000406 000000 HALT
(3) 000410 000412 +2
(3) 000412 000000 HALT
(3) 000414 000616 +2
(3) 000416 000000 HALT
(3) 000420 000422 +2
(3) 000422 000000 HALT
(3) 000424 000426 +2
(3) 000426 000000 HALT
(3) 000430 000432 +2
(3) 000432 000000 HALT
(3) 000434 000436 42
(3) 000436 000000 HALT
(3) 0006440 000442 .4
(3) 000442 000000 HALT
(3) 000444 000446 e
(3) 000446 000000 HALT
(3) 000450 000452 .42
(3) 000452 000000 HALT
(3) 000454 000456 2
(3) 00456 000000 HALT
(3) 000460 000462 .42
(3) 000462 000000 HALT
(3) 000464 000466 .42
(3) 000466 000000 HALT
(3) 000470 000472 .+
(3> 000472 000000 HALT
(3) 000474 000476 .42
(3) 000476 000000 HALT
(3) 000500 000502 .42
(3) 000502 000000 HALT
(3) 000504 000506 .42
(3) 000506 000000 HALT
(3) 000510 000512 .42
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CNDUUA .MV 29-0(T1-82 13:27 APT COMMUNICAT]ONS ROUTINE SEQ 0018
(3) 000512 000000 HALT
(3) 000514 000516 .+
(3) 000516 000000 HALT
(3) 000520 000522 .42
(3) 000522 000000 HALT
(3) 000524 000526 .+
(3) 000526 0CJ000 HALT
(3) 000530 000532 .+
(3) 000532 (00000 HALT
(3) 000534 000536 .42
(3) 000536 000000 HALT
(3) 006540 000542 .42
(3) 000542 0009200 HALT
(3) 000544 000546 .+
(3) 000546 000000 HALT
(3) 000550 000552 .+
(3) 000552 000000 HALT
(3) 000554 000556 .42
(3) 000556 000000 HALT
(3) r00560 000562 .+
(3) 000562 00000C HALT
(3) 000564 "00566 +2
(3) 000566 000000 HALT
(3) 000570 000572 +
(3) 000572 000000 HALT
(3) 000574 000576 +
(3) 000576 000000 HALT
(3) 000600 000602 +2
(3) 000602 000000 HALT
(3) 000604 000606 +
(3) 000606 000000 HALT
(3) 000610 000612 +2
(3) 000612 000000 HALT
(3) 000616 000616 +
(3) 000616 000000 HALT
(3) 000620 000622 . 42
(3) 000622 000000 HALT
(3) 000624 000626 .+
(3) 000626 000000 HALT
(3) 000630 000632 .42
(3) 000632 000000 HALT
(3) 000634 000636 .+
(3) 000636 000000 HALT
(3) 000640 000662 .42
(3) 000642 000000 HALT
(3) 000644 000646 .42
(3) 000646 000000 HALT
(3) 000650 000652 .+
(3) 000652 000000 HALT
(3) 000654 000656 .42
(3) 000656 000000 HALT
(3) 000660 000662 .+
(3) 000662 000000 HALT
(3) 000664 000666 .4
(3) 000666 000000 HALT
(3) 000670 000672 .42
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(3) 000672 000000 HALT
(3) 000674 000676 +2
(3) 000676 000000 HALT
(3) 000700 000702 .
(3) 000702 000000 HALT
(3) 000704 000706 +d
(3) 000706 000000 HALT
(3) 000710 000712 +2
(3) 000712 000000 HALT
(3) 000714 000716 +2
(3) 000716 000000 HALT
(3) 000720 000722
(3) 000722 000900 HALT
(3) 000724 000726 +2
(3) 000726 000000 HALT
(3) 000730 000732 +2
(3) 000732 000000 HALT
(3) 000734 000736 +2
(3) 000736 000000 HALT
(3) 000740 000742 XY
(3) 000742 000000 HAL T
(3) 000744 000746 Y
(3) 000746 000000 HALT
(3) 000750 000752 Y
(3) 000752 000000 HALT
(3) 000754 000756 Y
(3) 000756 000000 HAL T
(3) 000760 000762 Y
(3) 000762 000000 HALT
(3) 000764 000766 Y
(3) 000766 000000 HALT
(3) 000770 000772 XY
(3) 000772 000000 HALT
(3) 000774 000776 Y
(3) 000776 000000 HALT
(1) 001000 .EQUAT
55; .SBTTL BASIC DEFINITIONS
(2) 001 1f NB
(2) ;¢ INITIAL ADDRESS OF THE STACK POINTER s#e wss
:g; STACK-
(2) .'lNIIIAL ADDRESS OF THE STACK POINTER #+n 1100 wex
(2) 001100 §TACK= 1100
(2) 000 LENDC
(2) JEQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
(5> .EQUIV 10T.SCOPE S BASIC DEFINITION OF SCOPE CALL
(2)
(2) ; *MISCELLANEOUS DEF INITIONS
(2) 000011 HT= 11 :CODE FOR HORIZONTAL TAB
(2) 000012 LF= 12 :3CODE FOR LINE FEED
(2) 000015 CR= 15 ::CODE FOR CARRIAGE RETURN
(2) 000200 CRLF= 200 ::CODE FOR CARRIAGE RETURN=LINE FEED
(2) 177776 PS: 177776 s SPROCESSOR STATUS WORD
(2) .EQUIV PS,PSW
(2) 127774 STKLMT= 172774 ::STACK LIMIT REGISTER
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CNDUUA . M1 29-0C7-82 13:27 BASIC DEFINITIONS SEQ 0020
(2) 1772772 PIRQ= 177772 . PROGRAM INTERRUPT REQUEST REGISTER
(2) 177570 DSWR= 177570 ; ;HARDWARE SWITCH REGISTER
(2) 177570 ODISP= 177570 ¢+ HARDWARE DISPLAY REGISTER
(2) ;xrewe  THE FOLLOWING ODY'START ADDRESS FOR SBC 11/21 IS ADDED
(2) 170000 0DTST= 170000
(2) : *GENERAL PURPOSE REGISTER DEFINITIONS
(2) 000000 RO= %0 s ;GENERAL REGISTER
(2) 000001 R1= X1 : sGENERAL REGISTER
(2) 000002 R2= X2 ;s GENERAL REGISTER
(2) 000003 R3= X3 : cGENERAL REGISTER
(2) 000004 R4 = 144 : sGENERAL REGISTER
(2) 000005 H9= x5 : cGENERAL REGISTER
(2) 000206 R6= 26 : sGENERAL REGISTER
(2) 000007 R7= 17 . ;GENERAL REGISTER
(2) 000006 SP= 16 ;s STACK POINTER
E%; 090007 PC= x7 : : PROGRAM (OUNTER
2) :*PRIORITY LEVEL DEFINITIONS
(2) 000000 PRO= 0 ::PRIORITY LEVEL 0
(2) 000040 PR1= 40 ::PRIORITY LEVEL 1
(2) 000100 PR2= 100 ::PRIORITY LEVEL 2
(2) 000140 PR3= 140 ::PRIORITY LEVEL 3
(2) 000200 PRé4= 200 ;:PRIORITY LEVEL &
(2) 000240 PRS= 240 s;PRIORITY LEVEL §
(2) 000300 PR6= 300 ;.PRIORITY LEVEL 6
gg; 000340 PR7= 340 :.PRIORITY LEVEL 7
(2) s*' 'SWITCH REGISTER' SWITCH DEFINITIONS
(2) 100000 SWi15= 100000
(2) 040000 SWil4= 40000
(2) 020000 sWwi3= 20000
(2) 010000 SWwi2= 10000
(2) 004000 SWil= 4000
(2) 002000 SWi10= 2000
(2) 001000 sWw09= 1000
(2) 000400 SwW08= 400
(2) 000200 SWwo7= 200
(2) 000100 SW06= 100
(2) 000040 SW05= 40
(2) 000020 SW04= 20
(2) 000010 Swo3= 10
(2) 000004 SWh2= 4
(2) 000002 SWwo1= 2
(2) 000001 SW00= 1
(2) LEQUIV  SW09,SW9
(2) .EQUIV SW08,Sw8
(2) EQUIV 5W07,Sw7
(2) +EQUIV  SW06,SuWé
(2) -EQUIV SW05,SwW5
(2) EQUIV  SW04,SW4
(2) -EQUIV SW03,S5w3
(2) LEQUIV SW02,S5W?
(2) LEQUIV  SWO1,SW1
(2) .EQUIV SW00, w0
(S) 001 JAF B ©
(2)
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F INITIONS (BITO0 TO BIT15)

PU'' TRAP VECTOR ADDRESSES
;. TIME OUT AND OTHER ERRORS
; sRESERVED AND ILLEGAL INSTRUCTIONS

. ”t” BIT

,.TRACE TRAP
; :BREAKPOINT TRAP (BPT)
;s INPUT/0UTPUT TRAP (I0T) ««SCOPEre
; :POWER FAIL
..EMULATOR TRAP (EMT) «~«ERRORw+
;:"'TRAP'' TRAP
,.TTY KEYBOARD VECTOR
;:TTY PRINTER VECTOR
FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
s:LINE CLOCK VECTOR
;:BREAK VECTOR
: ;PROGRAM INTERRUPT REQUEST VECTOR

SEQ 0021
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ES; :STANDARD INTERRUPT VECTORS

(2)

(2) 000174 =174

(2) 000174 000000 DISPREG:0

(2) 000176 000000 SWREG:0

(2) 000200 .=200

2%; 000200 000167 001746 JMP «START ;60 TO START OF PROGRAM

(2)

:5; 000204 $VARIA

(2) 001100 .=1100

(2) 001100 000000 .WORD 0

z%; 001102 177570 LIGHTS:177570

(2)

(2)

%%; ;PROGRAM CONTROL PARAMETERS

(2) 001104 000000 RETURN: 0

(2) 001106 000000 NEXT: O ;ADDRESS OF NEXT TEST TO BE EXECUTED
(2) 001110 000000 LOCK: ¥ ;ADDRESS FOR LOCK ON CURRENT DATA
(2) 001112 000000 PASCNT: 0 ; ADDRESS CONTAINING PASS COUNT

(2) 001114 000000 ERRCNT: 0 :ERROR COUNT

:%; 001116 000000 SAVSP: 0 :STACK POINTER STORAGE

g%; ;PROGRAM VARIABLES

(2) 001120 000020 HOLD: 20 : TEMPORARY STORAGE=DELAY TIME FOR CABLES
(2) 001122 000000 SHIFT: 0 ; TEMPORARY STORAGE= # OF SHIFTS PER (HAR
(2) 001124 000000 COUNT: 0 ; TEMPORARY STORAGE= # OF TIMES A CHAR WILL BE SENT
(2) 001126 000000 SAVPC: 0 ;PROGRAM COUNTER STORAGE

(2) 001130 000000 HLDO: 0

(2) 001132 000000 HLD1: 0

(2) 001134 000000 HLDZ2: 0

(2) 001136 000000 HLD3: 0

(2) 001140 000000 HLD4: O

(2) 001142 000000 HLDS: 0

25; 001144 000000 HLD6: O
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PUSH1SP=5746
POP1SP=S726
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A

:DEC
C

S IN
SSAV
‘RES
:DEC

INC

N1t IONS

1T 0

]
B

DBUF BIT DEFINIEIONS

REMENT PROCESSOR STACK 1 WORD =T1ST
REMENT PROCESSOR STACK 1 WORD =TST
E RO ON STACK =MQV R(,=(SP)
TORE RO FROM STACK =MOV (SP)+,R0
REMENT STACK TWICE =CMP -(SP),=(SP)
REMENT STACK TWICE =(CMP (SP)+,(SP)+
EFINITIONS

DATA SET CHANGE

RING
.CLR TO SEND
:CARRIER DETECT
cREC ACTIVE
sSEC REC DATA
;DATA SET RDY
:STRIP SYNC
:REC DONE
REC INTR ENABLE
sDSC INTR ENABLE
.SYNC SEAR(CH
sSEC XMIT DATA
:REQ TO SEND
;DATA TERM RDY

ERROR
; OVERRUN
:FRAME ERROR
:PARITY ERROR

RCSR BIT DEFINITIONS

+PARITY ENABLE
:EVEN PARITY SENSE

CSR WRD DEFINITIONS

;SYNC EXTERNAL MODE
:SYNC INTERNAL MODE
. 150C MODE

:WORD LENGTH 5 B
:WORD LENGTH 6 B
:WORD LENGTH 7 B
:WORD LENGTH 8 B
:NO PAR]TY

:0DD PARITY
;EVEN PAR]TY

CSR BIT DEFINITIONS

sDATA NOT AVAILABLE
SMAINT DATA

s CLK

sBIT WINDOW

;MASTER RESET

SXMIT DONE

;XMIT INTR ENABLE

SEQ 0024
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(2) 000040 DNAINTE=BITS :DNA INTR ENAB
(2) 000020 SEND=B] T4 SSEND
%) 000010 HOXEN=BIT3 ;HDX/FDX
(2) 000001 BREAK=BIT0 BRE AK
(2) :TXCSR WRD DEF INITIONS
(2) 000000 USER=0 :USER MODE
() 004000 MINT=4000 *MAINT INT MODE
(2) 010000 MEXT=10000 *MAINT EXT MODE
(2) 014000 SYSTST=14000 SSYSTEM TEST MODE
(1) 001400 _SCMTAG 6,6,$SYMBOLS, . ,ENDTAB
(2) "MACRO $$CMREG A.B
(2) $REG'A: .WORD :sCONTAINS ((SREGAD)+'B)
(2) NLIST
(2) $CMI=SCMT+1
(2) $CM2=$(M2+2
(2) LLIST
(2) "ENDM  $SCMREG
(2) "MACRO $SCMTMP A
(2) $TMP'A: .WORD O : ;USER DEF INED
(2) NLIST
(2) $CML=SCML+1
(2) LIST
(2) euon $SCMTMP
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gg; .SBTTL COMMON TAGS
(2) 001400 STARS
(3) 601 IF B
(3) t"tttt't'i!t.it'ttttt't't'tttttttﬁ'ttttt'tti'ttt'tttttttttt't'
(3) {1
(3) INLIST
(3) ‘RcPT
(3) L IST
(3) ":tttttlt'ttttittttf!t'titttttttt'tttttQtttttttttttitt'lt’ttttttt
(3) "NLIST
(3) "ENDR
(3) LLIST
(%) 000 "ENDC
(2) :«THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
:g; “«USED IN THE PROGRAM.
(2) 001 JIF NB .
() 001400 .=,
() JIFF
(2) .=1100
(2) 000 JENDC
(2) 001400 $SCMTAG: :;START OF COMMON TAGS
(2) 001 .if NB ENDTAB
gg; 001400 000000 " .WORD O
(2) $PASS: .WORD O ;s CONTAINS PASS COUNT
(2) 000 LENDC
(2) 001402 005 $TSTNM: .BYTE 0 ::CONTAINS THE TEST NUMBER
(2) 001403 000 SERFLG: .BYTE 0 ::CONTAINS ERROR FLAG
(2) 001404 000000 $ICNT: .WORD O P:CONTAINS SUBTEST ITERATION COUNT
(2) 001406 000000 SLPADR: .WORD O P:CONTAINS SCOPE LOOP ADDRESS
(2) 001410 (00000 SLPERR: .WORD 0 ;CONTAINS SCOPE RETURN FOR ERRORS
(2) 001412 000000 $ERTTL: .WORD 0 ;;CONTAINS TOTAL ERRORS DETECTED
(2) 001414 000 $ITEMB: .BYTE 0 S3CONTAINS ITEM CONTROL BYTE
(2) 001415 001 SERMAX: .BYTE 1 ::CONTAINS MAX. ERRORS PER TEST
(2) 001416 000000 $SLRRPC: .WORD O PSCONTAINS PC OF LAST ERROR INSTRUCTION
(2) 001420 000000 $GDAPR: .WORD O *:CONTAINS ADDRESS OF 'GOOD* DATA
(2) 001422 000000 $8D 'R: .WORD 0 ::CONTAINS ADDRESS OF 'BAD' DATA
(2) 001424 000009 $GDUAT: .WORD O T:CONTAINS *GOOD*® DATA
(2) 001426 00000y $BDDAT: .WORD O :CONTAINS °*BAD' DATA
(2) 001430 000000 WORD 0 : *RESERVED=-NOT 70O BE USED
(2) 001432 000000 WORD 0
(2) 001434 000 $SAUT'B: .BYTE 0 :sAUTOMATIC MODE INDICATOR
(2) 001435 000 $INTAG: .BYTE 0 P INTERRUPT MODE INDICATOR
(2) 001436 000000 MORD O
(2) 001440 177570 SWR: "WORD  DSWR ;s ADDRESS OF SWITCH REGISTER
(2) 001442 177570 DISPLAY: .WORD DODISP . ADDRESS OF DISPLAY REGISTER
(2) 001444 177560 $TKS: 177560 SSTTY KBD STATUS
(2) 001446 177562 $TKB- 177562 SST1TY KBD BUFFER
(z) 001450 177564 $IPS: 177564 “STTY PRINTER STATUS REG. ADDRESS
() 001452 177566 $STPB: 177566 P:TTY PRINTER BUFFER REG. ADDRESS
(2) 001454 000 $NULL: .BYTE 0 ::CONTAINS NULL CHARACTER FOR FILLS
(2) 001455 002 $FILLS: .BYTE 2
(2) .- (ONTAINS # OF FILLER CHARACTERS REQUIRED N
(¢) 001456 012 $FILLC: .BYTE 12 s INSERT FILL CHARS. AFTER A "‘LINE FEED
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001457 00
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COMMON TAGS SEQ 0027

2%; S}?FgGé .BYTE O ;s 'TERMINAL AVAILABLE®' FLAG (BIT<07>=0=YES)
(2) (NLIST

(2) $(M3=0

(2) .LIST

(2) JIFF

(2) 000006 $(M3=6

(2) 000 ENDC

(2) 001 .JF NE $(M3

(2) 001460 000000 SREGAD: .WORD O :;CONTAINS THE ADDRESS FRCM
(2) ;sWHICH (SREGO) WAS OBTAINED
(2) 000000 $CM1=0

(2) 000900 $CM2=0

(2) 000006 LREPT  $(M3

(2) $SSCMREG \$CM1,\$CM?

(3) .ENDR

(3) 001462 $SCMREG \SCM1,\$CM2

(4) 001462 000000 $REGO: .WORD O ;s CONTAINS ((SREGAD) +0)
(4) 000001 $CM1=83(M1+1

(&) 000002 SCM2=8CM2+2

(3) 001464 $SSCMREG \$CM1,\8(M2

(4) 001464 000000 SREG1: .WORD O ;s CONTAINS ((SREGAD)+2)
(&) 000002 $CM1=$CM1+1

(1) 000104 $CM2=$CM2+2

3) 001466 $SSCMREG \SCM1,\$(M2

(&) 001466 000000 SREG2: .WORD 0 ;s CONTAINS ({SREGAD)+4)
(&) 000003 SCMI1=8S(M1+]

(o) 000006 $CM2=8(M2+2

(3) 001470 SSCMREG \$CM1,\8CM2

(4) 001470 000000 SREG3: .WORD O :;CONTAINS ((SREGAD)+6)
(4) 000004 $CM1=$CM1+]

(4) 000010 $CM2=3(M2+2

(3) 001472 $SSCMREG \$CM1,\8(M?

(4) 001472 000000 SREG4: .WORD O ;s CONTAINS ((SREGAD)+10)
(&) 000005 SCM1=3CM1+]

(&) 000012 SCM2=8(M2+2

(3) 001474 $SCMREG \$CM1,\8(M?

(4) 001474 000000 $REGS: .WORD O ; ;CONTAINS ((SREGAD)+12)
(&) 000006 SCM1=3CM1+]

(&) 000014 SCM2=3(M2+2

(2) 000 ENDC

(2) 001 .JF NB 6

(2) 000000 $CM4=0

(2) 000006 LREPT 6

(2) SSCMTMP \$(Mé

(3; .ENDR

(3) 001476 SSCMTMP \SCMé

(¢) 001476 000000 $TMPO: .WORD O : sUSER DEF INED

(&) 000001 SCML=SCMéL+1

(3) 001500 SSCMTMP \$(Mé&

(4) 001500 000000 $TMP1: .WORD O : sUSER DEF INED

(4) 000002 SCML=3CML+T

(3) 001502 SSCMTMP \$CMé

(4) 001502 000009 $TMP2: .WORD O ;sUSER DEF INED

(&) 000003 SCM4=$ (ML

(3)

N

001504 SSCMTMP \$CMé
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(4) 001504 900000 $TYP3: _WORD O ;sUSER DEFINED
(L) 000004 $CML=S(ML+
(3) 001506 $SSCMTMP \$(M4
(4) 001506 000000 $TMP4: ,WORD O :sUSER DEF INED
(&) 000005 $CML=3( ML+
(3) 001510 $SSCMTMP \$(M&
(&) 001510 000000 $TMPS: .WORD O :;USER DEF INED
(L) 000006 SCML=3( M4+
(2) 000 JENDC
(2) 001 .JF NE $SWRE4L000
(2) 001512 000000 $TIMES: O ::MAX, NUMBER OF ]JTERATIONS
(2) 000 JENDC
(2) 01 .IF NE 10008$SWR
(2) 001514 000000 $ESCAPE:Q :sESCAPE ON ERROR ADDRESS
(2) 000 LENDC
(2) 001 .JF NE 200083SWR
t%; 001516 177885 000377 Sgsb%: JASCIZ  <207><377><377> ::CODE FOR BELL
(2) 001522 077 $QUES: .ASCII /?/ :sQUESTION MARK
(2) 001523 015 $CRLF: L.ASCI] <5 ;s CARRIAGE RETURN
(2) 001524 000012 $LF: LASCIZ A2 JLINE FEED
(2) JJI1F NE 18., .EVEN
(2) 001526 STARS
(3) 001 JUF B
(3) ::ttttitttttttttttttt"t"'tt'titttitttttittlttttttt"t".t't!ttl
(3) JIFFf
(%) LNLIST
3 .REPT
(3) LLIST
(3) :.'t'ttttttttttttttt'tt'titttitttttttttttt.ﬁt!"'!!'t!.Q'tttt.tttl
%) NLIST
(3) .ENDR
(3) LLIST
(3 000 LENDC
2) 001 .IF NB ENDTAB
(2) 001526 .SAPTBLS <ENDTAB>
z%; LSBTTL APT MAILBOX-ETABLE
(3) 001526 STARS
(4) 002 F B
(4) AN RN NN R R RN PR R R R R R R RN NN RN AR NN T R TR TR TR R R AR RN RN OIATOE
(&) JIFF
(4) NLIST
(&) REPT
(4) LIST
(‘) :;tt.it'tt'tttt""ttltitt'tittt'ilitttltttt'ttit'ttttt'ttt'.tttt
(L) LNL]IST
(6) .ENDR
(4) LLIST
(&) 001 .ENDC
(3 LNLIST ME
(3) .
(3) N
(3)
(3 JI1F NDF ,AMSGTY AMSGTIY=0
(3) +J1F NDF,ATESIN,ATESTIN=0
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NDF ,APASS,APASS=0
NOF ADEVCT,ADEVCT=0
NOF CAFATAL (AFATAL=0

L L ] L

[ T )
el Sl i
.

NDF ,AUNIT,AUNIT=0
NDF _AMSGAD , AMSGAD
NDF _AMSGLG . AMSGLG
NDF _AENV , AENV=0

NDF JAENVM, AENVM=
NDF _ASWRE G, ASWRE
NDF JAUSWR, AUSWR=
NDF _ACPUOP,ACPUO
NDF JAMAMS 1 . AMAMS
NDF JAMTYP1.AMTYP
NDF .AMADR1 . AMADR
NDF | AMAMS2 . AMAMS
NOF JAMTYPZ CAMTYP
NDF _AMADR2 . AMADR
NDF _AMAMS 3. AMAMS
NDF CAMTYP3 AMTYP
NDF . AMADRS | AMADR
NDF | AMAMS& - AMAMS
NDF JAMTYP4 . AMTYP
NDF  AMADR& . AMAD
NDF JAVECT1.AVEC
NDF _AVECT2.AVE(
NDF .APRIOR . APRI
NDF ABASE , ABASE
NDF .ADEVM.ADEVM
NDF _ACDW1 .ACDW]
NDF _ACDW2 . ACDW?2
NDF . ADDWO . ADDWO
NDF ,ADDW1 . ADDW1
NDF .ADDW?2 . ADDW?2
NDF ,ADDW3 . ADDW3
NDF  ADDW& . ADDWS
NDF . ADDWS . ADDWS
NDF _ADDWé . ADDW
NDF . ADDW7 . ADDW?
NDF _ADDWS . ADDWS
NDF _ADDWS . ADDWS
NDF _ADDW10, ADDW
NDF _ADDW11.ADDW
NDF _ADDW12 . ADDW
NDF _ADDW13.ADDW
NDF _ADDW14 . ADDW
uaE.Aoou1s.Aoou

=0
=0

WA LN U AN AN A UM LN N N U U LA U AN AN N N N LN N N U AN AN AN N N N
20N = £~ £ SN NWNWWNNININ) = = = Y OOV O
I NN NNy i
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L: ;;APT MAILBOX
000000 $MSGTY: .WORD AMSGTY ;;MESSAGE TYPE CODE
: JWORD  AFATAL ;;°ATAL ERROR NUMBER
000000 $TESTN: .WORD ATESTN ;:TEST NUMBER
000000 $PASS: .WORD APASS s PASS COUNT
000000 $DEV(T: .WORD ADEVCT ;,DEVICE COQUNT
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(3) 001540 000000 SUNIT: .WORD  AUNIT  ;:1/0 UNIT NUMBER
(3) 001542 000000 SMSGAD: .WORD  AMSGAD ::MESSAGE ADDRESS
(3) 001544 000000 $MSGLG: .WORD  AMSGLG ::MESSAGE LENGTH
(3) 001546 $ETABLE : ::APT ENVIRONMENT TABLE
(3) 001546 000 SENV:  .BYTE  AENV 2 SENVIRONMENT BYTE
(3 001547 000 SENVM .BYTE AENVM
(3) :ENVIRONMENT MODE BITS
(3) 001550 000000 $4UREG: . WORD ASWREG ::APT SWITCH REGISTER
(3) 001552 000000 SUSWR: .WORD AUSWR  ::USER SWITCHES
(3) 001554 000000 $CPUOP: .WORD  ACPUOP ::CPU TYPE,OPT]ONS
(3) 2 BITS 15-112CU TYPE
(3) i 11/04:01.11/05 oz 11/20=03,11/640=04,11/45=05
(3) e 11/70=06.PD0=07,010
(3) ie BIT 10=REAL TIME CLOK
(3) ;e BIT 9=FLOATING POINT PROCF;SOR
(3) ;e BIT B=MEMORY MANAGEMEN
(3 00?2 .1F IDN <ENDTAB>,<$(PUOP>
(3) SETEND:
(%) .MEX]T
(3) 001 .ENDC
(3) 001556 000 $MAMS1: .BYTE  AMAMS1 ::HIGH ADDRESS.M.S. BYTE
(3) 001557 000 $SMTYP1: .BYTE  AMIYP1 ::MEM. TYPE,BLKNI
(3) se MEM.TYPE BYTE == (HIGH BYTE)
(3) L 900 NSEC CORE=001
(3) i 300 NSEC BIPOLAR=002
(3) v 500 NSEC M0S=007
(3) 001550 000000 §MADR1: .WORD ~ AMADR1 ;;HIGH ADDRESS,BLKA o
(%) P MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF ‘'TYPE'® ABOVE
(%) 002 IF IDN <ENDTAB>,<S$MADR1Y>
(3) SETEND:
(3) JMEX]T
(3) 003 JENDC
(3) 001562 000 SMAMS2: .BYTE  AMAMS? ;;HIGH ADDRESS.M.S. BYTE
(3) 001563 000 $MTYP2: .BYTE AMTYP? ;:MEM. TYPE, BLK!Z
(3) 001564 000000 $SMADRZ2: .WORD  AMADR? ;:MEM.LAST ADDRESS,BLK#?
(%) 002 .JF IDN <ENDTAB> <$MADRZ>
(3) $ETEND:
(3) CMEXIT
(3) 001 JENDC
(3) 001566 000 $MAMS3: .BYTE  AMAMS3 ::HIGH ADDRESS.M.S.BYTE
(3) 001567 000 SMIYP3: .BYTE  AMTYP3 ::MEM.TYPE.BLKN3
(3) 001570 ©€00000 $SMADR3: .WORD  AMADR3 :;MEM.LAST ADDRESS,BLKN3
(3) 002 .1f IDN <ENDTAB> <SMADR3>
(3) $ETEND:
(3) CMEXIT
(3) 001 JENDC
(3) 001572 000 $MAMSL: .BYTE  AMAMSSL  ::HIGH ADDRESS,.M.S.BYTE
(%) 001573 000 $SMTYP4L: .BYTE AMTYPSL  :MEM.TYPE, BLKﬁa
(3 001574 000000 $MADR4G: .WORD AMADRSG  ;;MEM.LAST ADDRESS.BLK#SG
(%) 002 .1F IDN <ENDTAB> <$MADRSG>
(3) $SETEND:
(3) LMEXIT
(3) 001 JENDC
(3) 001576 000000 SVECT1: .WORD AVECTY . :INTERRUPT VECTORN1,BUS PRIORITYM
(g) 002 .IF IDN <ENED'LA8>,<SVE(I1>
(3) .EV
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(3) SETEND
(3) LMEXIT
(%) 001 LENDC
(3) 001600 000000 SVECTZ: .WORD AVECT2 ::INTERRUPT VECTOR#2BUS PRIORITY#?
(3) 002 .IF IDN <ENDTAB>,<SVE(CT?Z>
(3) LEVEN
(3) SETEND:
(3) LMEXIT
(%) 001 LENDC
(3) 001692 000000 $BASE: .WORD  ABASE
(3) ::BASE ADDRESS OF EQUIPMENT UNDER TEST
(3) 002 .If IDN <ENDTAB>,<$BASE>
(3) SETEND:
(%) LMEXIT
(3) 001 LENDC
(3) 001604 000000 $DEVM: .WORD ADEVM  ;;DEVICE MAP
(3 002 .-F IDN <ENDTAB>,<SDEVM>
3 $ETEND:
(3) LMEXI]IT
(%) 001 LENDC
(3) 001606 000000 $C(DW1: .WORD ACDWY :;CONTROLLER DESCRIPTION WORDMI
(3) 002 .IF IDN <ENDTAB>,<$(DW1>
3) $SETEND:
(3) LMEXI]T
3 001 LENDC(
(3) 001610 000000 $CDW2: .WORD ACDW?2 ::CONTROLLER DESCRIPTION WORD#?
(3) 002 .JF IDN <ENDTAB>,<$(DuWZ>
(3) ETEND:
(%) LMEXIT
(%) 001 JEND(
(3) 001612 000000 $0DW0: .WORD ADDWO ::DEVICE DESCRIPTOR WORD#0
(3) 002 .JF IDN <ENDTAB>,<$0DW0O>
(3) ETEND:
(3 MEXIT
(3) 001 LENDC
(3) 001614 000000 $DDW1: .WORD ADDW1 ::DEVICE DESCRIPTOR WORD#1
(%) 002 .JF IDN <ENDTAB>,<$0DW1>
&) ETEND:
(3) MEXIT
(%) 001 LENDC
(3) 001616 000000 DOW2: .WORD ADDW? ::DEVICE DESCRIPTOR WORD#?
(3) 002 .JF IDN <ENDTAB>,<$DDW?Z>
(3) SETEND:
(3) JMEXIT
(3) 00 LENDC
(3) 001620 000000 $ODW3: .WORD  ADDWY _ ;;DEVICE DESCRIPTOR WORD#3
(3) 002 .1F IDN <ENDTAB>,<$DDW3>
(3) SETEND:
(3) MEXIT
(3) 001 .ENDC
(3) 001622 000000 $ODW&: .WORD ADDW4 :;DEVICE DESCRIPTOR WORD#4&
(%) 002 .JF IDN <ENDTAB>,<SDDW4L>
(3) SETEND:
(%) Mex1T
(%) 001 LENDC
(3) 00162¢ 010000 $DDWS: .WORD ADDWS ::DEVICE DESCRIPTOR WORD#S
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002 .1F IDN <ENDTAB>,<$DDWS>
SETEND:

001626 000

(olele

01
00 .WORD ADDW6 ::0EVICE DESCRIPTOR WORD#6
02 N <ENDTAB>,<$DDwé6>

.WORD  ADDW7 _ ;;DEVICE DESCRIPTOR WORDA7

0
001630 0000
0 N <ENDTAB>,<SDDW7>

001 .
001632 000000 $ .WORD  ADDWB  ::DEVICE DESCRIPTOR WORD#8
002 N <ENDTAB>,<$DDuW8>

001
001634 000000 $ODW9: .WORD ADDWY ::DEVICE DESCRIPTOR WORDA9
002 LIF 1DN <ENDTAB>,<$DDW9>

001
001636 000000 $ODW10: .WORD ADDWI0 ;;DEVICE DESCRIPTOR WORD#10
002 .1fF IDN <ENDTAB>,<$DDW10>

ENDC

WPhe o

: .WORD ADDW!1 ;;DEVICE DESCRIPTOR WORD#11

001
001640 000000
002 N <ENDTAB>,<$DDW11>

e s @
EMeaOMEPMe=O

2M-agTMOZMaag O ZM g NO

.WORD  ADDW12 _;;DEVICE DESCRIPTOR WORD#12
<ENDTAB>,<$DDW12>

O —-MOO —

001
001642 000000
002

o
COxXM L£OXXM £

D vt i ) bt ot s () bt et o

s o

.WORD  ADDW13 ;.DEVICE DESCRIPTOR WORD#13

001
001644 000000
0 <ENDTAB>,<$DDW13>

oene ¢ e

MEMOMEMeaOMEMe=OM

001646 000000 : .WORD  ADDW14 ;;DEVICE DESCRIPTOR WORD#14

<ENDTAB>,<$DDW14>

YPhe o N

001
001650 000000 .WORD  ADDW15 ;;DEVICE DESCRIPTOR WORD#15

<ENDTAB>,<$DDW15>

OOV =5OVESH =00V W —O
ar & e e F

MO FEM g NO
OxMm LOXM F£ONMM
a4 lal P L R TaY )
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8)) 001652 SETEND:
(2) 000 LENDC
(2) 001 LJF NB <$SYMROLS>
(2) LJRP A, <$SYMBOL >
(2) A
(3 .ENDM
:2; 001652 $SYMBOLS
(&)
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10:02 PAGE 62-20
APT MAILBOX=-ETABLE

s INSTRUCTION DEFINITIONS

PUSH1SP=5746 ;DECREMENT PROCESSOR STACK 1 WORD
POP1SP=5726 ; INCREMENT PROCESSOR STACK 1 WORD =
PUSHRO=10046 :SAVE RO ON STACK =MOV RO,=(SP)

POPR0=12600 :RESTORE RO FROM STACK =MOV (SP)+,R0
PUSH2SP=24646 .oecasnswt STACK TWICE =CMP =(SP),=(SP)
POP2SP=22626 “INCREMENT STACK TWICE =CMP (SP)+.(SP)+
;REGISTER DEFINITIONS

-RXCSR BIT erxnxrxons
psC=c1718 :DATA SET CHANGE
RING=BIT14 *RING
CTS=BIT13 :CLR TO SEND
CARDET=BIT12 :CARRIER DETECT
RECACT=BIT1) TREC ACTIVE
SRD=BIT10 :SEC REC DATA
DSR=BIT9 :DATA SET RDY
STPSYN=BITS SSTRIP SYNC
RXCONE=BIT7 :REC DONE
RINTEN=BIT6 “REC INTR ENABLE
DSINTE=BITS :DSC INTR ENABLE
SYNSCH=B] T4 SSYNC SEARCH
STD=BIT3 SSEC XMIT DATA
RTS=B]T2 .nso TO SEND
DTR=BIT1 DATA TERM RDY
VOID=BITO

SRXDBUF BIT DEFINITIONS
RXERR=BIT15 :REC ERROR
OVRRUN=B]T14 :OVERRUN
FRMERR=BIT13 :FRAME ERROR
PARER=B]T12 *PARITY ERROR

:PARCSR BIT DEFINITIONS
PAREN=B] T9 :PARITY ENABLE
EVPAR=B] T8 SEVEN PARITY SENSE

-PARCSR WRD DEF INITIONS
SYNINT=30000 :SYNC EXTERNAL MODE
SYNEXT=20000 SSYNC INTERNAL MODE
1SYMOD=0 :1S0C MODE
FIVE=0 ‘WORD LENGTH S BITS
SiXx=2000 *WORD LENGTH 6 BITS
SEVEN=4000 ‘WORD LENGTH 7 BITS
EIGHT=6000 ;WORD LENGTH 8 BITS
NOPAR=0 *NO PARITY
ODDPAR=1000 100D PARITY
EVEPAR=1400 “EVEN PARITY

-TXCSR 81T DEFINITIONS
DNA=B]1T15 :DATA NOT AVAILABLE
MTUATA=B] 114 *MAINT DATA
CLK=8IT13 SCLK
BITW=BIT10 :BIT WINDOW
MRESET=BIT8 *MASTER RESET
TXDONE=B]T7 SXMIT DONE
TXINTE=BIT6 SXMIT INTR ENABLE

1ST
TST «

SEQ 0034
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(4) 000040 DNAINTE=B]TS :DNA INTR ENAB

(&) 000020 SEND=BI T4 <SEND

(4) 000010 HDXEN=BIT3 SHDX/FDX

(4) 000001 BREAK=BIT0 BREAK

(&) :TXCSR WRD oerluitxous

(4) 000000 USER=0 :USER MODE

(4) 004000 MINT=4000 TMAINT INT MODE

(&) 010000 MEXT=10000 SMAINT EXT MODE

(&) 014000 SYSTST=14000 SSYSTEM TEST MODE

(2) 000 JENDC
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23 CNDUUA . M11 29-0(T-82 13:27 ERROR POINTER TABLE SEQ 0036
f%} .SBTTL ERROR POINTER TABLE
(2) <«THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
(2) “«THE INFORMATION [S OBTAINED BY USING THE INDEX NUMBER FOUND IN
(2) teLOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
(2) TeNOTE1: I SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
:%; S eNQTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
(2) se EM ;:POINTS TO THE ERROR MESSAGE
(2) Tw DH S:POINTS TO THE DATA HEADER
(2) e DT ::POINTS TO THE DATA
55; te DF P:POINTS TO THE DATA FORMAT
(2)
(2) 001652 $SERRTB:
(1) :ERROR TABLE
(1) 001652 001762 EMI ;ERROR 1 REGISTER ERROR
(1) 001654 002067 DH1
(1) 001656 002116 0TI
(1) 001660 002132 0F1
(1) 001662 002022 EM2 :ERROR 2 RECEIVER ERROR
(1) 001664 002067 DH1
(1) 001666 002116 011
(1) 001670 002132 DF 1
(1) 001672 002043 EM3 :ERROR 3 TRANSMITTER ERROR
(1) 001674 002067 DHI
(1) 001676 002116 0TI
(1) 001700 002132 DF1
(1) 001702 001746 EM4 :ERROR 4 BIT ERROR (GENERAL)
(1) 001704 000000 0
(1) 001706 002126 D14
:}; 001710 002132 DF1
(1) -DEFAULT DU ADDRESSES
(1) 001712 174300 RXCSR: 174300
(1) 001714 174301 HRXCSR: 174301
(1) 001716 174302 RXDBUF : 1764302
A1) 1720 174303 HRXDBUF : 174303
(1) 001722 174302 PARCSR: 174302
(1) 001724 174303 HPARCSR 174303
(1) 001726 174304 TXCSR: 174304
(1) 001730 174305 HIXCSR: 174305
(1) 021732 174306 TXDBUF : 174306
(1) 601736 174307 HTXDBUF : 174307
(1) :DEFAULT DU VECTORS
(1) 001736 000330 DURIV: 33(0) “REC INTR VECTOR
(1) 001740 000332 DURIS: 332 ‘REC INTR STATUS
(1) 001742 000334 DUTIV: 33, SXMIT INTR VECTOR
(1) 001744 000336 DUTIS: 336 SXMIT INTR STATUS
(1) :ERROR MESSAGES
(1) 001746 020040 051105 047522 EMé: "ASCIZ / ERROR PC /
(1) 001754 020122 041520 000040
(1) 001762 020040 047503 050115 EM1: JASCIZ / COMPARISON ERROR ON REGISTERS/
(1) 001770 051101 051511 047117
(1) 001776 042440 051122 051117
(1) 002004 047640 020116 042522
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(1) 002012 044507 052123 051105
(1) 002020 000123
(1) 002022 020040 042522 042503 EM2:  .ASCIZ / RECEIVER ERROR/
(1) 002030 053111 05°105 045440
(1) 002036 051122 051117 000
(1) 002043 040 072040 040522 EM3:  .ASCIZ / TRANSMITTER ERROR/
(1) 002050 051516 044515 052154
(1) 002056 051105 042440 055152
(1) 002064 051117 000
(1) ;DATA HEADERS FOR ERROR MESSAGES
(1) 002067 105 051122 041520 OW1:  -ASCIZ /ERRPC WANTED ACTUAL/
(1) 0020764 020060 040527 052176
(1) 002102 062105 020040 043501
(1) 002110 052522 046101 000
(1) 002116 .EVEN
(1) :DATA TABLES FOR ERROR MESSAGES
(1) 002116 001416 001130 003132 OT1:  .WORD  SERRPC,HLDO, HLD1.0
(1) 002124 000000
(1) 002126 001416 000000 DT4:  .WORD  SERRPC.O
(1) 002132 000 000 000 OF1:  .BYTE 0.0,0.0
(1) 002135 000
(1) JEVEN
(1) 002136 "SACT11
(2 "SBTTL ACT11 HOOKS
(2) 002136 STARS
(3) 001 JIF 8
(3) ..'.'.i'..t..."'."'.""""".'.'."'.."'."'""QI’..'.""'.
(3) 1FF
(3 NLIST
(3) ‘REPT
(3) “LIST
(3) ..'..."‘.’......i'f..'.""""'..'.'......".'..'ﬁ"..."'..t".'
(3) "NLIST
(3) ENDR
(3) LIST
(3) 000 "ENDC
(2) HOOKS REQUIRED BY ACT11
2) 002136 $SVPC=. :SAVE PC
3) 001 JIF B
(3 000046 =46
{5) C0004e 027ie g ENDAD ::1)SET LOC.46 10 ADDRESS OF SENDAD IN .SEOP
( -
5 =46
() ::1)SET LOC.46 TO ADDRESS OF
2) 000 JENDC
25; ooogg} -1F 8 =52
(2000052 000000 b WORD O ::2)SET LOC.52 TO ZERO
) .
) .=52
(2) .WORD 2s2)SET LOC.52 10
(2) 000 LENDC
*2) 002136 .=$SVP( :: RESTORE PC
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002136 .SAPTHDR
.SBTTL APT PARAHEfER BLOCK

002136 STARS
001 IF B

WAL AR AR RARRRARRARRRARRRRRdRRR2RRRRRd20 202 ]2 d2Rdd)Rdd])

”~
s
A

000 JENDC
;SET LOCQTIO?S 24 AND 44 AS REQUIRED FOR APT

JAF 8

::lttttititttittiti"titt'ittttt'ttitittt'.iitit'l"l'.".".'..'

NLIST
.REPT
LIST
N L L L LR R R Ry T R T P R P R PP I Y
NLIST
.ENDR
LIST
000 -ENDC
002136 8X=.,  ;:SAVF CURRENT LOCATION
000024 =24 +sSET POWER FAIL TO POINT TO START OF PROGRAM
000024 000200 200 ;:FOR APT START UP
000044 =44 :;POINT TO APT INDIRECT ADDRESS PNTR.
000044 002136 $APTHDR ;;POINT TO APT HEADER BLOCK
002136 .=.9X  ;,RESET LOCATICN COUNTER
002136 STARS
001 IF B
R L R T R T R T PR P TR PR T Y
IFF
«NLIST
LISt
Lttttttttttttttttttlt't"'ti"t!!t!!tl'ttttl!!tttttitltltttttttt
CNLIST
.ENDR
LIST
000 .ENDC
;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
: INTERFACE SPEC.

002136 $APTHD:

002136 000000 $HIBTS: WORD O ::TW0 HIGH BITS O
002140 001526 $MBADR: .WORD SMAIL ;s ;ADDRESS OF APT

000010 $TSTM: .WORD 10 s;RUN TIM OF LONG
000010 $SPASTM: _WORD 10 ..RUN TIME IN SECS
00 SUNITM: _WORD ;ADDITIONAL RUN

52 .WORD SETGND-$HA1L/2 JJLENGTH M

002136

1FY)
TIONAL UNIT
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10:02 PAGE 62-25
APT PARAMETER BLOCK

.SETUP <,$SCOPE,.SERROR,.$TRAP,.SPOWER>

$SETUP= 0
$STLP= 0
$SET P $SETUP!I .:B1T00
$STUP= -1
$STUP= 0
$SETUP= $SETUP!?2 ;31701
$STUP= =1
$STUP= 0
$SETUP= $SETUP!4 ;:B1702
$STUP= =1
$STUP= 0
$SETUP= $SETUP!10 ;81103
$STUP= =1
$CTARY
+PROGRAM INITIALIZATION
LCCK GUT INTERRUPTS
:SET UP PROCESSOR STACK
:SET UP POWER FAIL VECTOR
.(LEAP PROGRAM (OMTROL FLAGS AND COJNTS
;TYPE TITLE MESSAGE

SEQ 0039
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CNDUUA.M11 29-0C1-82 13:27 APT PARAMETER BLOCK SEQ 0040
(%) 002152 .START:
(%) -SBTTL INITIALIZE THE COMMON TAGS
(3) 001 L1F DF $CMTAG
(3) ::CLEAR THE COMMON TAGS ($CMTAG) AREA
(3) 002152 012706 001400 MOV #SCMTAG,Rb ;:FIRST LOCATION TO BE CLEARED
(3) 002156 005026 CLR (R6) + *3CLEAR MEMORY LOCATION
(3) 002160 022706 001440 CMP #SWR,R6 ; ;DONE?
(3) 002166 001374 BNE .6 ::LOOP BACK IF NO
(3) 000 JENDC
(3) 001 “IF NB #STACK
§§§ 002166 012706 001100 e MOV #HSTACK,SP ;:SETUP THE STA(K POiNTER
(3) MOV NSTACK,SP ::SETUP THE STACK POINTER
(3) 000 JENDC
(3) -11F NDF $SETUP,S$SETUP= 0
(3) s INJTIALIZE A FEW VECTORS
(3) 001 “IF NE $SETUPR1 ;:BIT00
(3) 002172 012737 016340 000020 MOV #$SCOPE ,a#10TVEC ;10T VECTOR FOR SCOPE ROUTINE
(3) 002200 012737 000300 000022 MOV #PR6,aNIOTVEC+2 ;:LEVEL 6
(3) .11F NDF SCMTAG, CLRB  $TSTAM ;s INITIALIZE THE TEST NUMBER
(3) 000 JENDC
(3) 001 JIF NE $SETUPE2 ;:BI101
(3) 002206 012737 014230 000030 MOV #$ERROR,B#EMTVEC ::EMT VECTOR FOR ERROR ROUTINE
(3) 002214 012737 000300 006032 MOV #PRG,INEMTVEC+2 ;:LEVEL 6
(3) 000 LENDC
gg; 001 .Igl¥gzssstupza
(3) 002222 012737 016674 000034 MOV #STRAP,3#TRAPVEC ;:TRAP VECTOR FOR TRAP CALLS
(3) 002230 012737 000300 000036 MOV #PR6 ,3#TRAPVEC+2; LEVEL 6
(3 000 .ENDC
(3) 001 -IF NE S$SETUPL10 ::BIT03
(3) 002236 012737 015032 000024 MOV #SPWRON,3#PWRVEC ;:POWER FAILURE VECTOR
(3) 002244 012737 000300 000026 MOV #PR6,INPWURVEC+2 ;:LEVEL 6
(3) 000 JENDC
(3) 001 JIF NE $SETUPR20 ::BITOG
(3) "11F NDF SCMTAG, CLR $PASS ;:CLEAR THE PASS COUNT
(3 MOV SENDCT,SEOPCT  ::SETUP END=-OF-PROGRAM COUNTER
(3) 000 JENDC
(3) 001 “IF NE $SETUPR40 ::BITOS
(%) MOV #176543 SHINUM ::PRIME THE RANDOM NUMBER GENERATOR
(3 MOV #123456.SLONU¥  ::BOTH HIGH AND LOW WORDS
(3) 000 .ENDC
(3) 001 JIF NE $SETUPR1 ;;BITOO
(3) 002 -1F NE $SWRE4000
(3) "11F NDF SCMTAG, MOV #1,$1CNT ;s INITIALIZE THE ITERATION COUNTER
(3) 002252 005067 177234 (LR $TIMES ::INITIALIZE NUMBER OF ITERATIONS
(3) 001 JENDC
(3) 000 "ENDC
(3) 001 -IF NE $SETUPR2 ::BIT0%
(3) .J1F NDF SCMTAG, CLRB $ERFLG ::CLEAR THE ERROR FLAG
(3) 002 .JF NE 100083$SWR
(3) “11F NDF SCMTAG, CLR SERTTL ::CLEAR THE ERROR COUNT
(3) 002256 005067 177232 CLR $ESCAPE .. CLEAR THE ESCAPE ON ERROR ADDRESS
(3) 002262 112767 000001 177125 MOVB  #1,SERMAX *ALLOW ONE ERROR PER TEST
(3) 001 LENDC
(3) 000 JENDC
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(3) 001 I8 NE $SETUPRZ0 ::BIT04

(3) 002 .IF NE 1000088SWR

{3) .MACRO $SSETUP 7N1,7N2,7N3 , .

(3) s INITIALIZE THE “'T-81T"' TRAP VECTOR. THEN LOAD LOCATION '‘SRTRN'', IN

(3 ;: THE "END-OF-PASS'' (SEOP) ROUTINE, WITH A "RT['' OR ‘RTT",

(3) MOV #SRTRN,I#TBITVEC ;;SET ''T'' BIT VECTOR TO SRTRN

(3) MOV #PR6,aNTBITVEC+? ;.LEVEL 6

(3) MOV #RTI,SRIRN ::SET SRTRN T0 A RT]

(%) MoV #N2 ,a#RESVEC ::TRY TO DO A RTT

(%) CLR -(SP) : :DUMMY PS

(3 MOV #N1,-(SP) : sAND PC

(3) RTT ::TRY THE RTT

2%; N1: ggv l%TT.SRTRN s:RTT IS LEGAL==SET $SRTRN TO A RTT
N

(3) N2: ADD #10,5P :sRTT JLLEGAL==CLEAN OFF THE STA(K

(3) N3: MOV NRESVEC+2,3NRESVEC ;;RESTORE TRAP CAT(CHER

(%) (LR $1817 :2CLEAR “'T"" BIT SWIT(CH

(3) +ENDM $SSETUP

(%) $$SETUP

(%) 001 JENDC

(3) 000 .ENDC

(3) oo JIF NE SSETUPRI

(3) 002270 012767 002270 177110 MOV #.,SLPADR ::INITIALIZE THE LOOP ADDRESS FOR SCOPE

(3) 002276 012767 002276 177104 MOV #.,8LPERR ::SETUP THE ERROR LOOP ADDRESS

(3) 000 .ENDC

(3) 002304 SWRSU

%) ::S12E FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS

(&) :;EQUAL TO A ''=1'", SETUP FOR A SOFTWARE SWITCH REGISTER.

(4) 002304 013746 000004 MOV AN#ERRVEC,-(SP) ;;SAVE ERROR VECTOR

(&) 002310 012737 002344 000004 MOV #6648 ,9#ERRVEC  ;;SET UP ERROR VECTOR

(&) 002316 012767 177570 177114 MOV #DSWR, SWR ::SETUP FOR A HARDWARE SWICH REGISTER

(4) 002324 012767 177570 177110 MOV #ODISP,DISPLAY ;;AND A HARDWARE DISPLAY REGISTER

(4) 00233¢ 022777 177777 177100 CMP #-1,3SuWR ::TRY TO REFERENCE HARDWARE SWR

(&) 002340 001012 BNE 66% ::BRANCH IF NO TIMEOUT TRAP OCCURRED

4) ::AND THE HARDWARE SWR IS NOT = =1

{4) 002342 000403 BR 65% ; ;BRANCH IF NO TIMEOUT

(4) 002344 012716 002352 648: MOV #65%, (SP) ::SET UP FOR TRAP RETURN

(4) 002350 000002 RT}

(4) 002352 012767 000176 177060 65%: MOV #SWREG, SWR ;:POINT TO SOF TWARE SWR

(4) 002360 012767 000174 177054 MOV #DISPREG,DISPLAY

gg; 002366 012637 000004 668%: MOV (SP)+,a#ERRVEC ;;RESTORE ERROR VECTOR

(3) 001 .IF DF SMA]JL

(3 MACRO SSSETMAIL 7$ARG1

(3) CLR $PASS ::CLEAR PASS COUNT

(3) BIT8 #APTSIZE,SENVM ;;TEST USER SIZE UNDER APT

(3) BEOQ $ARG1 2:YES.,USE NON-APT SWIT(H

(3) MOV #SSWREG,SWR ::NO,USE APT SWITCH REGISTER

(3) $ARG?:

(3) LENDM  S$SSETMAIL

(3) 002372 $SSETMAIL

(4) 002372 005067 177136 (LR $PASS ::CLEAR PASS COUNT

(&) 002376 132767 000200 177143 BIT8 #APTSIZE,SENVM ;:TEST USER SIZE UNDER APT

(4) 002404 001403 BEQ 67% ) :YES,USE NON=APT SW]T(CH

(4) 8852?2 012767 001550 177024 675 MOV #SSWREG, SWi ::NO,USE APT SWITCH REGISTER

(4) :
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(3) 000 JENDC

(2) 002414 012706 001100 MOV cgrucx.sp ;SET STACK

(2) 002420 1064%7 000300 MTPS  #300 SLOCK” INTERRUPTS

(2) 002424 012737 015032 000024 MOV #.PFAIL,an24 ‘SET UP POWER FAIL VECTOR
(2) 002432 105067 176535 C(LRB  STFLG ‘CLEAR START FLAG

(2) 002436 005067 176450 CLR PASCNT ‘CLEAR PASS COUNT

(2) 002442 105067 176735 CLRB  $ERFLG ‘CLEAR ERROR FLAG

(2) 002446 005067 176740 CLR SERTTL ‘CLEAR ERROR COUNT

(2) 002452 005067 176740 CLR $ERRPC *CLEAR LAST ERROR POINTER
(2) 002456 012767 000001 176716 MOV #1,81STNM ‘SET UP FOR TEST 1

(2) 002464 012767 002152 176412 MOV # .START,RETURN SSET UP FOR POWER FAiL BEFORE
(2) STESTING STARTS

(2) 002472 0137246 000006 MOV anes,=(SP)

(2) 002476 013746 000004 MOV ank,=(SP)

(2) 002502 012737 002516 0000064 MOV S, ang

(2) 002510 005777 1767264 ST aswR

(2) 002514 000407 BR 2%

(2) 002516 012767 000176 176714 18: MOV #SWREG, SWR

(2) 002524 012767 000174 176710 MOV #DISPREG,DISPLAY

(2) 002532 022626 CMP (SP)+,(SP)+

(2) 00253& 012637 000004 28: MOV (SP)+.akd

(2) 002540 012637 000006 MOV (SP)+.ak6

(2) 002544 022767 000176 176666 CMP #SWREG, SWR

(2) 002552 001007 BNE 3%

(2) 002554 005737 000042 ST ane2 :CHECK FOR CHAIN

(2) 002560 001402 BEQ 338

(2) 002562 000167 000522 JMP .BEGIN

(2) 002566 004767 010224 33¢. JSR PC,CNTLU

(2) 002572 105767 176374 38 1S18 INIFLG JHAS INITIALIZATION BEEN PERFORMED
(2) 002576 001004 BNE ONCE

(2) 002600 104401 015172 TYPE JMTITLE sTYPE TITLE MESSAGE

(2) 002604 105167 176362 COMB  INIFLG *IF NOT SET FLAG AND DO
(1) 002610 $CLRVEC .BEGIN

(2) 002610 105767 176732 ONCE: ISTB  $ENV ;APT CONTROL?

(2) 002614 001410 BEQ 1% :BR IF NO

(2) 002616 032767 000001 176726 BIT #1,SUSWR TEXTENAL JUMPER ON?

(2) 002626 001002 BNE 12$ *NO

(2) 002626 105067 176321 CLRB  JMRBY *CLEAR FLAG

(2) 002632 000167 000452 12%: JMP .BEGIN G0 DO IT

(2) 002636 032777 000001 176574 118:  BIT #5W00,aSwR *RESELECT VECTOR & CONTROL REG?
(2) 002644 001002 BNE 1%

(2) 002646 000167 000436 JMP .BEGIN

(2) 002652 012700 000300 1%: MOV #300,R0 :RESTORE VECTOR AREA TO TRAPCATCHER

(2) 002656 012701 000302 MOV #302°R1 :START AT LOCATION 300

(2) 002662 012702 000004 MOV 04 R

(2) 002666 010110 2%: MOV R1.(RO)

(2) 002670 005011 CLR (R{)

(2) 002672 060200 ADD R2,RO

(2) 002674 060201 ADD R2.R1

(2) 002676 022701 001000 CMP #1000, R1 ;END AT LOCATION 776

(2) 002702 002771 BLT 28

(1) 002704 $GE TPAR MREGAD ,DUBASE,1,1,174000,177776

(2) 002704 104406 INSTR ~ ;OUTPUT MESSAGE € GET INPUT STRING

(2) 002706 015240 MREGAD ;MESSAGE

(2) 002710 104410 PARAM  :CONVERT STRING

(2) 002712 174000 174000 :LOW LIMIT
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(2) 002714 177776 177776  :WIGH LIMIT
(2) 002716 017170 DUBASE -STORE AT THIS LOCATION
(2) 002720 001 .BYTE 1 SMASK
(2) 002721 001 BYTE 1 THOW MANY TIMES + 2
(1) 002722 016767 014262 176226 MOV OUBASE ,KEEPADD ;SAVE
(1) 002730 006767 014102 JSR PC,DUADDR
(1) 002734 016767 176216 176212 MOV KEEPADD ,BASEADD :RESTORE FOR ROTATION
(1) 002742 $GETPAR MVECTO,DURIV,4, 1,300,376
(2) 0027642 104406 INSTR ~ ;0uTPUT MESSAGE & GET INPUT STRING
(2) 002744 015225 MVECTO :MESSAGE
(2) 002746 104410 PARAM  :CONVERT STRING
(2) 002750 000300 300 SLOW LIMIT
(2) 002752 000376 376 “HIGH LIMIT
(2) 002754 001736 DURIV ~ :STORE AT THIS LOCATION
(2) 002756 001 BYTE 1 TMASK
(2) 002757 004 .BYTE 4 :HOW MANY TIMES + 2
(1) 002760 016767 176752 176176 MOV DURIV.KEEPIV  :SAVE
(1) 002766 016767 176746 176166 MOV DURIV.BASEIV  :SET UP FOR ROTATION
(1) 002774 SGETFLG MMULT,MULTD
(2) 002774 104406 INSTR®  :0UTPUT MESSAGE & GET INPUT STRING
(2) 002776 015270 MMULT  SMESSAGE
(2) 003000 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003002 001152 MULTD  :THIS FLAG
(1) 003006 105767 176142 TSTB MULTD  ;ARE THERE MULTIPLE DEVICES
(1) SON THE SYSTEM ?
(1) 003010 100406 BMI BBB SYES,ASK NEXT QUESTION
(1) 003012 005067 176150 CLR ACTREG
(1) 003016 005067 176146 CLR ROTADD
(1) 003022 000167 000140 JMP OUTMUL ;JUMP AROUND NEXT QUESTION
(1) 00302¢ BBB:
(2) 003026 104406 INSTR  :0UTPUT MESSAGE & GET INPUT STRING
(2) 003030 015317 MLASTD :MESSAGE
(2) 003032 104410 PARAM  :CONVERT STRING
(2) 003034 174000 174000 ;LOW LIMIT
(2) 003036 177776 177776 HIGH LIMIT
(2) 003040 001160 LASTADD :STORE AT THIS LOCATION
(2) 003042 001 BYTE 1 TMASK
(2) 003043 001 BYTE 1 THOW MANY TIMES ¢ 2 _
1) STHE FOLLOWING ROUTINE SETS UP ACTREG FOR THE FIRST TIME
(1) 003044 012767 000001 176116 1is: MOV #1.ROTADD SSET UP POINTER
(1) 003052 005067 176110 CLR ACTREG :CLR ACTIVE REGISTER
(1) 003056 056767 176106 176102 o$: BIS ROTADD,ACTREG  :MAKE THIS DEVICE ACTIVE
(1) 003066 000261 cLC
(1) 003066 006167 176076 ROL ROTADD :SET UP POINTER
(1) 003072 103421 BCS 3 *ARE YOU OUT OF RANGE ?
(1) 003074 062767 000010 176052 ADD #10,BASEADD ;SET UP BASE ADDRESS
(1) 003102 026767 176052 176044 CMP LASTADD ,BASEADD :1S THIS THE LAST DEVICE ?
(1) 003110 101362 BH] 2% :NO D0 IT AGAIN
(1) 003112 056767 176052 176046 BIS ROTADD,ACTREG  :THIS ASSUMES THAT THERE ARE AT
(1) SLEAST TWO DEVICES WHEN YOU ANSWER YES T0
n *MULTIPLE DEVICE QUESTION
(1) 002120 012767 000001 176042 4$: MOV #1,ROTADD ;SET UP FOR LATER USE IN END OF PASS ROUTINE
(1) 003126 016767 176024 176020 MOV KEEPADD ,BASEADD :DITTO
(1) 003134 000414 BR OUTMUL :CONTINUE QUESTIONS
(1) 003136 016767 176016 176010 3%: MOV KEEPADD ,BASEADD ;RESTORE
(1) 003144 $GE TPAR MRANGE ,LASTADD,1.1,174000,177776
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(2) 003144 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003146 015413 MRANGE -MESSAGE
(2) 003150 104410 PARAM  :CONVERT STRING
(2) 003152 174000 174000 :LOW LImIT
(2) 003154 177776 1727776  SWIGH LIMIT
(2) 003156 001160 LASTADD :STORE AT THIS LOCATION
(2) 003160 001 BYTE S MASK
(2) 003161 001 BYTE 1 'HOW MANY TIMES + 2
(1) 003162 000187 177656 JMP is ;D0 IT AGAIN
(1) 003166 012767 000300 013636 OUTMUL: MOV #300,0UPRT
(1) 003176 004767 013562 JSR PC.DULEV
(1) 003200 $SGETSYN MSYNC, SYNCNO AAA:
(2) : COMPARE THE FIRST CHARACTER IN THE TELETYPE [NPUT
(2) :BUFFER TO THE CHARACTERS "'1'* AND 2.
(2) ;IF THE CHARACTER IS "'1'' CLEAR THE FLAG
(2) sIF THE CHARACTER IS ''2'' SET THME FLAG
(2) 003200 AAA :
(2) 003200 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003202 015631 MSYNC  -MESSAGE L
(2) 003204 122767 000061 012760 3. CMPB  #'1. INBUF JIS 1T 1o
(2) 003212 001003 BNE 18
(2) 003214 105067 175726 CLRB  SYNCNO :000
(2) 003220 000472 _ BR L L
(2) 003222 122767 000062 012742 1%: CMPB  #'2, INBUF SIS QT 2t 0
(2) 003230 001004 BNE 2%
(2) 003232 112767 177777 175706 MOVB  #-1,SYNCNO :377
(2) 003240 000402 BR 43
(2) 0032642 104407 28 INSTER :RETRY
(2) 003244 000757 BR {3
(2) 003246 000240 48: NOP
(1) 003250 $GETFLG MWIREG,SEXMIT
(2) 003250 104406 INSTR ~ ;QUTPUT MESSAGE & GET INPUT STRING
(2) 003252 015677 MWIRE6 :MESSAGE
(2) 003254 104414 SETFLG :;SET FLAG BASED UPON INPUT STRING
(2) 003256 001147 SEXMIT :THIS FLAG
(1) 003260 SGETFLG MWIRES,SEREC
(2) 003260 104406 INSTR™ " ";0UTPUT MESSAGE & GET INPUT STRING
(2) 003262 015750 MWIRES :MESSAGE
(2) 003264 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003266 001150 SEREC  :THIS FLAG
(1) 003270 SGETFLG MWIRE4,OPTCLR
(2) 003270 104406 INSTR sOUTPUT MESSAGE & GET INPUT STRING
(2) 003272 016020 MWIRE4 :MESSAGE
(2) 003274 104414 SETFLG :SET fLAG BASED UPON INPUT STRING
(2) 003276 001151 OPTCLR :THIS FL
(1) 003300 SGETFLG MEXTJ, JMRBY
(2) 003300 104406 INSTR™ ;OUTPUT MESSAGE & GET INPUT STRING
(2) 003302 016077 MEXTJ  :MESSAGE
(2) 003304 1064614 SETFLG :SET FLAG BASED UPON INPUT STRING
(2) 003306 001153 JMRBY  :THIS FLAG
:5; 003310 $BEG]N
(%) JTEST START AND RESTART
(2)
(2) 003310 012706 001100 .BEGIN: MOV #STACK,SP :SET UP STACK
(2) 003314 106427 000300 MTPS  #300 SLOCK OUT INTERRUPIS
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13:27 INITIALIZE THE COMMON TAGS
000002 176112 géa §§u01 ,aSWR SIF SW01:=1,
$GETPAR MTSTPC,$1STNM,1,1,TST1,17500
INSTR ' ;OUTPUT HESSAGE GET INPUT STRING
MTSTPC :MESSAGE
PARAM  :CONVERT STRING
ST (LOW LIMIT
17500  :HIGH LIMIT
$TSTNM  :STORE AT THIS LOCATION
BYTE 1 T MASK
8YTE 1 “HOW MANY TIMES ¢ 2
176030 175530 SSV slsrun RE TURN
003374 175520 3%: MOV #TST1,RETURN :START AT TEST 1
0315557 'A ¥ TYPE MR ;TYPE R
175510 JMP aRE TURN “START TESTING
$TRPAR SEVEN,10.,EVEPAR,ISYMOD,125,1252
S THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
2:OF THE TRANSMITTER SECTION.
2:1T ALSO CHECKS DNA TIMING
: :MODE : 1SYMOD
S:LENGTH:SEVEN PLUS PAR]TY
JsPARITY:EVEPAR
2 :CHARACTER:125
$TSTNO
NEWTST
$NWTST=0
JAF B O

SENEWTEST
. IRP ASC] ,<>
<JF EQ SNWTST

\$TN,<>,SC0OPE

LSBTTL M ASC!

T1 ASC]

GET STARTING P(

SEQ 0045
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10:02 PAGE 62-3
INITIALIZE T E COMMON TAGS
S}?;STN*]
SINEWTEST \$TN, <>, <O
LENDC
IF NE 4000LSSWR
IF NB
F LE <=1>
1FF MOV #1,871MES ::00 1 ITERATION
MOV ¥,8TIMES :;00 ITERATIONS
LENDC
LENDC
.IF NB
MOV #,5LPADR :sSET SCOPE LOOP ADDRESS
LENDC
JENDC
.IF DF SMAIL
.IRP TNM,<\$TN=1>
ENDM MOV #'INM,STESTN ;:SET TEST NUMBER IN APT MAIL BOX
.EN
LEND(
.REPT
NLIST
LRADIX 10
.IRP $DN, <\$N>
NEWTST
MOV #SON,STSTNM :SAVE THIS
ENDM
NLIST
LRADIX 8
L1ST
:.11F NB <, MoV # ,RETURN ;SET UP THIS RETURN
..{éf gB <, MoV #, COUNT :SET UP THIS ICOUNT
e NB
'1rr MOV # NEXT ;GO TO TH'S TLST WHEN THRU
.NL]ST
LRADIX 10
LLIST
. IRP SDE‘<\SE>
UF DF  TST'$DE
MOV #TST'S$DE . NEXT :GO TO THIS TEST WHEN THRU
.ENDM
NLIST
RADIX B8
T
: MOV #.EOP NEXT :G0 TO THIS TEST WHEN THRU
LENDC
LEND(
:.J1F NB <>, MOV #,L0CK ;SET UP FOR SCOPE LOOP
LNLIST

SEQ 0046
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CNDUUA .M 29-0(T~ 2 13:27 INITIALIZE THE COMMON TAGS SEQ 0047
(2) LRADIX 10
(2) $N=SN+1
(2) $SE=SE+1
(2) .RADIX 8
(2) LIST
(2) "ENDR
(1) 003376 TSETUP MINT,ISYMOD,SEVEN,EVEPAR,26
(2) 003376 SRESET
(3) 003376 052777 000400 176322 BIS #MRESET,aTXCSR  ;MASTER RESET
(2) 003406 012777 000000 176310 MOV #1SYMOD .aPARCSR :SET THE MODE
(2) 003412 SRESET
53; 003412 052777 000400 176306 BIS #MRESET,.aTXCSR :MASTER RESET
() sSET MAINTENANCE MODE & SEND
(2) NO'E:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
f%? 003420 012777 004020 176300 MOV #MINT{SEND,@TXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE,.& LOAD SYNC REG
(2) 003626 012777 005426 176266 MOV #1SYMOD 'SEVEN'EVEPAR' 26,aPARCSR
(1) 003634 016703 176266 MOV TXCSR,R3 SSET UP FOR ERROR MSG
(1) 003440 112777 000125 1762664 MOVB  #125,aTXDBUF *LOAD DATA CHAR
(1) 003446 012767 001252 176026 MOV #1252, STHP1 :TO BE SHIFTED CHAR
(1) 003454 012767 000012 175440 MOV #10.,SHIFT ‘4 OF SHIFTS
(1) .POKE CLK TO GET INTO SYNCRONIZATION
(1) 003462 $POKE
(2) 003462 052777 020000 176236 BIS #CLK,aTXCSR ;POKE CLK UP
(2) 003470 042777 020000 176230 BIC #CLK.DTXCSR *POKE CLK DOWN
(1) 003476 005000 1$: CLR RO
(1) 003500 006067 175774 ROR $TMP1  ;FORCE CARRY
(1) 003504 103002 BCC 28 ‘BR IF CARRY (LR
:}; 88%3?3 052700 002090 2 BIS ¥B81TW,RO ;EQUIV OF BITW
(2) 003512 052777 020000 176206 BIS #CLK,aTXCSR ;POKE CLK UP
(2) 003520 042777 ozoooo 176200 BIC #CLK.ATXCSR *POKE CLK DOWN
(1) 003526 017701 17617 MOV ATXCSR,RI *ACTUAL
(1) 003532 042701 07577 BIC 2075777 81 :SAVE BITW £ DNA
(1) 003536 020001 CMP RO,R1 ' ;COMPARE EXP VS A(CT
(1) 003540 001401 BEQ . +h
(1) 003542 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
N ‘BIT,...ALSO CHECK DNA
(1) 003544 005367 175352 DEC SHIFT  :# OF SHIFTS
(1) 003550 001352 BNE 1s 00 1T AGAIN ?
(1) :NOW POKE CLK TO SEE DA
(1) 003552 052777 020000 176146 BIS NLLK,TXCSR ;POKE CLK
5}; 001 .};' 1DN <[SYMOD>,<1SYMOD>
5}; 003560 012700 000000 - MOV #O,RO  :EXPECTED
(1) MOV #100000,R0 ;EXPECTED
(1) 000 .ENDC
(1) 003564 017701 176136 MOV aTXCSR,R1 :ACTUAL
(1) 003570 042701 Q77777 BI( 77777 .81 *SAVE DNA ONLY
(1) 003574 020001 CMP RO,R1 *COMPARE EXP VS ACT
(1) 003576 001401 BEQ RYA
(1) 003600 104003 ERROR 3 :DNA SHOULD BE SET
(1) “1F ONA DID NOT SET



CNDUU=A MACY11 30(1046) 14-DEC=~82 10:02 PAGE 62-34
35 CNDUUA .M 29-0CT-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0048
g}; :CHECK WORD LENGTH SELECT LOGIC
8151 003602 $TRPAR SEVEN,10,,0DDPAR,1SYMOD,125,1652

(D s:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) 230F THE TRANSMITTER SECTION.
(1) ;31T ALSO CHECKS DNA TIMING
(1) : SMODE : I SYMOD
(1) SLENGTH:SEVEN PLUS PARITY
N *{PARITY:0DDPAR
:}; ;s CHARACTER: 125
(1) 003602 $TSTNO
(2) 003602 NEWTST
(3) 000000 SNWTST=0
() 001 JF B <o
(3) 003602 SSNEWTEST \$TN,<>,SCOPE
(%) JIRP  ASCI,<>
(4) JIF EQ SNWTST
(4) NLIST
(4) SNWTST=1
(4) LSBTTL T2 ASCI
(4) LIST
(4) STARS
(4) SeTEST 2 ASCI
(4) CIFF
(4) ASCI
(4) .ENDC
(4) "ENDM
(&) 003602 STARS
(5) 002 LIF B
(S) :;'t"."....'i"..f""i""."".'i.'tlt..'.t.'.t.'.'..t'!!..t.l‘
(5) 1FF
(5) NLIST
(5) -REPT
(5) LIST
(5) ::.ttt.'.l.t.'t'i'f"""'.'""..ﬁl'lQ.ttﬁ'i.tﬁi'i.ﬁ'i'ti'ill"‘
(5) NLIST
(5) -ENDR
(5) LIST
(5) 001 "ENDC
:2; 003602 000004 1ST2:  SCOPE
(4) 000003 $TN=$TN+1
(3) JIFF
(3) GONEWTEST \$TN,<>, <>
3) 000 JENDC
(3) 001 JIF NE 4OL0E$SWR
(3) 002 "1F NB
(3) 003 JIF LE <-13
(g) . MO\ #1,$TIMES ::D0 1 ITERATION
(3) .
(3) MOV #,$TIMES ;D0 ITERATIONS
3 002 .ENDC
(3) 001 "ENDC
(3) 002 “IF NB
(3) MOV #,$LPADR ::STT SCOPE LOOP ADDRESS
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(3) 001
(3) 000
(3) 001
(3) 002
(3)

(3)

(3

(3) 00
(3) 000
(2) 000000
(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2}

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(1) 003604

(2) 003604

(3) 003604 052777 000400
(2) 003612 012777 000000
(2) 003620

53; 003620 052777 000400
(2)

(2)

14-DEC-82

13:27

176114
176102

176100

10: 02 PAGE 62-35

TIALIZE THE COMMON TAGS

D(C
LENDC
. NB
. DF SMAIL
. TNM,<\$TN=-1>
MOV #'TNM,STESTIN

. 10

.IRP $DN,<\SN>
NEHIST
: MOV #SDN,STSTNM
.ENDM
LNLIST
.RADIX 8

:.11fF NB <, MOV
F N8B <, MOV

MoV ¥ NEXT

EN
EN
IF
IF
IRP
ENDM
ENDC
ENDC
REPT 0
NLIST
RAD I X
-LIST

ST
%X 10
$DE  <\SE>

OF TST¥SDE
MOV #TST'SDE,NEXT

P —4

8

-t (N B

MOV # .EOP NEXT

® & %+ 0 & Te 0 2 ° ¢ 8 Sa s 8 + 0 & 8 "0
DDZFe MM —D2Zm ot s [ X)) e s o

Dot O MNO O

C
C
F NB <, Mov
?

.ENDR

s SAVE THIS
# ,RETURN ;SET UP THIS RE
#,1COUNT ;SET UP THIS IC

:GO TO THIS TEST WHEN THRU

;GO TO THIS TEST WHEN THRU

;G0 TO THIS TEST WHEN THRU

#,L0C7 ,SET UP fOR SCOPE LOOP

TSETUP MINT,ISYMOD,SEVEN,ODDPAR, 26

SRESET

BIS #MRESET,3TXCSR

;MASTER RESET

MOV #1SYMOD ,@PARCSR ;SET THE MODE

$SRESETY

BIS #MRESET ,aTXCSR

sSET MAINTENANCE MODE £ SEND

+MASTER RESET

sNOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)

ssSET TEST NUMBER IN APT MAIL BOX

TURN
OUNT

SEQ 0049
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37 CNDUUA .M

%) 003626 012777
2
2) 003634 012777
V) 003642 016703
1) 003646 112777
1) 003654 012767
} 003662 012767
1) 003670
2) 003670 052777
2) 003676 042777
1) 003704 005900
1) 003706 006067
1) 003712 103002
1) 003714 052700
1) 003720
2) 003720 052777
2) 003726 062777
0037354 017701

003740 042701
003744 020001
003746 001401
003750 104003

003752 005367
003756 001352

003760 052777
001

003766 012700

00
003772 01770
003776 04270
004002 02000
004004 00140
004006 10400
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29-0C1-82 13:27

004020

175144

020000

000000

O =
~jn
~N~

176072

175740

10:02 PAGE 62-36

INITIALIZE THE C

MOV #MINT ' SEND,aTXCSR
;SET MODE.# OF BITS,PARITY SENSE.® LOAD SYNC REG
OV IISYHGD'SEVEN'ODDPAR'26.8PARCSR
MOV TXCSR,R3 sSET UP FOR ERROR MSG
MOVB  #125,3TXDBUF *LOAD DATA CHAR
MOV :1esé.srnp1 21O BE SHIFTED CHAR
MOV #10.,SHIFT ¥ OF SHIFTS
‘Poxe CLK TO GET INTO SYNCRONIZATION
BIS #CLK,ATXCSR ;POKE (LK UP
BIC #CUK.ATXCSR :POKE CLK DOWN
1%: CLR RO
ROR $TMP1  ;FORCE CARRY
BCC 28 :BR IF CARRY CLR
2 BIS #BITW,RO SEQUIV OF BITwW
BIS #CLK,aTXCSR ;POKE (LK UP
BIC #CLK.aTXCSR ;POKE CLK DOWN
MOV aTXCSR, R ACTUAL
BIC 8075772 ,R1 SAVE BITW & DNA
ggg R0£R1 COHPARE EXP VS A(T
+
ERROR 3 :BIT WINDCW DID NOT MATCH ACTUAL DATA
:BIT....ALSD CHECK DNA
DEC SHIFT  :# OF SHIFTS
BNE 1% 100 IT AGAIN ?
:NOW POKE CLK TO SEE DNA
BIS #CLK,aTXCSR :POKE (LK
'ffr IDN <ISYMOD>,<1SYMOD>
o MOV #0,R0O  ;EXPECTED
ENDC MOV #100000,R0 ;EXPECTED
MOV aTXCSR,R1 sACTUAL
BIC 77777 R SSAVE DNA ONLY
CMP RO,RY ;COMPARE EXP VS ACT
BEQ L+
ERROR 3 ;DONA SHOULD BE SET

$TRPAR EIGHT,9,
SiTHIS 1
::OF THE

OMMON TAGS

;1F DNA DID NOT SET
cCHECK WORD LENGTH SELECT LOGIC

EVEPAR,SYNINT, 125,125
TEST VERIFYS CHARACTER PLUS PARITY GENERATION
TRANSMITTER SECTION.

¢s 1T ALSO CHECKS DNA TIMING
s sMODE : SYNINT
¢cLENGTH:EIGHT PLUS PARITY
s cPARITY:EVEPAR

..CHARAC

$TSTNO
NEWTST
$NWTST1=0
AfF B O

TER:125

Sea 0050
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3) 001
3) 000
3) 001
3) 002
3)

3)

3)

3)

3)

2)

2)

2)

2)

2)

2)

001
000
000000

1
13

4-DEC-82
127

10:02 PAGE 62-37
INITIALIZE THE COMMON TAGS

SENEWTEST
P ASCl,<>
NWTSf

- o

13 ASCI

T3 ASCI

s Sce N ¢ Me ¢ o

——tITIHT et % =4~ (N T 2 o be

PZZ M~ DEr MO
OO nalasl 17, T BT )

s LN
-
DN

A AALA ARl Rd R Rl 2R RS2 Y

o]
gl
-

«NLIST
+REPT
LLIST
NLIST
.ENDR

ENDC
1ST3: SCOPE
$STN=STN+1
+IFF
$SNEWTEST

.ENDC
JJF NE 400028SWR
.IF NB
JAF LE <=1>
MOV #1,9TIMES
IFF

MOV #,8TIMES
+ENDC

ENDC

JENDC
JIF DF SMAIL
.iRP TNM,<\$TN=1>
MOV #'TNM, STESTN
.ENDM

+END(

END(C

-REPT 0

.NL1ST

«RADIX 10

LIST

. IRP $DN, <\SN>
NEWTSY

MOV # ,$LPADR

\$TN,<>,SCOPE

':'*tt'lIt'tt'tit'tiitiitititii"titttttt'tti'tiitttttt'i"itttt'

\$IN, <>,

::00 1 ITERATION
::D0  ITERATIONS

++SET SCOPE LOOP ADDRESS

ssSET TEST NUMELR IN APT MA[L BOX

SEQ 0051
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(2) : MOV #SON,STSTNM :SAVE THIS

(2) .ENDM

(2) NLIST

(2) .RADIX 8

2) L1ST

(2) ;. 11F N8 <, MOV # ,RETURN ;SET UP THIS RETURN
(%; "{}FNQB <>, MOV #. 1COUNT SSET UP THIS ICOUNT
(2) : nov N NEXT ;GO TO THIS TEST WHEN THRU
(2) CIFF

(2) NLIST

(2) LRADIX 10

(2) LLIST

(2) JIRP_ $DE <\$E>

(2) JIF OF TSTPSDE

(2) ; MOV BTST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(2) " ENDM

() NLIST

(2) .RADIX B

(2) LLIST

(2) .JFF

(2) ; MOV #.EOP,NEXT ;GO TO THIS TEST WHEN THRU
(2) "ENDC

(2) JENDC

(2) :.11F NB <>, MOV #,LOCK :SET UP FOR SCOPE LOOP
(2) NLIST

(2) -RADIX 10

(2) $N=SN+1

(2) $SE=SE+1

(2) RADIX 8

(2) LIST

(2) .ENDR

(1) 004012 TSETUP MINT,SYNINT,EIGHT,EVEPAR,26

(2) 006012 SRESET

(3) 006012 052777 000400 175706 BIS #MRESET,3TXCSR ;MASTER RESET

(2) 004020 C12777 030000 175674 MOV #SYNINT,aPARCSR ;SET THE MODE

(2) 006026 $RESET

23; 006026 052777 000400 175672 BIS #MRESET,3TXCSR ;MASTER RESET

(2) +SET MAINTENANCE MODE & SEND

(2) :NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
55; 004034 012777 004020 175664 MOV #MINT'SEND,RTXCSR

(2) SSET nooe v OF BITS,PARITY SENSE.& LOAD SYNC REG

(2) 004042 012777 037426 175652 #SYNINT'EIGHT ' EVEPAR' 26, 3PARCSR

(1) 004050 16703 175652 nov TXCSR,LR SSET UP FOR ERROR MSG
(1) 004054 112777 000125 175650 MOVB  #125,31XDBUF :LOAD DATA CHAR

(1) 004062 012767 000125 175410 MOV #125.81MP1 <TO BE SHIFTED CHAR
(1) 006070 012767 000071 175024 MOV 89, SHIFT “# OF SHIFTS

(1) .POKE CLK TO GET INTO SYNCRONIZATION

(1) 004076 $POKE

(2) 004076 052777 020000 175622 BIS #CLK,ATXCSR :POKE CLK UP

(2) 006104 042777 020000 175614 BIC #CLK.STXCSR :POKE CLK DOWN

(1) 0064112 005000 1%: CLR R0

(1) 006114 006067 175360 ROR $TMP1  ;FORCE CARRY

(1) 004120 103002 BCC 2% ‘BR |f CARRY CLR
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(}) 882}55 052700 002000 ’ BIS #B1TW,RO ;EQUIV OF BITW
2 0061%6 052777 020000 175572 . BIS #CLK,ATXCSR ;POKE CLK UP
2) 006134 042777 020000 175564 BIC #CLK.aTXCSR *POKE CLK DOWN
1) 004142 017701 175560 MOV 3TXCER, R ACTUAL
1) 006146 042701 075777 BIC 2075777 ,R1 AVE BITW £ DNA
1 004152 020001 CMP RO,R1 COMPARE EXP VS A(CT
1 006156 001401 BEQ ¢L
1) 006156 104003 ERROR :BIT WINDOW DID NOT MATCH ACTUAL DATA
1 ‘BIT,...ALSO CHECK DNA
1) 004160 005367 174736 DEC SHIFT  :# OF SHIFTS
1) 006166 0013.2 BNE s 100 IT AGAIN ?
1 :NOW POKE CLK TO SEE DNA
1) 006166 052777 020000 175532 BIS #CLK,RTXCSR :POKE CLK
} oo }:T IDN <ISYMOD> ,<SYNINT>
} . MOV #0,R0  ;EXPECTED
} 004176 012588 100000 .euoc MOV #100000,R0 SEXPECTED
1) 004200 017701 175522 ) MOV aTXCSR,R1 :ACTUAL
1) 004204 042701 077777 BIC 877777 R *SAVE DNA ONLY
1) 004210 020001 CMP RO,R1 :COMPARE EXP VS ACT
1) 006212 001401 BEOQ Ry
1) 004214 104003 ERROR 3 :DNA SHOULD BE SET
1 :1F DNA DID NOT SET
} TCHECK WORD LENGTH SELECT LOGIC
815 004216 $TRPAR EIGHT,9.,0DDPAR,SYNINT, 125,525

,,THlS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
2:0F THE TRANSMITTER SECTION.
21T ALSO CHECKS DNA TIMING
sMODE : SYNINT
..LENGIH EIGHT PLUS PARITY
:PAR]TY:0DDPAR
..CHARACTER 125

004216 $TSTNO
004216 NEWTST
000000 $NWTST=0
001 JAF B ©
004216 SSNEWTEST \$TN,<>,SCOPE

. 1RP ASCI, <>

JIF EQ SNWTST

NLIST

$NWIST=1

LSBITL T4 ASCI
LLIST

STARS

s*TEST 4 ASCI

JAFF
ASCI
.ENDM
004216 STARS
002 Af 8

AAAAAAA—'\—\A—\AAAAA!\AAAA’\AAAAA-.AI\AAAAﬂﬂﬂﬁﬂﬂﬂhnﬂﬂﬂnf\t\ﬂﬁhﬂﬂﬁ

Y W W W F S T ¥ oF oF oW IV TV TV LN R e el
vvvvwvvvvvv\-rvVVVVVUVVUUVVVUWVVVUVVVUVUVVVVVVVVVVVVVVVVV
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(5) :ittt't"t'tt'ttttt"'t""!"tt"tttti'tt'tttt't"tﬁtttttt.tt't'
(5) .IFF
(5) NLIST
(5) +REPT
(5) LLIST
(S) ::itttttttttttltiti""t'tt't't'tttt"'tt"'ttQtt't'tt'ttt'!t""
(S) NLIST
(S) +ENDR
(S) LIST
(S) 001 LENDC
22; 004216 000004 15T4: SCOPE
4) 000905 STN=STN+1
&) LFF
(3) SONEWTEST \$TN, <>, O
&3 000 LENDC
3 00 LJF NE 40008$SWR
(3) 002 .JF NB
(%) 003 JF LE <=1>
t%; 165 MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV #,8TIMES ;.00 ITERATIONS
(3 002 JENDC
(3) 001 LENDC
(%) 002 .JF NB
(3 MOV #,8LPADR ;:SET SCOPE LOOP ADDRESS
(3) 001 ENDC
(3) 000 LENDC
(3) 001 .IfF NB
(3) 002 .IF DF SMA]L
(3) .IRP TNM,<\$TN=1>
(3) MOV #'TNM,STESIN ::SET TEST NUMBER IN APT MAIL 80X
(3) LENDM
(3) 001 LENDC
(3) 000 JENDC(

(2) 000000 LREPT 0

(2) NLIST

(2) LRADIX 10

(2) LLIST

(2) . IRP $DN, <\$N>

(2) NEWTST

(2) MOV #SDN,STSTNM sSAVE THI]S

(2) .ENDM

(2) NLIST

(2) LRADIX 8

(2) LLIST

2) :.11F B <, MOV # ,RETURN :SET UP THIS RETURN
(2) ;. J1F NB <>, MOV ¥, 1 COUNT :SET UP THIS I1COUNT
(2) ;JJF NB O

(2) : MOV # NEXT GO TO THIS TEST WHEN THRU
(2) .IFF

(2) .NLIST

(2) RADIX 10

(2) LLIST

(2) .IRP SDE‘<\SE>

(2) .IF DF TST'$DE
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004220
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004226
004234
004234

004242

004250
004256
006262
004270
004276

004304
004304
004312
004320
004322
004326
004330
024334
004334
004342
004350
004354
004360
004362
004364

004366
004372

004374
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NNNWN
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~
~

01

= OO00000 O=0000

o0
O~N W OO~

O~ WO O000O
—y PO N

)

14~
2 13.27

000400
030000

000400

004020

037026
175444
000125
000525
000011

020000
020000
175152
002000

O—=00

2000
2000
753%
7577

NNVOO

174530

020000

L=DE(-82

175500
175466

175464

175456

175324

INITIALIZE

: MOV
.ENDM
«NLIST
.RADIX 8
LIST

IFF

: Mov

BIS
MOV

8IS

SRESET

10:02 PAGE 62-41

THE COMMON TAGS
#TST'SDE NEXT

¥.EOP,NEXT

<, MoV

#MRESET ,aTXCSR
#SYNINT ,aPARCSR

#MRESET ,@TXCSR

sSET MAINTENANCE MODE & SEND
;NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)

¥,L0CK

;60 TO THIS TEST WHEN THRU

;G0 TO THIS TEST WHEN THRU

sSET UP FOR SCOPE LCOP

MINT ,SYNINT EIGHT,ODDPAR, 26

;MASTER RESET
+SET THE MODE

sMASTER RESET

MOV #MINT'SEND,aTXCSR
:SET MODE,# OF BITS,PARITY SENSE.& LOAD SYNC REG
MOV #SYNINT'EIGHT 'ODDPAR! 26 ,aPARCSR
MOV TXCSR,R3 <SET UP FOR ERROR MSG
MOVB  #125,3TXDBUF :LOAD DATA CHAR
MOV #525.$TMP1 :TO BE SHIFTED CHAR
MOV N9, ,SHIFT o# OF SHIFTS
iggzg CLK TO GET INTO SYNCRONIZATION
BIS #CLK,BTXCSR ;POKE CLK UP
BIC #CLK,ITXCSR :POKE CLX DOWN
1%: (LR RO
ROR $TMP1  :FORCE CARRY
BCC 2% ‘BR I[F CARRY CLR
2 BIS #B1TW,RO ;EQUIV OF BITwW
BIS #CLK,3TXCSR :POKE CLK UP
BIC #CLK.TXCSR *POKE CLK DOWN
MOV TXCSR,RY CACTUAL
BIC 8075777 .1 :SAVE BITW £ DNA
gES noza1 : COMPARE "EXP VS ACT
¢
ERROR :BlT WINDOW DID NOT MAT(CH ACTUAL DATA
‘BIT,...ALSO CHECK DNA
DEC SHIFT 4 Of SHIFTS
BNE 1s ‘D0 IT AGAIN ?
JNOW POKE CLK YO SEE DNA
BIS #CLK,3TXCSR :POKE (LK
. JF IDN <1SYMOD>,<SYNINT>

SEQ 0055
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() JeT
z}; 1 MOV #0,R0  ;EXPECTED
(1) 004402 012700 100000 MOV #100000,R0 ;EXPECTED
(1) 000 JENDC
(1) 006406 017701 175314 MOV 3TXCSR,R1 :ACTUAL
(1) 004412 042701 077777 BIC #77777,.R1 :SAVE DNA ONLY
(1) 004416 020001 CMP RO,R1 :COMPARE EXP VS A(T
(1) 004420 001401 BEQ . +4
(1) 0064422 104003 ERROR 3 :DNA SHOULD BE SET
(1) :1F DNA DID NOT SET
g}; :CHECK WORD LENGTH SELECT LOGIC

8154 004424 $TRPAR EJGHT, 11, ,EVEPAR,ISYMOD,125,2252

) ;:THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
(1) ;:0F THE TRANSMITTER SECTION.
) ::1T ALSO CHECKS DNA TIMING
(1) : :MODE : ISYMOD
(1) s LENGTH:EIGHT PLUS PARITY
(1) ;;PARITY:EVEPAR
8; ;s CHARACTER:12S
(1) 004424 $TSTNO
(2) 006424 NEWTST
(%) 000000 SNWTST=0
(3) 001 JF B O
(3) 004424 SSNEWTEST \$1N,<>,SCOPE
(4) .IRP ASC],<>
%) JF EQ SNWTST
(&) NLIST
(&) SNWTST=1
(%) LSBTTL 15 ASCI
(&) LIST
(4) STARS
(4) :*TEST S ASCI
(%) JFF
(4) ASC]
(&) ENDC
(&) .ENDM
(&) 004424 STARS
(5) 002 JF B
(S) -:t't'tt'tttlttt'itttttt"tttttltﬁtttttttttt!tt't!tl!ttlttttttltt
(5) JIFF
(5) NLIST
(5) .REPT
(S) LLIST
(9) PR N A NAERRAN EN N R NN R RPN R PR AN NSNS RA RTINS RICERRRCRRATRRCRICEY
(5) NLIST
(5) .ENDR
(5) LIST
(5) 001 JENDC
(2; 004426 000004 TSTS: SCOPE
(
(&%) 000006 $TN=$TN+1
(%; .lFF
(

SSNEWTEST \$IN,<>,<>
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(%) 000 LENDC
() on JF NE 400088$SWR
(3) 002 .IF NB
&3] 003 F LE <~1>
g; IfF MOV #1,8TIMES ::D0 1 ITERATION
(3) MOV ¥, 8TIMES ::D0  ITERATIONS
(3 002 JENDC
(3) 001 ENDC
(3) 002 JF NB
(3 MOV #,8LPADR ;;SET SCOPE LOOP ADDRESS
(3) 001 LENDC
3) 200 JENDC
(%) 001 .if NB
(%) 002 JF DF SMAIL
(%) .IRP TANM, <C\$TN-1>
(%) MOV #'INM, STESIN ;:SET TEST NUMBER IN APT MA[L BOX
(3) .ENDM
(3 001 LENDC
&3] 000 JENDC
(2) 000000 REPT 0
(2) NLIST
(2) RADIX 10
(2) LIST
(2) .IRP $DN, <\SN>
(2) NEWTST
(2) : MOV #SDN,STSTNM ;SAVE THIS
(2) .ENDM
(2) NLIST
(2) .RADIX 8
(2) .LlST
(2) .JIF NB O, MOV #,RETURN :SET UP THIS RETURN
(5) }}r NB <>, MoV #, I COUNT :SET UP THIS ICOUNT
2) s JJF N
(2) : nov # ,NEXT :GO TO THIS TEST WHEN THRU
(2) FF
(2) NLIST
(2) LRADIX 10
(2) LLIST
(2) .IRP $DE  <\S$E>
(2) J1F DF TSTUSDE
(2) : MOV #TST'SDENEXT ;G0 TO THMIS TEST WHEN THRU
(2) .ENDM
(2) NLIST
(2) RADIX 8
() LIST
(2 JFF
(2) ; MOV #.EOP,NEXT ;GO TO THIS TEST WHEN THRU
(2) ENDC
(2) ENDC
(2) :.11F NB <, MOV #,LC0CK ;SET UP FOR SCOPE LOOP
(2) NLIST
(2) RADIX 10
(2) SN=SN¢1
(2) SE=3E+1
(2) RADIX 8



CNDUU=A MACY11 30(1046) 14-DEC-82 10:02 PAGE 62-44
CNDUUA . M11 29-0CT-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0058

(2) JLIST
(2) "ENDR
(1) 004426 TSETUP MINT,ISYMOD,EIGHT ,EVEPAR,26
(2) 006426 SRESET
(3) 006426 052777 000400 175272 BIS NMRESET,3TXCSR ;MASTER RESET
(2) 006434 012777 000000 175260 MOV #1SYMOD .aPARCSR :SET THE MODE
(2) 006442 SRESET
ig; 004442 052777 000400 175256 BIS NMRESFT,3TXCSR ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) “NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
gg; 004450 012777 004020 175250 MOV #MINT ' SEND,@TXCSR
() :SET MODE.# OF BITS,PARITY SENSE,& LOAD SYNC REG
(2) 006656 012777 007426 175236 MOV #1SYMOD'EIGHT 'EVEPAR'26,aPARCSR
(1) 004464 016703 175236 MOV TXCSR,R3 sSET UP FOR ERROR MSG
(1) 004470 112777 000125 175234 MOVB  #125,aTXDBUF *LOAD DATA CHAR
(1) 004476 012767 002252 174774 MOV #2252 ,$TMP1 *TO BE SHIFTED CHAR
(1) 004504 012767 000013 174410 MOV #11.,SHIFT ‘#OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 004512 $POKE
(2) 004512 052777 020000 175206 BIS #CLK,ATXCSR ;POKE CLK UP
(2) 004520 042777 020000 175200 BIC #CLK.QTXCSR *POKE CLK DOWN
(1) 004526 005000 1%: CLR RO
(1) 004530 006067 174744 ROR $TMP1  ;FORCE CARRY
(1) 004536 103002 BC(C 2% *BR IF CARRY CLR
(1) 004536 052700 002000 BIS #B81TW,RO SEQUIV OF BITW
(1) 004562 2%:
(2) 006542 052777 020000 175156 BIS #CLK,aTXCSR :POKE CLK UP
(2) 004550 042777 020000 175150 BIC #CLK.aTXCSR *POKE CLK DOWN
(1) 004556 017701 175144 MOV aTXCSR, R TAC TUAL
(1) 004562 042701 075777 BIC #075777,R1 :SAVE BITW & DNA
(1) 004566 020001 CMP RO,R1 : COMPARE EXP VS A(T
(1) 004570 001401 BEQ L +4
(1) 0064572 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
(N ‘BIT,...ALSO CHECK DNA
(1) 006574 005367 174322 DEC SHIFT  -# OF SHIFTS
(1) 004600 001352 BNE 1s ‘D0 IT AGAIN ?
(1) :NOW POKE CLK TO SEE DNA
(1) 004602 052777 020000 175116 BIS #CLK.BTXCSR :POKE CLK
:}; 001 '}:r 10N <1SYMOD>, <ISYMOD>
g}; 024610 012700 000000 r MOV #0,RO  ;EXPECTED
(1) MOV #100000,R0 ;EXPECTED
(1) 000 JENDC
(1) 004614 017701 175106 MOV aTXCSR,R1 s ACTUAL
(1) 004620 042,01 077777 BIC 877777 .R1 <SAVE DNA ONLY
(1) 006626 020001 CMP RO,R1 :COMPARE EXP VS A(T
(1) 004626 001401 BEQ RYA
(1) 004630 104003 ERROR 3§ :DNA SHOULD BE SET
(mn :1F DNA DID NOT SET
(}) TCHECK WORD LENGTH SELECT LOGIC
(1)

8155 004632 $TRPAR EIGHT,11.,0DDPAR,ISYMOD,125,3252
(1) < THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
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INITIALIZE THE COMMON TAGS

:s0F THE TRANSMITTER SECTION.
s+ 17 ALSO CHECKS DNA TIMING

; :MODE : [SYMOD

JJLENGTH:EIGHT PLUS PARITY
:sPARITY:0DDPAR

. s CHARACTER:125

$TSTNO

NEWTST

SNWTST=0

JAF B O
SSNEWTEST

.IRP ASCI <>

\$TN,<>,SCOPE

T
L T6 ASCI

;*TEST 6 ASCI

- (2222222222222 2222220202222 022R002 222220 R2RRRR2R X

"NLIST

.ENDR
LIST
.ENDC
1ST16: SCOPE
STN=STN+1
OIFF
SENEWTEST \$TN, <>,
.END(
JJF NE 4O00LSSWR
JAF LE <=1>
1 MOV #1,8TIMES ::D0 1 ITERATION
MOV #,8TIMES ;:D0 ITERATIONS
LENDC
JENDC
.JF NB
MOV #,3LPADR s:SET SCOPE LOOP ADDRESS
ENDC
LENDC(
IF NB

“IF DF $MAIL

SEQ 0059
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INITIALIZE THE COMMON TAGS

.IRP TNM,<\$TN=1>
ENDM MOV #°TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX

ENDC

+ENDC

.REPT 0

.NLIST

.RADIX 10

LIST

. IRP $ON, <C\SN>

NEWTST

K MOV #SDN,STSTNM JSAVE THI]S
.ENDM
LNLIST
.RADIX 8

LLIST

:.J1F NB <>, MOV # ,RETURN ;SET UP THIS RETURN
:.}éFNgB <>, MOV #,1COUNT ;SET UP THIS ICOUNT
.. <>

: MOV # ,NEXT :G0 TO THIS TEST WHEN THRU

.RADIX 10
.IRP $DE <\%E>

"IF OF T1sTi$p
: MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU

.RADIX 8

Mov #.EOP NEXT ;G0 TO THIS TEST WHEN THRU

mm
=
(v o)

<>, Mov #,L0CK SET UP FOR SCOPE LOOP

o AW
—md ad
b
o

WM OMI DI
3 ¢ ¢ I —

MINT,ISYMOD,EIGHT ,ODDPAR, 26

81S #MRESET ,@TXCSR  ;MASTER RESET
SRESE T MoV #1SYMOD,3PARCSR ;SET THE MODE
BIS #MRESET,3TXCSR ;MASTER RESET

;SET MAINTENANCE MODE & SEND
<NOTE:BIT WINDOWRCLK ARE CLEARED (MIDATA=0)

MM il | =2 P
N=—1O0OWVNO WP e T T
MO D =4==MZ e NNV

O =4 o
-4 0

MoV #MINT!SEND,STXCSR
sSET MODE,# OF BITS,PARITY SENSE,8 LOAD SYNC REG
MOV #15YMOD'EIGHT ! ODDPAR! 26 ,@PAR(SR

SEQ 0060
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(1) 004672 016703 175030 MOV TXCSR,R3 <SET UP FOR ERROR MSG
(1) 004676 112777 000125 175026 MOVB  #125,3TXDBUF *LOAD DATA (HAR
(1) 004704 012767 003252 174566 MOV 13252 srnp1 :TO BE SHIFTED CMAR
(1) 004712 012767 000013 174202 MOV #11,,SHIFT OF SHIFTS
(1) POKE CLK TO GET INTO SYNCRONIZA?ION
(1) 004720 $POKE
(2) 004720 052777 020000 175000 BIS #CLK,3TXCSR :POKE CLK UP
(2) 004726 042777 020000 174772 BIC #CLK,3TXCSR SPOKE CLK DOWN
(1) 004734 005000 1$: CLR RO
(1) 004736 006067 174536 ROR $TMP1  ;FORCE CARRY
(1) 004742 103002 BCC 2% ‘BR IF CARRY CLR
:}; 8825?3 052700 002000 ’ BIS #B11W,RO ;EQUIV OF 811w
(2) 004750 052777 020000 174750 BIS #CLK,aTXCSR :POKE CLK UP
(2) 004756 042777 020000 174742 BIC #CLK.3TXCSR :POKE CLK DOWN
(1) 004764 017701 174736 MOV BTXCSR R1 sACTUAL
(1) 004770 042701 075777 BIC #075777.R1 :SAVE BITW £ DNA
(1) 004774 020001 CMP RO,R1 ;COMPARE EXP VS ACT
(1) 004776 001401 BEQ .+
(1) 005000 104003 ERROR 3 :BIT WINDOW DID NOT MAT(CH ACTUAL DATA
(1 :BIT,...ALSO CHECK DNA
(1) 005002 005367 174116 DEC SHIFT  :# OF SHIFTS
(1) 005006 001352 BNE 1s :DO IT AGAIN ?
(1) :NOW POKE CLK TO SEE DNA
(1) 005010 052777 020000 174710 BIS #CLK,BTXCSR ;POKE CLK
H; 001 };T IDN <ISYMOD>,<1SYMOD>
g}; 005016 012700 000000 I MOV #0,P)  EXPECTED
(1) MOV #100000,R0 ;EXPECTED
(1) 000 JENDC
(1) 005022 017701 174700 MOV aTXCSR,R) s ACTUAL
(1) 005026 042701 077777 BIC #77777.R1 :SAVE DNA ONLY
(1) 005032 020001 cMP RO,R1 :COMPARE EXP VS ACT
(1) 005034 001401 BEQ RYA
(1) 005036 104003 ERROR 3 :DNA SAOULD BE SET
(1) ;1F DNA DID NOT SFT
(}) SCHECK WORD LENGi+ SELECT LOGIC
(1)

8156

8157 005040 $TRPAR EJGHT,9.,EVEPAR,SYNINT, 252,252
(1) SsTHIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
A1) 2:0F THE TRANSMITTER SECTION.
(1) +:1T ALSO CHECKS DNA TIMING
1) ::MODE : SYNINT
(1) ..LENGTH EIGHT PLUS PARITY
(1) L PARITY:EVEPAR
(}; 2 s CHARAC TER 252
( )
(1) 005040 $TSTNO
(2) 005040 NEWTST
(3) 000000 SNWIST=0
(3) 001 JAF B o
(3) 005040 SSNEWTEST \$TN,<>,SCOPE
(&) . JRP ASC],<
(&) “IF EQ SNWTST
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9 CNDUUA .M 29-0(1-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0062
(4) NLIST
(&) SNWTIST=1
(L) LSBITL 17 ASC]
(&) LIST
(4) STARS
(&) s*TEST 7 ASCI
(4) . IFF
(4) ASC]
(&) ENDC
(&) .ENDM
(4) 005040 STARS
(5) 002 JAF B
{9) (IR RN RN RPN NN R R RO PR RO NN E RN RN RN AR ENONOATRORONCRNQONROREY
(5) JIFF
(5) .NLIST
(5) .REPT
(5) LIST
(S) IR RN R N NP RN PR T RPN P R RN RN NN AN AR NP RO NIRRT RO RGNS
(5) NLIST
(5) ENDR
(5) LIST
(5) 001 .ENDC
:2; 005040 000004 1S17: SCOPE
(4) 000010 $TN=STN+1
(3) AFF
(3) $SSNEWTEST \$IN, <>, O
(3) 000 LENDC
(3) 001 .1F NE 4O0008$SWR
(3) 002 .1F NB
(3) 003 JIF LE <=1>
(%) 1 MOV #1,$TIMES ::D0 1 ITERATION
( ) L
(3) MOV #,9TIMES ;:D0 ITERATIONS
(3) 002 ENDC
(3) 001 ENDC
(3) 002 .IF NB
(3) MOV #,3LPADR ;sSET SCOPE LOOP APDRESS
(3) 001 LENDC
(3) 000 ENDC
(3) 001 .IF NB
(3) 002 .IF DF SMAIL
(3) .IRP TNM,<\$TN-1>
(3) MOV #'TNM,STESTN ssSET TEST NUMBER [N APT MAIL 8OX
(%) .ENDM
(3) 001 +ENDC
(3) 00 ENDC
(2) 000000 REPT 0
(2) «NLIST
(2) LRADIX 10
(2) LIST
(2) . IRP $ON, <\SN>
(2) NEWTST
(2) : MOV #SDON,STSTNM :SAVE THIS
(2) LENDM
(2) NLIST
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(2) .RADIX 8

(2) LIST

(2) :.11F NB <o, MOV # ,RE TURN :SET UP THIS RETURN

g%; :.{gFNQB <, MoV #,1COUNT JSET UP THIS I1COUNT

(2) : nov # NEXT ;GO TO THIS TEST WHEN THRU

(2) JIFF

(2) NLIST

(2) -RADIX 10

(2) LIST

(2) JIRP_ SDE, <\$E>

(2) JIF OF  1STYSDE

(2) ; MOV #IST'SDE,NEXT ;GO TO THIS TEST WHEN THRU

(2) "ENDM

() NLIST

(2) .RADIX 8

(2) LIST

(2) CIFF

(2) : MOV #.E0P,NEXT ;GO TO THIS TEST WHEN THRU

(2) "ENDC

(2) "ENDC

(2) :.1IF NB <o, MOV #,L0CK :SET UP 7GR SCOPE LOOP

(2) NLIST

(2) .RADIX 10

(2) SN=SN+1

(2) SE=SE+1

(2) .RADIX 8

(2) LIST

(2) -ENDR

(1) 005042 TSETUP MINT,SYNINT,EIGHT,EVEPAR, 26

(2) 005042 SRESET

(3) 005042 052777 000400 174656 BIS #MRESET,aTXCSR  :MASTER RESET

(2) 005050 012777 030000 174644 MOV #SYNINT.BPARCSR :SET THE MODE

(2) 005056 SRESET

53; 005056 052777 000400 1746642 BIS #MRESET,3TXCSR  ;MASTER RESET

(2) ;SET MAINTENANCE MODE & SEND

(2) :NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)

:g; 005064 012777 004020 176636 MOV #MINT!'SEND,aTXCSR

(2) ] ;SET MODE,# OF BITS,PARITY SENSE.& LOAD SYNC REG

(2) 005072 012777 037426 174622 MOV #SYNINT'EIGHT 'EVEPAR!26,3PARCSR

(1) 035100 016703 174622 MOV TXCSR,R3 ;SET UP FOR ERROR MSG

(1) 005104 112777 000252 174620 MOV  #25 aTxDBUf LOAD DATA ann

(1) 005112 012767 000252 174360 MOV czs nP1 o BE SHIF eo CHAR

(1) 005120 012767 000011 173774 MOV N OF SHIFT

(1) -POXKE (LK TO GET lufo svncaon11A110~

(1) 005126 $POKE

(2) 005126 052777 020000 174572 BIS #CLK,RTXCSR ;POKE CLK UP

(2) 005134 042777 020000 174564 BIC #CLK.ATXCSR :POKE CLK DOWN

(1) 005142 005000 1$: CLR RO

(1) 005144 006067 174330 ROR $TMP1  ;FORCE CARRY

(1) 005150 103002 BCC 2% :BR If CARRY (LR

;}; 882}25 052700 002000 % BIS #B1TW,RO ;EQUIV OF BITw

(2) 005156 052777 020000 174542 BIS #CLK,3TXCSR :POKE CLK UP
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13:27 INITIALIZE THE COMMON TAGS
020000 174534 BIC #CLK,@TXCSR ;POKE CLK DOWN
174530 MOV TXCSR, R *ACTUAL
075777 BIC #075777,R1 *SAVE BITW & DNA
ggg R0£R1 ; COMPARE EXP VS A(T
i
ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA
173706 DEC SHIFT  :# OF SHIFTS
BNE is :D0 IT AGAIN ?
:NOW POKE CLK TO SEE DNA
020000 174502 BIS #CLK,@TXCSR sPOKE (LK
.{;t IDN <ISYMOD>,<SYNINT>
f MOV #0,RO  ;EXPECTED
100000 ENDC MOV #100000,R0 ;EXPECTED
174472 MOV STXCSR,RI :ACTUAL
077777 BIC ¥77777 R :SAVE DNA ONLY
cMP RO,R1 :COMPARE EXP VS ACT
BEQ RYA
ERROR 3 :DNA SHOULD BE SET
SIF DNA DID NOT SET
:CHECK WORD LENGTH SELECT LOGIC
$TRPAR EIGKT,9.,0DDPAR,SYNINT,252,652
<. THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATIOM
::0F THE TRANSMITTER SECTION.
2317 ALSO CHECKS DNA TIMING
:;MODE : SYNINT
SSLENGTH:EIGHT PLUS PARITY
:sPARITY:ODDPAR
: ;CHARACTER: 252
$TSTNO
NEWTST
SNWTST=0
JF B O
SSNEWTEST \$TN,<>,SCOPE
JORP  ASCI, <
JIF EQ SNWTST
NLIST
$NWTST=1
JSBITL T10 ASC]
STARS
s¢TEST 10 ASCI
VIFF
ASCI
JENDC
.ENDM
e
E:litit"tt'.t.tt'!'li!ttl't"tltllttltltttttttll.!ttI!t't'illtll
.IFF
CNLIST

SEQ 0064
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INITIALIZE THE COMMON TAGS

.REPT
LIST

;'".'t"it'lt"'t'"'t!t"t""t'."t.""".'t'."."'..t'itt"i

LENDC
1ST10: SCOPE
STN=STN+"
JIFF
SENEWTEST \$TN,<>,<>
JIF NE 4000RSSWR
.JfF NB
JIF LE <=1
1FF MOV #1,8TIMES ::D0 1 ITERATION
MOV #,8TIMES ::D0 JTERATJIONS
JENDC
LENDC
.IF NB
MOV #,5LPADR ;sSET SCOPE LOOP ADDRESS
JENDC
JENDC
.JF NB
JJF DF SMAIL
. IRP TNM,<\$IN=1>
ENDM MoV #'TNM,STESTN ::SET TEST NUMBER [N APT MAIL BOX
JENDC
LENDC
LREPT 0
JNL1ST
LRADIX 10
JLIST
. IRP $DN, <\SN>
NEWTST
MOV #SDN,STSTNM ;SAVE THIS
.ENDM
«NLIST
.RAD]IX
:.11F NB <, MOV # ,RETURN ;SET UP THIS RETURN
:.}gf gB <, MOV #,1COUNT JSET UP THIS ICOUNT
o NB <
:lFF MOV # NEXT :G0 TO THIS TEST WHEN THRU
.NLIST
LRADIX 10
LLIST
.IRP $DE ,<\$E>

JIF DF TSTY$DE

MOV #IST SDE NEXT ;GO TO THIS TEST WHEN THRU

SEQ 0065
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(2) LRADIX 8
(2) LLIST
(2) .IFF
(2) ; MOV #.EOP,NEXT ;GO TO THIS TEST WHEN THRU
(2) LENDC
(2) JENDC
(2} ;. 11F NB <o, MOV #.LOCK ;SET UP FOR SCOPE LOOP
(2) LNLIST
(2) LRADIX 10
(2) $N=SN+1
(2) $E=SE+1
(2) LRADIX 8
(2) LIST
(2) .ENDR
(1) 005250 TSETUP MINT,SYNINT,EIGHT,0DDPAR, 26
(2> 005250 $RESET
(3) 005250 052777 000400 174450 BIS #MRESET,aTXCSR  :MASTER RESET
(2) 005256 012777 030000 174436 MOV #SYNINT.3PARCSR :SET THE MODE
(2) 005264 SRESET
:3; 005264 052777 000400 174434 BIS #MRZSET,aTXCSR  ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) “NOTE:BIT WINDOWELLK ARE CLEARED (MTDATA=0)
:5; 005272 012777 006020 174426 MOV #MINT'SEND,3TXCSR
(2) :SET MODE,.# OF BITS,PARITY SENSE.E LOAD SYNC REG
(2) 005300 012777 037026 174414 MOV #SYNINT'EIGHT'ODDPAR! 26, 3PARCSR
(1) 005306 016703 174414 MOV TXCSR,R3 <SET UP FOR ERROR MSG
(1) 005312 112777 000252 174412 MOVB  #252,3TXDBUF :LOAD DATA CHAR
(1) 005320 012767 000652 174152 MOV #652 .8 TMP1 :TO BE SHIFTED CHAR
(1) 005326 012767 000011 173566 MOV #9. . SHIFT 4 OF SHIFTS
(1) :POKE CLK TO GET INTO SYNCRONIZATION
(1) 005334 $POKE
(2) 005334 052777 020000 174364 BIS #CLK,RTXCSR :POKE CLK UP
(2) 005342 042777 020000 174356 BIC #CLK.ATXCSR TPOKE CLK DOWN
(1) 005350 005000 1%: (LR RO
(1) 005352 006067 174122 ROR $TMP1  ;FORCE CARRY
(1) 005356 103002 BCC 2$ :BR IF CARRY (LR
g}; 882322 052700 002000 2 BIS #B1TW,RO SEQUIV OF BITW
(2) 005364 052777 020000 174334 BIS #CLK,3TXCSR ;POKE CLK UP
(2) 005372 042777 020000 174326 BIC #CLK.@TXCSR *POKE CLK DOWN
(1) 035400 017701 174322 MOV aTXCSR,RT *ACTUAL
(1) 005404 042701 075777 BIC #07577%.R1 SSAVE BITW & DNA
(1) 005410 020001 CMP RO.R1  “:COMPARE EXP VS ACT
(1) 005412 001401 BEQ ol
(1) 005414 104003 ERROR :BIT WINDOW DID NOT MATCH ACTUAL DATA
n *B17,...ALSO CHECK DNA
(1) 005416 005367 173500 DEC SHIFT  +# OF SHIFTS
(1) 005422 001352 BNE 1s D0 IT AGAIN ?
N ;NOW POKE CLK TO SEE DNA
(1) 005426 052777 020000 174274 BIS #CLK,RTXCSR :POKE CLK
:}; 001 .{;' IDN <[SYMOD>,<SYNINT>
(1) MOV #0,RO  ;EXPECTED
(1) JIFF

(73]
™
[ <
<
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005432 012588 100000 ENDC MOV #100000,R0 JEXPECTED
005436 017701 174264 ov aTXCSR,RY ;ACTUAL
005442 042701 077777 BIC #77777.R1 :SAVE DNA ONLY
005446 020001 CMP RO,R1 :COMPARE EXP VS ACT
005450 001401 BEQ YA
005452 104003 ERROR 3 ;:DNA SHOULD BE SET
;1F DNA DID NOT SET
:CHECK WORD LENGTH SELECT LOGIC
8 005454 $TRPAR EIGHT,9.,EVEPAR,SYNINT,0,0
::THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
::0F THE TRANSMITTER SECTION.
:: 1T ALSO CHECKS DNA TIMING
::MODE : SYNINT
::LENGTH:EIGHT PLUS PARITY
J:PARITY:EVEPAR
::CHARACTER:Q
005454 $TSTNO
005454 NEWTST
000000 SNWIST=0
(1]0}] JF B O
005454 SSNEWTEST \$TN,<>,SCOPE

.IRP ASCl, O

.IF EQ SNWTST

.NLIST

SNWTST=1

LSBTTL TN ASCI

;*TEST 1 ASC!

005454 STARS
00¢ IF B

001 .
005454 000004 T

t

S SCOPE
000012 SI

£

l

l

$TN+1
SINEWTEST \$IN, <>,
4000L88$SWR

000 .
001 .
002 .

i S P N R i bk iniaiabaialalalalateteatale e latatel e latatalalalalatata X e P

WIWINWIN S & BN AN NANWVNNE S BN EBDEDSS NNNN b b b e b e b B\ Vb e d d b d b b b 2
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(3) 003 JAF LE <=
i%; . MOV 21 ,8TIMES ::D0 1 ITERATION
(3) MOV #,8TIMES ::D00 ITERAT]IONS
(3) 002 LENDC
(3) 001 LENDC
(3) 002 JIF NB
(3) MOV #,8LPADR ;3SET SCOPE LOOP ADDRESS
(3 001 LENDC
(3) 000 LENDC
(3) 00 .JF N8B
(3) 002 LJF DF SMAJIL
(3) .IRP TNM,<\$TN=-1>
(3) MOV #'TNM,STESTN ::SET TEST NUMBER IN APT MAIL BOX
(3) .ENDM
3) 001 LENDC
3) 000 LENDC
(2) 000000 LREPT O
(2) .NLIS
(2) .RADI 10
(2) LIST
(2) .IRP SDON, <\$N>
(2) NEWTST
(2) : MOV #SON,STSTNM ;SAVE THIS
(2) LENDM
(2) LNLIST
(2) LRADIX 8
(2) LLIST
(2) :.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
(2) :.11F NB <>, MOV ¥, 1COUNT ;SET UP TH]S ICOUNT
(2) ..lF NB <
(2) MOV # ,NEXT ;00 TO THIS TEST WHEN THRU
(2) .IFF
(2) .NLIST
(2) LRADIX 10
(2) LLIST
(2) .IRP SDE‘<\SE>
(2) JIF DF  TST'SDE
(2) : MOV NTST'SDENEXT :G0 10 THIS TEST WHEN THRU
(2) .ENDM
(2) LNLIST
(2} LRADIX 8
(2) LLIST
(2) JIFF
(2) : MOV # EOP,NEXT ;60 TO THIS TEST WHEN THRU
(2) JENDC
(2) JENDC(
(2) ;.11F NB <>, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) .NLIST
(2) LRADIX 10
(2) SN=$N+1
(2) SE=SE+1
(2) .RADIX 8
(2) LLIST
(2) .ENDR
(1) 005456 1SETUP MINT,SYNINT EIGHT,EVEPAR,Z26
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2 13:27 INITIACIZE THE COMMON TAGS
$RESET
000400 176242 BIS #MRESET,3TXCSR  ;MASTER RESET
030000 174230 SRESET MOV #SYNINT.GPARCSR :SET THE MODE
000400 174226 BIS MMRESET,aTXCSR  ;MASTER RESET
:SET MAINTENANCE MODE & SEND
CNOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
0046020 174220 MOV #MINT ! SEND,aTXCSR
:SET MODE . # OF BITS,PARITY SENSE,.& LOAD SYNC REG
037426 174206 MOV #SYNINT'EIGHT 'EVEPAR' 26,3PARCSR
174206 MOV TXCSR,R3 :SET UP FOR ERROR MSG
000000 174204 MOVB  #0,3TXDBUF :LOAD DATA CHAR
000000 173744 MOV #0.$TMP1 :TO BE SHIFTED CHAR
000011 173360 MOV #9. , SHIFT 4 OF SHIFTS
‘;g:e CLK TO GET INTO SYNCRONIZATION
020000 174156 BIS #CLK,aTXCSR :POKE CLK UP
020000 174150 s %gg :ng.arxcsa :POKE CLK DOWN
173714 ) ROR $TMP1  :FORCE CARRY
BCC 2 ‘BR [F CARRY CLR
002000 % BIS #B1TW.RO ;EQUIV OF BITW
020000 174126 ' BIS #CLK,ATXCSR ;POKE CLK UP
020000 174120 BIC #CLK.RTXCSR *POKE CLK DOWN
176114 MOV aTXC$R,RY TACTUAL
075777 BIC 8075777 .R1 ‘SAVE BITW & DNA
g?g RO,R1 :COMPARE EXP VS ACT
. +th
ERROR 3 ;BIT WINDOW DID NOT MATCH ACTUAL DATA
:BiT,...ALSO CHECK DNA
173272 DEC SHIFT  :# OF SHIFTS
BNE 1s 100 IT AGAIN ?
;NOW POKE CLK TO SEE DNA
020000 174066 BIS #CLK,aTXCSR ;POKE (LK
'{;r 10N <[SYMOD>, <SYNINT>
.m MOV #0,R0  ;EXPECTED
100000 'END( MOV #100000,R0 ;EXPECTED
174056 ) MOV aTXCSR,R :ACTUAL
077777 BIC 07777 R *SAVE DNA ONLY
g?g nozn1 :COMPARE EXP VS ACT
¢+
ERROR 3 ;DNA SHOULD BE SET

:1F _DNA DID NOT SET

¢CHECK WORD LENGTH SELECT LOGIC

$TRPAR EIGHT,9.,0DDPAR,SYNINT, 0,400
;3THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
¢sOF THE TRANSMITTER SECTION.
+o 1T ALSO CHECKS DNA TIMING

+ +MODE : SYNINT

SEQ 0069
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GE 62-56
TIALIZE THE COMMON TAGS
J:LENGTH:EIGHT PLUS PAR]TY
:sPARITY:QDDPAR
: s CHARACTER:O
$TSTNO
NEWTST
SNWTST=0
JF B <&
SENEWTEST \$IN,<>,SCIPE
. ]RP ASCl,.<>
JIF EQ SNWTST
NLIST
SNWTST=1
LSBITL 112 ASCI
LIST
STARS
seTEST 12 ASCI
JIFF
ASC]
ENDC
.ENDM
STARS
.AF B
:;ttt
JIFF
NLlSY
.REPT
NLIST
.ENDR
LLIST
ENDC
TST12: SCOPE
$STN=8TN+1
[ ] IFF
SSNEWTEST \$TN, <>,
+ENDC
.JF NE 40008SSWR
.JF NB
JJF LE <=1
1FF MOV #1,8TIMES ::D0 1 JTERATION
MOV #,9TIMES ::D0
ENDC
JENDC
IF NB
MOV #,SLPADR ::SET SCOPE LOOP ADDRESS
LENDC
.IF NB
LIF DF SMAIL
. IRP TNM,<\$TN=1>

Mov #'TNM,STESTN ssSET TEST NUMBER IN APT MAIL BOX

1222282283232 2X2202222222820022 23220222 0RXRRRiRRRdRRRRRRRlRddi

ITERATJONS

SeQ 0070
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CNDUUA . M11 29-0C1-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0071
(3) 001 JENDC
(3) 000 "ENDC
(2) 000000 "REPT 0
(2) NLIST
(2) "RADIX 10
(2) LIST
(2) IR SDNL<\$N>
(2) NEWTST
(2) : MOV #SDN,$TSINM JSAVE THIS
(2) "ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) :.J1F NB <, MOV # ,RETURN :SET UP THIS RETURN
(2) ‘. 11F NB <>, MOV #.1COUNT SSET UP THIS 1COUNT
(2) CU1F NB O
E%i . MOV #,NEXT ;GO TO THIS TEST WHEN THRU
(2) NLIST
(2) .RADIX 10
() LIST
(2) .IRP SDE‘<\SE>
(2) "IF DF TSTYS$DE
(2) : MOV NTST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(2) "ENDM
2) .NLIST
(2) .RADIX 8
(2) LLIST
(2) JIFF
(2) ; MOV #.E0P,NEXT ;GO TO THIS TEST WHEN THRU
() "ENDC
(2) "ENDC
(2) :.11F NB o>, MOV #.LOCK :SET UP FOR SCOPE LOOP
(2) "NLIST
(2) "RADIX 10
(2) SN=$N+1
(2) $SE=SE+1
(2) .RADIX 8
(2) LIST
(2) .ENDR
(1) 005664 TSETUP MINT,SYNINT,EIGHT,ODDPAR,26
(2) 005664 SRESET
(3) 035664 052777 000400 174034 BIS SMRESET,3TXCSR  ;MASTER RESET
(2) 0605672 012777 030000 174022 MOV #SYNINT .@PARCSR :SET THE MODE
(2) 005700 $RESET
23; 005700 052777 000400 174020 BIS SMRESET,aTXCSR  ;MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) CNOTE:BIT WINDOWZCLK ARE CLEARED (MTDATA:=Q)
(5) 005706 (012777 004020 174012 MOV NMINT'SEND,@TXCSR
(2)
(2) SSET HODE # OF BITS,PARITY SENSE.& LOAD SYNC REG
(2) 005714 012777 0370206 174000 MOV #SYNINT'EIGHT 'ODDOPAR ' 26, 3PARCSR
(1) 005722 016703 174000 MOV TXCSR,R3 <SET UP FOR ERROR MSG
(1) 005726 112777 000000 173776 MOVE  #0,aTXDBUF SLOAD DATA CHAR
(1) 005734 012767 000400 173536 MOV 2400,8TMPY ‘TO BE SHIFTED CMAR
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CNDUUA . M1 29-0CT-82 13:27 INITIALI E COMMON TAGS SEQ 0072

005742 012767 000011 173152 MOV #9. SHIFT -# OF SHIFTS

.POKE CLK 10 GET INfO SYNCRONIZAYION
005750 $POKE
005750 052777 020000 173750 8IS #CLK,3TXCSR :POKE (LK UP
005756 042777 020000 173742 BIC #CLK,aTXCSR *POKE CLK DOWN
005764 005000 1$: CLR RO
005766 006067 173506 ROR $TMP1  :FORCE CARRY
005772 103002 BCC 2% :BR If CARRY (LR
882383 052700 002000 2 8IS #81TW,RO SEQUIV OF BITwW
006000 052777 020000 173720 8IS #CLK,BTXCSR ;POKE CLK UP
006006 042777 020000 173712 BIC #CLK,ITXCSR SPOKE CLK DOWN
006014 017701 173706 MOV aTXCSR, R *ACTUAL
006020 042701 075777 BIC #07577% R SSAVE BITW & DNA
006024 020001 C(MP RO.R1 :COMPARE EXP VS A(T
006026 001401 BEQ . ¢4
006030 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA

:BIT,...ALSO CHECK DNA

006032 005367 173064 DEC SHIFT  :# OF SHIFTS
006036 001352 BNE 13 :D0 IT AGAIN ?

:NOW POKE CLK TO SEE DNA
006040 052777 020000 173660 BIS #CLK,@TXCSR :POKE (LK

001 %:T IDN <ISYMOD>,<SYNINT>

FF MOV #0,R0 JEXPECTED
006046 012588 100000 ENDC MOV #100000,R0 :EXPECTED
006052 017701 173650 MOV aTXCSR,RY sACTUAL
006056 042701 077777 BIC w77777.R1 :SAVE DNA ONLY
006062 020001 C(MP RO,R1 :COMPARE EXP VS A(T
006064 001401 BEQ . +4
006066 104003 ERROR 3 :DNA SHOULD BE SET

;1f ONA DID NOT SET
; CHECK WORD LENGTH SELECT LOGIC

006070 $TRPAR EIGHT,9. ,EVEPAR,SYNINT 377,377
::THES TEST VERIFYS CHARACTER PLUS PARITY GENERATION
:;0F THE TRANSMITTER SECTION.
Jo 1T ALSO CHECKS DNA TIMING
2 sMODE : SYNINT
:ILENGTH:EIGHT PLUS PARITY
::PARITY:EVEPAR
;s CHARACTER:377

vvwvkuvvvvvvvvvvvv—.vvVvvvvvv\'vvvvVvvvuvvvvvvvvvvvvvvvvv

AA’\AAAAAAAAAﬁAAAAAA—‘AAAAAA‘\A‘\A’\AAAAAAAAAAAAAAAAA’\AAAAAAA
B BB B0 SHNIANN) =P b b d b e d B P b b e Ve el e ) ol o e s D o D e e b BPNIN) B ah d b B NI b

005070 $TSTNO
006070 NEWTST
000000 $NWTST=0
001 JUF B ©
006070 SSNEWTEST \$TIN,<>,SCOPE
.JRP ASCI, O
LUF EQ SNWTST
LNLIST
SNWIST=1
LS8TTL 113 ASCI
LIST
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002

oo
006070 000004

000014

000
001
002
003

002
002

001
000
000000

4L-DEC-B2

10:02 PAGE 62-59
INITIALIZE THE COMMON TAGS
STARS
:*TEST 13 ASCI
JIFF
ASCI
LENDC
+ENDM
it
;;tttttt'tt'tt‘tﬁtﬁt""""IQ"QtQQ.t'.!"t"ttttti'ttttttl'tt't
LIFF
NLIST
.REPT
LIST
B 22 XX XR 22X 2222X2X222222XX3222X23323222222 22222222 RXK]R 3]
LNLIST
.ENDR
LLIST
.ENDC
TST13: SCOPE
STIN=3TN+?
[ ] lFF
SSNEWTEST \$TN, <>,
LENDC
JJF NE 4000L$SMWR
UF NB
JJF LE <=1>
1FF MOV #1,8TIMES ::D0 1 ITERATION
MOV ¥,8TIMES ::00 ITERATJONS
LENDC
.IfF NB
MOV #,$LPADR ::SET SCOPE LOOP ADDRESS
ENDC
LENDC
.JF NB
.IF DF SMA]JL
. IRP TNM,<\$TN=-1>
ENDM MOV #'TNM, STESTN ::SET TEST NUMBER [N APT MAIL BOX
.EN
LENDC
.ENDC
.REPT O
.NLIST
.RADIX 10
.IRP $DN, <C\SN>
NEWTST
: MOV #SON,STSTNM :SAVE THIS
NLIST
LRADIX 8
LLIST
;.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
:.11F NB <>, MoV #,1COUNT ;SET UP THIS 1COUNT

SEQ 0073
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CNDUUA .M 29- 2 13:27 INITIALIZE THE COMMON TAGS SEQ 0074
(2) ..IF NB <>
t%; e MOV # NEXT :GO TO THIS TEST WHEN THRU
(2) NLIST
(2) LRADIX 10
(2) LIST
(2) . IRP $DE <\$E>
(2) J1F DF TsTY$DE
(2) ; MOV STST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(2) "ENDM
(2) NLIST
(2) .RADIX 8
(2) LIST
(2) JIFF
(2) : MOV #.EOP,NEXT :GO TO THIS TEST WHEN THRU
(2) "ENDC
(2) JENDC
(2) ;. 11F NB <o, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(2) CNLIST
(2) .RADIX 10
(2) SN=SN+1
(2) $SE=SE+1
(2) .RADIX 8
(2) LLIST
(2) .ENDR
(1) 006072 TSETUP MINT,SYNINT,EIGHT ,EVEPAR,26
(2) 006072 $RESET
(3) 006072 052777 000400 173626 8IS #MRESET,.ATXCSR :MASTER RESET
(2) 006100 012777 030000 173614 MOV #SYNINT.3PARCSR :SET THE MODE
(2) 006106 SRESET
gg; 006106 052777 000400 173612 BIS #MRESET,TXCSR :MASTER RESET
(2) :SET MAINTENANCE MODE & SEND
(2) *NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=(0)
:%; 006114 012777 (04020 173604 MOV #MINT!SEND,aTXCSR
(2) :SET MODE.# OF BITS,PARITY SENSE.¥ LOAD SYNC REG
(2) 006122 012777 037426 173572 MOV #SYNINT'EIGHT ! EVEPAR' 26, 3PARCSR
(1) 006130 016703 173572 MOV TXCSR,R3 sSET UP FOR ERROR MSG
(1) 006134 112777 000377 173570 MOVE  #377,aTXDBUF *LOAD DATA CHAR
(1) 006142 012767 000377 173330 MOV #377.$1MP1 :TO BE SHIFTED CHAR
(1) 006150 012767 000011 172744 MOV #9.,SHIFT ‘4 OF SHIFTS
(1) .POKE CLK TO GET INTO SYNCRONIZATION
(1) 006156 $POKE
(2) 006156 052777 020000 173542 BIS #CLK,aTXCSR :POKE CLK UP
(2) 006164 042777 020000 173534 BIC #CLK,aTXCSR :POKE CLK DOWN
(1) 006172 005000 1%: CLR RO
(1) 006174 006067 173300 ROR $TMP1  :FORCE CARRY
(1) 006200 103002 BC( 2% :BR [F CARRY CLR
:}; 88258% 052700 002000 28 BIS #B1TW,R0O ;EQUIV OF BITW
(2) 006206 052777 020000 173512 RIS #CLK,RTXCSR :POKE CLK UP
(2) 006214 042777 020000 173504 BIC #CLK.ATXCSR *POKE CLK DOWN
(1) 006222 017701 173500 MOV ATNCSR,RY SACTUAL
(1) 006226 042701 075777 BIC 8075777 ,R1 *SAVE BITW & DNA
(1) 006232 020001 CMP RO,R1 ' ;COMPARE EXP VS ACT
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006234
006236

006240
006244
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006276
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006276
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o
N
~no
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—twd NN W= 00

006254 012700
200

006260 017701
006264 042701
006270 020001
006272 001401
006274 104003

000000
001

002

N ~r

14-DEC-82 10: 02 PAGE
13:27 NITIALI
172656
+NOW POK
020000 173452 0F
JAFT
OIFF
100000
.ENDC
173442
0?7777
$TRPAR

$TSTNO
NEWTST
SNWTST=0
AF B ©

.1IRP

62-61
It THE COMMON TAGS
BEQ . *4
ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,... ALSO CHECK DNA
DEC SHIFY :# OF SHIFTS
BNE 1% ;DO IT AGAIN ?
E (LK TO SEE DNA
BIS #CLK,a3TXCSR sPOKE (LK
IDN <ISYMOD>, <SYNINT
MOV #0,RO  ;EXPECTED
MOV #100000,R0 JEXPECTED
MOV aTXCSR,R1 sACTUAL
BIC n77777 ,R1 :SAVE DNA ONLY
CMP RO,R1 :COMPARE EXP VS A(T
BEQ Ry
ERROR 3 sDNA SHOULD BE SET
s1F DNA DID NOT SET
sCHECK WORD LENGTH SELECTY LOGIC
EIGHT,9. ,0DDPAR,SYNINT 377,777

s THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION

:s0F THE TRANSMITTER SECTION,
ss1T ALSO CHECKS DNA TIMING
:;MODE:SYNlNT

LENGTH:EIGHT PLUS PARITY
..PARITV ODDPAR
..CHARACTER 377

SSNEWTEST
ASCl,<>

\$TN,<>,SCOPE

JIF EQ SNWTST

.NLIST
SNWTST=1
.SBTTL

't.ttlt'lltt"tt"'t"t"'t.titllllt'itlttllttttt'ttiilt."lt'l

.NLISI

T14 ASCI

4 ASCI

SEQ 0075
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10:02 PAGE 62-62
INITIALIZE THE COMMON TAGS
15714 SCOPE
STN=$TN+1
JFF
$SSNEWTEST
LENDC
JIF NE 4O000R$SWR
JIF NB
JF LE <=1>
1FF MOV #1,8TIMES
MOV #,8TIMES
.ENDC
ENDC
JF NB
MOV #,5LPADR
LENDC
LENDC
JIF DF SMAIL
.IRP TNM,<\$TN=-1>
MOV #'TNM,STESTN
.ENDM
.ENDC
LEND(
.REPT O
NLIST
.RADIX 10
LIST
.IRP $DN,<\SN>
NEWTST
: MOV #SDN,$TSTNM
.NLIST
.RADIX 8
:.11F NB <>, MOV
:.11F NB <>, MOV
:.1F NB O
H MOV # NEXT
JAFF
LRADIX 10
LLIST
. IRP SDE‘<\SE>
JIF DF  TST'S$DE
: MOV #T1ST'SDE ,NEXT
.ENDM
LNLIST
.RADIX 8
.lrf
. MOV # . EOP, NEXT

\$TN,<>,<>

::00 1 JTERATION
;.00 ITERATIONS

:.SET SCOPE LOOP

ADDRESS

:sSET TEST NUMBER IN APT MAIL BOX

:SAVE THIS

# ,RETURN
#,1COUNT

:SEY UP THIS
:SET UP THIS

;GO TO THIS TEST WHAEN THRU

;G0 TO THIS TEST WHEN THRU

:G0 TO THIS TEST WHEN THRU

RETURN
ICOUNT

SEQ 0076
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NN

006300
006300
006300
006306
006314
006314

006322

006330
006336
006342
006350
006356

006364
006364
006372
006400
006402
006406
006410
006414
006414
006422
006430
006434
006440
006442
036444

006446
006452

006454

006462

006466
006472
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1046) 14=DEC=-82 10:02 PAGE 62-63
$-0(T-82 13:27 INITIALIZE THE COMMON TAGS
JENDC
JENDC
:ﬁE{QTNB <, MOV ®,L0CK ;SET UP FOR SCOPE LOOP
.RADIX 10
SN=$SN+1
$SE=SE+1
RADIX
LIST
-ENDR
;sgggP MINT,SYNINT ,EIGHT ,ODDPAR,26
052777 000400 173420 BIS WMRESET,3TXCSR  ;MASTER RESET
012777 030000 173406 SRESET MOV #SYNINT.3PARCSR -SET THE MODE
052777 000400 173404 BIS #MRESET,3TXCSR  ;MASTER RESET
;SET MAINTENANCE MODE & SEND
;NOTE:8IT WINDOWECLK ARE CLEARED (MTDATA=0)
012777 004020 173376 MOV NMINT!SEND,aTXCSR
;SET MODE.# OF BITS,PARITY SENSE.® LOAD SYNC REG
012777 037026 173364 MOV xsvnx NT!EIGHT 'ODDPAR! 26,3PARCSR
016703 173364 MOV TXCSR,R :SET UP FOR ERROR MSG
112777 000377 173362 MOVB 377.a1xoaur ‘LOAD DATA CHAR
012767 000777 173122 MOV 77.srnp1 :TO BE SHIFTED CHAR
012767 000011 172536 MOV #9. SHIFT ‘4 OF SHIFTS
32855 CLK TO GET INTO SYNCRONIZATION
C52777 020000 173334 BIS #CLK,3TXCSR ;POKE CLK UP
042777 020000 173326 BIC #CLK.RTXCSR :POKE CLK DOWN
005000 1$: CLR RO
006067 173072 ROR $TMP1  :FORCE CARRY
103002 BCC 2% *BR IF CARRY CLR
052700 002000 2 BIS #B1TW,RO ;EQUIV OF BITW
052777 020000 173304 BIS #CLK,TXCSR ;POKE CLK UP
042777 020000 173276 BIC #CLK.TXCSR :POKE CLK DOWN
017701 173272 MOV 3TXCSR,RT *ACTUAL
042701 075777 BI(C 2075777 .R1 :SAVE BITW £ DNA
020001 CMP RO,R1  :COMPARE EXP VS ACT
001401 BEQ +£
104003 ERROR ;BIT WINDOW DID NOT MATCH ACTUAL DATA
:BIT,...ALSO CHECK DNA
005367 172450 DEC SHIFT  :# OF SHIFTS
001352 BNE 1$ 200 IT AGAIN ?
sNOW POKE CLK TO SEE DNA
052777 020000 173244 BIS #CLK,aTXCSR ;POKE CLK
001 .};' IDN <ISYMOD>,<SYNINT>
. MOV #0,R0  ;EXPECTED
012688 100000 ENDC MOV #100000,R0 ;EXPECTED
017701 173234 MOV aTXCSR,RY :ACTUAL
042701 077777 BIC 877777 R SSAVE DNA ONLY

SEQ 0077
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E
NITIALI HE COMMON TAGS SEQ 0078
RO,R1 :COMPARE EXP VS A(T

OR 3 :DNA SHOULD BE SET
:1F _DNA DID NOT SET
:CHECK WORD LENGTH SELECT LOGIC

~
a—
-~
o
o

[0 a7 0 .Y o (P WS QR S Y}

THAT BY SENDING ONLY ONE SYN(

ECTED BY STRAPPING ) RECACT =0

NARY CHARACTER (TO BREAK UP THE SEQUENCE:
cessess T WILL TAKE TWO MORE SYNC CHARS

LL ONLY WORK WHEN TWO SYNC CHARS
CTED ...OTHERWISE JUMP AROUND THIS TEST
:sMODE:SYNC INTE (SYNINT)

::PARITY: NOPAR

::LENGTH: EIGHT
P:THIS TEST CHECKS ONLY THE RECEIVER SECTION

006506 $TSTNOD
006504 NEWTST
000000 SNWTST=0
001 JAF B ©
006504 SSNEWTEST \$TN,<>,SCOPE
. JRP ASC], <O
JIF EQ SNWTST
SNWTST=1
.SBTTL 115 ASCI
LIST
STARS
+«TEST 18§ ASC T

JIFF
ASC]
ENDC
.ENDM
006504 STARS
002 IF B
R T R R R Ry R R R R R
.IFF
.NLIST
+REPT
LIST
R L LR R P YRR TR TR R LY
NLIST
.ENDR
JLIST
001 ENDC
006504 000004 TST15: SCOPE
000016 $STIN=$TN+1

ol’F
SINEWTEST \$TN, <>, <>
000 ENDC

(o - Jo o Jo To Yo To Yo To To Jo To To 1o Jo Jo.]
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10:02 PAGE 62-65
INITIALIZE THE COMMON TAGS

.1¢ NE 40002$SWR
IF NB

JAF LE <=1
[FF MOV #,8TIMES
MOV #,8TIMES
LEND(
LENDC
.IF NB
MOV #,8LPADR
LENDC
LENDC
.JF NB
.1F DF SMA]JL
.JRP TNM,<\$TN=1>
MOV #°TNM, STESTN
.ENDM
.ENDC
LENDC
.REPT 0
LNLIST
LRADIX 10
LIST
.IRP $DN,<\SN>
NEWTST
: MOV #SDON,$TSTNM
.ENDM
NLIST
.RADIX 8
LLIST
:.11F NB <>, MOV
:.J1F NB <, MoV
:.1JF NB <>
: MOV # NEXT
JJFF
LNLIST
LRADIX 10
.IRP SDE‘<\SE>
JJF DF  TST'$DE
MOV #TST'SDE,NEXT
.ENDM
NLIST
LRADIX 8
LLIST
JAFF
: MOV # _EOP NEXT
JENDC
.ENDC
:.JJF NB <>, MOV
.NLIST
.RADIX 10
SN=SN+1
$SE=SE+1
.RADIX 8

::00 1 ITERATION
;:D0 JTERATIONS

:.SET SCOPE LOOP ADDRESS

::SET TEST NUMBER [N APT MAIL BOX

: SAVE THIS
# ,RETURN ;SET UP THIS RETURN
#,1COUNT sSET UP THIS ICOUNT

;GO TO THIS TEST WHEN THRU

;G0 TO THIS TEST WHEN THRU

;G0 TO THIS TEST WHEN THRU

#.LOCK SET UP FOR SCOPE LOOP

SEQ 0079
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CNDUUA.M 29-0CT-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0080
(1) .ENDR
8179 006506 105767 172434 TSTB SYNCNO :TEST FOR # OF SYNC CHARS REGUIRED
8180 006512 100127 BPL 2% <IF NOT TWO GET OUT OF TEST
8181 006516 RSETUP HINT SYNINT,EIGHY ,NOPAR, 26
(1) 006516 SRESET
(2) 006514 052777 000400 173204 BIS #MRESET,aTXCSR ;MASTER RESET
(1) 006522 012777 030000 173172 MOV #SYNINT,QPARCSR :SET THE MODE
(1) 006530 $RESET
gg; 006530 052777 000400 173170 BIS #MRESET,aTXCSR ;MASTER RESET
(1) ;SET MAINT DATA,CLK BREAX,EMAINTENANCE MODE
g}; 006536 012777 064001 173162 MOV SMTOATA'CLK 'MINT 'BREAK,aTXCSR
(1) :SET MODE ,# OF BITS,PARITY SENSE,LLOAD SYNC R
(1) 006544 012777 036026 173150 MOV #SYNINT'EIGHT 'NOPAR! 26, apAncsn
8182 006552 $SYNCR
(1) 006552 052777 000020 173132 BIS #FSYNSCH,ORXCSR  :SET SYNC SEARCH
(1) SPOKE CLK TO GET RECEIVER IN1D SYNCROIZATION..
(1) 006560 042777 020000 173140 B1C #CLK,3TXCSR :POKE CLK DOWN
(1) 006566 052777 020000 173132 8IS #CLK,TXCSR :POKE CLK UP
8183 006574 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006574 042777 020000 173124 BI( #CLK,3TXCSR sPOKE CLK DOWN
(1) 006602 052777 020000 173116 BIS #CLK.ATXCSR :POKE CLK UP
8184 006610 012767 000010 172304 MOV #8. ,SHIFT :# OF SHIFTS
8185 006616 012767 000026 172654 MOV #26.8TMP1 SSYNC CHAR TO BE SHIFTED IN
8186 006626 004767 010342 JSR PC,RPOKE SSHIFT IN rnxs SYNC CHAR
8187 006630 032777 004000 173054 BIT #RECACT.aRXCSR :RECACT = 0 ?
8188 006636 001401 BEOQ . *4
8189 006640 104004 ERROR & RECACT SHOULD BE 0
8190 006642 012767 000010 172252 MOV #8.,SHIFT .4 OF SHIFTS
8191 006650 012767 000025 172622 MOV #25.3TMP1 SANY CHARACTER
8192 006656 004767 010310 JSR PC.RPOKE SSHIFT IN THIS CHARACTER
8193 SYOU HAVE JUST LOST SYNCRONIZATION. ...cvveevnnoocsonns.
8194 *POKE THE CLK TWICE TO GET INTO SYNCRONIZATION
B19S5 006662 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006662 062777 020000 173036 BIC #CLK,aTXCSR ;POKE CLK DOWN
(1) 006670 052777 020000 173030 BIS #CLK,ITXCSR :POKE CLK UP
8196 006676 $POKER
(1) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 006676 042777 020000 173022 BIC #CLK,aTXCSR :POKE CLK DOWN
(1) 006704 052777 020000 173014 BIS #CLK.STXCSR :POKE CLK UP
8167 606712 012767 000002 172204 MOV #2,COUNT 8 OF SYNC_CHARS
8198 006720 032777 004000 172764 1$: BIT cnecAct.aaxcsn TRECACT = 0 ?
8199 006726 001401 BEQ L+
8200 006730 104004 ERROR & ;RECACT SHOULD BE O
8201 006732 012767 000010 172162 MOV #8.,SHIFT ‘@ OF SHIFTS
8202 006740 012767 000026 172532 MOV #26.$TMP1 :SYNC CHAR
8203 006746 004767 010220 JSR PC,RPOKE SSHIFT IN THIS SYNC CHAR
8206 006752 005367 172146 DEC COUNT
8205 006756 001360 BNE 1% ;1S COUNT = 0 2 NO GO AGAIN
8206 006760 032777 004000 172724 BIT SRECACT,3RXCSR RECACT = 1 ?
8207 006766 001001 BNE Y
8208 006770 104004 ERROR & :RECACT SHOULD BE ASSERTED

8209 006772 2%:
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002 .JF NB
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ENDC

001 ENDC
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001 ENDC
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CNDUUA . M1 29-0(1-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0082
(2) 001 .I¢ NB
() 00¢ JIF DF SMAIL
(2) .IRP TNM,<\$TN=1>
(2) MOV #°TNM,$TESTN ;:SET TEST NUMBER IN APT MAIL BOX
(2) .ENDM
(2) 001 JENDC
(2) 000 JENDC
(M 000000 "REPT 0
(1) NLIST
1) LRADIX 10
(N LIST
(1) .IRP $ON, <\$N>
(1) NEWTST
(1) ; MOV #SDN,STSTNM :SAVE THIS
1) .ENDM
(1) NLIST
(1) .RADIX
(1) LIST
(1) :.11F NB <, MOV # ,RETURN :SET UP THIS RETURN
(1) :.11F NB <, MOV ¥, COUNT SSET UP THIS ICOUNT
() :.1F NB <>
(1) ¥ OV # NEXT ;GO TO THIS TEST WHEN THRU
(1) CIFF
(1) NLIST
(1) .RADIX 10
(1) LIST
) .IRP $DE  <\$E>
1) JIF DF TSTYSDE
(1) : MOV #TST'SDE,NEXT  :GO TO THIS TEST WHEN THRU
(1) .ENDM
(1) NLIST
(1) .RADIX 8
(1) LIST
(1) .1rr
(1) : MOV # .EOP,NEXT ;GO TO THIS TEST WHEN THRU
(1) LENDC
(1) .ENDC
(1) :.11F NB <>, MOV #,L0CK ;SET UP FOR SCOPE LOOP
) NLIST
(1 LRADIX 10
(1) $N=SN+1
ap $E=SE+
(1) .RADIX 8
(1) LIST
(1) .ENDR
8220 006774 RSETUP MINT,SYNINT,EIGHT,NOPAR,26
(1) 006774 $SRESET
(2) 006774 052777 000400 172724 BIS #MRESET,3TXCSR ;MASTER RESET
(1) 007002 012777 030000 172712 MOV #SYNINT ,3PARCSR ;SET THE MODE
(1) 007010 SRESET
:g; 007010 052777 000400 172710 BIS SMRESET,3TXCSR  :MASTER RESET
(1) SSET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
:}; 007016 012777 064001 172702 MOV SMTOATA'CLK'MINT 'BREAK,3TXCSR
(1) :SET MODE ,# OF BITS,PARITY SENSE,ELOAD SYNC REG
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INITIALIZE THE COMMON TAGS

SPOKER MOV #SYNINT'EIGHT 'NOPAR' 26,aPARCSR
:POKE CLK TO GET LOGIC INTO SYNCRONIZATION

BI( #CLK,3TXCSR SPOKE CLK DOWN

BIS #CLK.3TXCSR *POKE CLK UP
$SPOKER
SPOKE CLK TO GET LOGIC INTO SYNCRONIZATION

BI( #CLK,3TXCSR sPOKE (LK DOWN

BIS #CLK,3TXCSR (POKE (LK UP

MOV #8. SHIFT 24 OF SHIFTS

MOV #125,87mP1 ‘DATA CHARACTER

MOV RXDBUF ,R3 ‘FOR ERROR MESSAGE
1%: ?EE #MTDATA,3TXCSR :CLEAR MAINT DATA

ROR $TMP1  :FORCE CARRY

BCC 2%

BIS SMTDATA,3TXCSR :;SET MTDATA
28: BIC NCLK,DTXCSR :POKE CLK

BIS #CLK.RTXCSR :

MOV #377.R0 ;EXPECTED

MOV aRXDBUF ,R1 SACTUAL

CMP RO,R1

BEQ L+

ERROR 2

SDATA CHARACTER SHOULD COMPARE......

DEC SHIFT ~ :1S IT THE LAST SHIFT ?

BNE is *NO ...SHIFT SOME MORE
gggggg MINT,SYNEXT,EIGHT ,NOPAR, 26

BIS WMRESET,3TXCSR  ;MASTER RESET
SRESET MOV #SYNEXT.PARCSR :SET THE MODE

BIS #MRESET,3TXCSR  ;MASTER RESET
SSET MAINT DATA,CLK,BREAK,BMAINTENANCE MODE

MOV SMTOATA'CLK'MINT 'BREAK,@TXCSR
:SET MODE .# OF BITS,PARITY SENSE,BLOAD SYNC REG
SPOKER MOV #SYNEXT!EIGHT INOPAR'26,aPARCSR

oK

“POKE CLK TO GET LOGIC INTO SYNCRONIZATION

BIC #CLK,ITXCSR ;POKE CLK DOWN

BIS #CLK,8TXCSR ;POKE (LK UP

MOV #8. SHIFT ‘4 OF SHIFTS

MOV #125 . $TMP1 ‘DATA CHARACTER

CLR STMPS

COMB_~ $TMPJ  :MAKE LOW BYTE ALL 1'S

:T0 MATCH RXDBUF'S CONTENTS AFTER A MASTER RESET
5% %1% #MTDATA,@TXCSR  :CLR MAINT DATA

L

ROR $TMP1  :FORCE CARRY

B(( 6%

BIS #MTDATA,ATXCSR
6%: RORB  $TMP2  :PIC(K UP CARRY BT

BIC #CLK,ITXCSR

BIS #CLK.QTXCSR

SEQ 0083
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0
INITIALIZE THE COMMON TAGS

MOV $TMP2,R0 ;EXPECTED
MOV aRXDBUF ,R1 - ACTUAL
CMP RO,R1
BEQ Ry
ERROR 2 -DATA CHARACTER SHOULD COMPARE.
: THE DATA CHARACTER SHOULD BE SEEN AS IT
:SHIFTS ACROSS THE RECEIVER DATA QUTPUT
DEC SHIFT
BNE 5%
::THIS TEST VERIFYS 'x DONE FUNCTION, DONE = 1
JsMODE: SYNC INTERNA
::PARITY: NO PARITY (NDPAR)
SSLENGTH: EJGHT
$1STNOD
NEWTST
$NWTST=0
JF B ©
SSNEWTEST \$TN,<>,SCOPE
.IRP ASC],<»
JF EQ SNWTST
NLIST
SNWTST=1
SBTITL T17 ASCI
LLIST
STARS
;*TEST 17 ASCI
. IFF
ASCI
JENDC
.ENDM
1S
.."tt"tﬁ't'"t""'tt"'t'l’t'tl't'ltt'.ltQl..!"lttttt'!!lltttt
LIFF
NLIST
.REPT
LIS1
;ttttitt'ttttitttt..'t'ttitt"tttl.ttttittitttttttttttittt.tt.it
NLIST
.ENDR
LENDC
TST17: SCOPE
S}?;SIN01
SONEWTEST \$TIN, O, <>
LENDC
JJF NE 4000L$SWR
.IF NB
JJF LE <=1>
' MOV #1,81IMES ;:DC 1 ITERATION

MoV #,8TIMES

::D0  ITERAT]ONS

SEG 0084
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INITIALIZE THE COMMON TAGS

LENDC
.1F NB
MOV #,3LPADR ;:SET SCOPE LOOP ADDRESS

LENDC(

LENDC(

.IF NB

JAF DF SMA]JL

. JRP TNM,<\$TN=1>

ENDM MOV #'TNM,STESTN ::SET TEST NUMBER [N APT MA[L BOX
LENDC

LENDC

.REPT 0

NLIST

LRADIX 10

LLIST

.IRP $ON, <\SN>
NEWTST

: MOV #SON,STSTNM :SAVE THIS

.ENDM

LNLIST

.RADIX 8

:.J1F NB <>, MOV # ,RETURN :SET UF THIS RETURN
;.{ér gB <>, MoV #,1COUNT :SET UP THIS JCOUNT
. NB O

;IFF MOV # NEXT :GO TO THIS TEST WHEN THRU

LNLIST

LRADIX 10

.IRP SDE‘<\SE>

JIF DF  TST'S$DE

: MOV #T1ST*SDE NEXT ;GO TO THIS TEST WHEN THRU
LNLIST

RADIX 8

Sii8

: MOV #.EOP NEXT G0 TO THIS TEST WHEN THRU
.ENDC

.ENDC

:.11F NB <>, mov #,L0CK ;SET UP FOR SCOPE LOOP
LNLIST

LRADIX 10
$N=$N+1

$SE=SE*1

.RADJX 8

TSETUP MINT,SYNINT,EIGHT ,NOPAR, 26

$SRESET

BIS OMRESET ,@TXCSR ;MASTER RESET
MoV #SYNINT ,QPARCSR ;SET THE MODE

StEa 0085
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CNDUUA .M 29-0CT1-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0086
(1) 007372 $RESET
t%; 007372 052777 000400 172326 BIS #MRESET,aTXCSR ;MASTER RESET
(1) :SET MAINTENANCE MODE & SEND
1) sNOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
z}; 0076400 012777 004020 172320 MOV #MINT!SEND,@TXCSR
1) ;SET MODE.,# OF BITS,PARITY SENSE, LOAD SYN(C REG
8%%2 0076406 012777 036026 172306 MOV NSYNINT 'E[GHT'NOPAR'26,8PARCSR
8275 007414 105777 172306 1STB BTXCSR ;s TXDONE?
8276 007420 100401 BM] A
B277 007422 104004 ERROR & s TXDONE SHOULD BE SET
8278 007424 112777 000021 172300 mMove #21,8TXDBUF :LOAD ANY (HAR
8279 007432 $PCKE . POKE (LK TO GET INTO SYNCIRONIZATION
(1) 007432 052777 020000 172266 8IS #CLK,8TXCSR :POKE (LK UP
(1) 007440 042777 020000 172260 BIC #CLK,3TXCSR ;POKE CLK DOWN
8280 007446 105777 172254 1 aTXCSR
8281 007452 100001 BPL YA
g%g% 007456 104004 ERROR & ;TXDONE SHCULD BE (LR
8284 007456 $POKE
(1) 007456 052777 020000 172242 BIS #CLK,a3TXCSR sPOKE (LK UP
(1) 007464 042777 020000 17¢234 BIC #CLK,a3TXCSR ;POKE CLK DOWN
8285 007472 105777 172230 1518 aTXCSR
8286 007476 100401 BM] .t
g%gg 007500 104004 ERROR & ;TXDONE SHOULD BE SET
8289
8290
8291 ::THIS TEST PROVES THAT RXERR FREEZES THE ''RECEIVER
8292 sRESET'' WHILE IN STRIP SYNC MODE
8293 c:THIS TEST FIRST PROVES THAT AUTOMATIC RESETS OCCUR
8294 JWHEN STRIP SYNC IS SET AND SYNC CHARACTERS ARE SENT
8295 :sBUT IF AN ERROR SHOULD OCCUR...THIS AUTOMATIC RESET
8296 +: 1S DISCOMBOBULATED
8297 ::1E: FORCE OVERRUN (OVERRUN) WHILE STRIP SYNC IS SET
8298 ::BY TRANSMITTING A DATA CHARACTER THEN TRANSMIT A SYNC CHARACTER
8299 :;AND DON'T READ THAY DATA CHARACTER. NOTE: NORMALLY THE LOGIC
8300 ::RESETS THE RXDONE & ERROR FLAGS PROVIDING THAT ONLY SYNC CHARACTERS ARE
8301 ::STRIPPED
8302 :;MODE: SYNC EXTERNAL (SYNEXT)
8303 ssLENGTH: EIGHT
gggg ..NOTE THIS TEST USES BOTH RECEIVER AND TRANSMITTER LOGIC
8306
8307 007502 $TSTNO
(1) 007502 NEWTST
(2) 000000 SNWTST=0
(2) 001 JF B O
(2) 007502 SSNEWTEST \$TN,<>,SCOPE
(3) .IRP ASCI, <>
(%) JIF EQ SNWTST
(%) NLIST
(3) SNWIST=1
(%) SBTTL 120 ASCI
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INITIALIZE THE COMMON TAGS

LIST
STARS

s*TEST 20 ASCI
FF

ASCI
-ENDC
.ENDM
STARS
.1f B

WA ARAARRARRARRRRRR022 a0 R0 22R R0 X2RARRRdRRRRRARA] D)

O
o
wv
(a)
o
O
™m

- n

c SSNEWTEST
NE 400028SWR
NB
LE <=1»
MOV #1,8TIMES ::00 1 ITERATION

MOV ¥,$TIMES ::00 ITERATIONS

\$TIN,<>, <
D

L ] [ ) [ ] [ 3 L ] L ]
— = e e Y — wvm

—prrMZIEZ DTMNIE MIZ M NN NEZ ~«Z
O ™

MOV ¥ ,SLPADR s SET SCOPE LOOP ADDRESS

0O
O Zooom

D

SMAIL
TNM, <\$TN=1>
MOV #°TNM,STESTN

L]
FODZOMMM s MM MM
0

soSET TEST NUMBER IN APT MA[L BOX

NO e POOO
g —4

—t— N =R
o

10
JIRP  SDN,<\$N>

NEWTST

: MOV #SDN,STSTNM
.ENDM
JNLIST
LRADIX 8
LLIST
:.J1F NB

:SAVE THIS

<, MOV #,RETURN sSET UP THIS RETURN

sea 0087



CNDUU=A MACY11 30(1046) 14-DEC-B2 10:02 PAGE 62-74

:SET MODEol OF BITS,PARITY SENSE,.& LOAD SYNC REG

CNDUUA . M11 29-0CT-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0088
(1) ;. 11F NB <o, MOV #,1COUNT :SET UP THIS I1COUNT
(1) s JF NB <
t}; ’lrr MOV ¥ NEXT ;G0 TO THIS TEST WHEN THRU
(1 NLIST
(1) LRADIX 10
(1) LIST
(1) .IRP $DE  <\$E>
(1) JIF DF  TSTYSDE
() : MOV #TST'SDE  NEXT :G0 TO THIS TEST WHEN THRY
(1) .ENDM
) NLIST
) .RADIX 8
(1) LLIST
) JFF
(1) : MOV ».EOP,NEXT ;60 TO THIS TEST WHEN THRU
(1) LENDC
(1) JENDC
(1) :.1IF NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(1 NLIST
(1} LRADIX 10
A1) SN=SN+1
(1) SE=SE+1
(1) .RADIX 8
1) LLIST
(1) .ENDR
8308
8309 007506 TSETUP MINT,SYNEXT,EIGHT ,NOPAR,26
(1) 007504 $RESET
(2) 007506 052777 000400 172214 BIS #MRESET,aTXCSR ;MASTER RESET
(1) 007512 012777 020000 172202 MOV #SYNEXT,BPARCSR :SET THE MODE
(1) 007520 SRESET
i%; 007520 052777 000400 172200 BIS #MRESET,3TXCSR ;MASTER RESET
(1) ;SET MAINTENANCE MODE & SEND
A1) sNOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
g}; 007526 012777 004020 172172 MOV #MINT'SEND,@TXCSR
(1)
(1) 007534 012777 026026 172160 #SYNEXT'EIGHT !NOPAR' 26,3PARCSR
8310 007542 112777 000026 172162 MOVB #26,3TXDBUF ;LOAD SYNC CHAR
8311 007550 052777 000420 172134 8IS #SYNSCH'STPSYN,3RXCSR ~ :SET SYNC SEARCH & STRIP SYNC
8312 007556 016703 172134 MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
8313 007562 012767 000003 171334 MOV #3,COUNT *# OF TIMES SYNC WILL BE SENT
8314 007570 $POKE

(1) 007570 052777 020000 172130 BIS #CLK,BTXCSR :POKE CLK UP

(1) 007576 042777 020000 172122 BIC #CLK,3TXCSR :POKE CLK DOWN
gg}g 88;2?3 012767 000010 171310 ggz MOV #8.,SHIFT :# OF SHIFTS

(1) 007612 052777 020000 172106 BIS #CLK,3TXCSR :POKE CLK UP

(1) 007620 042777 020000 172100 BIC #CLK,3TXCSR :POKE CLK DOWN
8317 007626 005367 171270 DEC SHIFT
8318 007632 001367 BNE 1%
8319 007634 105777 172052 £31:] aRXCSR ; RKDONE?
8320 007640 100001 BPL RY)
8321 007642 104004 ERROR & :RXDONE SHOULD NOT ASSERT
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CNDUUA.M11 29-0CT1-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0089
8322 007644 005367 171254 DEC COUNT
8323 007650 001355 BNE 2%
8324 007652 012700 000026 MOV #26,R0 :EXPECTED
8325 007656 017701 172034 MOV aRXDBUF ,R1 TACTUAL
8326 007662 020001 CMP RO, R1
8327 007664 001401 BEQ .+
8328 007666 104002 ERROR 2 :NOTE THAT OVERRUN SHOULD NOT OCCUR, ALSO
8329 "SECOND € 31D SYNC CHARACTER CAME FROM
8330 stc HOLDING REGISTER
8331 007670 012767 000003 171226 MOV #3_ COUNT ¥ OF TIMES
8332 007676 112777 000025 172026 MOVB  #25,3TXDBUF SLOAD ANY CHAR....HOWEVER...
8333 :ONE MORE SYNC CHAR WILL BE SENT BEFORE
8334 STHE "'25" CHAR IS SENT (THE DNA BIT IS
g%%g ALREADV upP)
gggg 007704 012767 000010 171210 4$: MOV #8. ,SHIFT ;4 OF SHIFTS
8339 007712 3%:
(1) 007712 052777 020000 172006 BIS #CLK,ITXCSR :POKE CLK UP
(1) 007720 042777 020000 172000 BIC #CLK.RTXCSR :POKE CLK DOWN
8340 007726 005367 171170 DEC SHIFT
8341 007732 001367 BNE 3¢
8342 007734 005367 171164 DE( COUNT
8343 007740 001361 BNE 4%
8344 007742 105777 171746 TSTB  @RXCSR :RXDONE = 1 ?
8345 007746 100401 BM] L+
8346 007750 104004 ERROR & :RXDONE SHOULD BE SET
8347 007752 012700 140026 MOV ¥RXERR ' OVRRUN'26,R0 ;EXPECTED
8348 007756 017701 171736 MOV aRXDBUF ,R1 SACTUAL
8349 007762 020001 CMP RO,R1
8350 007764 001401 BEQ .+,
8351 007766 104002 ERROR 2 :NOTE THAT OVRRUN SHOULD OCCUR,
8352 *ALSO SECOND SYNC CHARACTER CAME
8353 SFROM SYNC HOLDING REGISTER
8354 SUMMARY THE OVRRUN STOPPED
8355 :THE AUTOMATIC RESETTING OF
gggg *RXDONE & ERROR FLAGS.....CHECK THIS
8358 s:THIS TEST VERIFYS THAT EITHER SEQUENCE OF
8359 SSLOADING TXDBUF AND SETTING SEND
8360 13DOES CAUSE TRANSMISSION
8361 ;:MODE: SYNC EXT
8362 sLENGTH:  EIGHT
8363 ¥
8364 007770 $istno
(1) 007770 NEWTST
(2) 000000 SNWTST=0
(2) 001 JAF B8 ©
(2) 007770 SSNEWTEST \$TN,<>,SCOPE
(3 JRP ASCI, <O
(3) “IF EQ S$NWTST
(%) LNLIST
%3] $NWTST=1
(3) LSBITL 121 ASCI
(3) LLIST
(3) STARS
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;*TEST 21 ASCI
.IFF
AS(]

o~
w
-~

ENDC
.ENDM
007770 STARS
002 AF B
A I R I
.IFF
«NLIST
.REPT
LIST

AR A R R A R A A Al I R IR R I T I T Y™

«NLIST

001
007770 000004 TST21: SCOPE
000022 $TN=$TN+1
$SSNEWTEST \S$TIN, <>,
000 ENDC
001 .JF NE 400083SWR
002 .IF NB
003 JF LE <=1>
MOV #1,8TIMES :2:00 1 ITERATION

MOV #,8T1IMES .00 ITERATIONS

PN NN N o, P PN P P, P P P P P
PIPORI N NN BN B 85 L5 D55 B s B B NN NN

L ]
2 ™
O -
m

MOV ¥ ,$LPADR +;SET SCCPE LOOP ADDRESS

o
o
=7
®
oo
Q2 Zove

ol ]

SMAIL
TNM,<\$TN=1>
MOV #'TNM,STESTN s.SET TEST NUMBER N APT MAIL 80X

©

001
000
000000

L] [ ] L] L]
DEZDMMN bt s MM = MM e
o

L ] [ ] e ° [ ] [ ]
PrMFII DN IZZT

OV O0C
—N =YV

K -y

10
$DN,<\SN>
MOV #SDN,STSTINM +SAVE THIS

—r
) e
own

-

NEWTST

~ENDM
NLIST
.RADIX 8

NB <, MOV
ge <>, MOV

Uvvvvvvvvvvvvvvwv\avvvvvvavvvvvvvvvvvvuvvvvvvwvvvvvvvvv
-—b
e o @

o0
[elasl

TURN <SET UP THIS RETURN
OUNT :SET UP THIS ICOUNT

h‘\—\ﬂﬂf\‘\ﬂﬂl\l\ﬂl\l\l\t\AAI\AAAAAAAAAAAAAAAAA4-\
%R
* 9

-t h ) ol i el ) il i e e P == PNI NI N NI NI NI NI NI P A NI PRI PO D
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z}; . MOV #NEXT ;GO TO TH!S TEST WHEN THRU
(1) NLIST
(1) LRADIX 10
(1) LIST
(1) JIRP  $DE <\$E>
(1) IF DF  TST$DE
(1) MOV NTST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(1) * ENDM
(1) .NLIST
(1) LRADIX B8
1) LLIST
(1) CIFF
(1) ; MOV #.EOP,NEXT :GO TO THIS TEST WHEN THRU
(1) JENDC
(1) JENDC
(1) ;. 11f NB <, MOV #,L0CK :SET UP FOR SCOPE LOOP
(1) NLIST
(1) LRADIX 10
1) SN=$N+1
(1) SE=SE+1
(1) .RADIX 8
(1) LIST
(1) .ENDR
8365
8366 007772 TSETUP MINT,SYNEXT,EIGHT,NOPAR,26
(1) 007772 SRESET
(2) 007772 052777 000400 171726 8IS #MRESET,3TXCSR :MASTER RESET
(1) 010000 012777 020000 171714 MOV #SYNEXT.3PARCSR :SET THE MODE
(1) 010006 SRESET
ggg 010006 052777 000400 171712 BIS #MRESET,3TXCSR  :MASTER RESET
(1) ;SET MAINTENANCE MODE § SEND
(1) NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
:}; 010014 012777 004020 171704 hov #MINT ! SEND,3TXCSR
(1) ;SET MODE,# OF BITS,PARITY SENSE,L LOAD SYNC REG
(1) 010022 012777 026026 171672 A0V #SYNEXTIEIGHT !NOPAR' 26, 3PARCSR
8367 010030 016703 171672 MOV TXCSR,R3 sSET UP FOR ERROR MESSAGE
8368 010034 042777 000020 173064 BIC :seno.arxcsn :DROP SEND
8369 010042 012767 000025 171430 MOV #25,$TMP1
8370 010050 112777 000025 171654 MOVB  #25.3TXDBUF :LOAD CHARACTER
8371 010056 052777 000020 171642 BIS #SEND,RTXCSR :SET SEND
8372 .GET INTO SYNCRONIZATION
8373 010064 $POKE
(1) 010064 052777 020000 171634 BIS #CLK,RTXCSR :POKE CLK UP
«1) 010072 042777 020000 171626 BiC #CLK.ATXCSR *POKE CLK DOWN
8374 010100 012767 000010 171014 MOV #8.,SHIFT 8 OF SHIFTS
8375 010106 005000 1$: CLR RO
8376 010110 006067 171364 0% $TMPI
8377 010114 103002 BC( 2%
gg;g 010116 052700 002000 8iS #B81TW,RO :EQUIV OF 81T WINDOW
8380 010122 2%:
(1) 010122 052777 020000 171576 BIS #CLK,BTXCSR :POKE (LK UP
(1) 010130 042777 020000 171570 BIC #CLK.QTXCSR *POKE CLK DOWN
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8381 010136 017701 171564 MOV aTXCSR,R1 :ACTUAL
8382 010142 042701 075777 BIC #07577¢%.R1 SSAVE B1T WINDOW £ DNA
8383 010146 020001 CMP RO,R1
8384 010150 001401 BEQ L +4
8385 010152 104003 ERROR 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA BIT
8386 TALSO CHECK DNA
8387 010154 005367 170742 DEC SHIFT
8388 010160 001352 BNE is
8389
8390
8391
8392 ;THIS TEST VERIFYS THAT DROPPING OF SEND IN THE
8393 <:MIDDLE OF TRANSMITTING A CHARACTER DOES INDEED
8194 STFINISH TRANSMITTING THAT CHARACTER
8395 1IMODE: SYNC EXT
8396 J:LENGTH: EIGHT
8397 HH
8398
8399 010162 $TSTNO
(1) 010162 NEWTST
2) 000000 SNWTST=0
(2) 001 AF B ©
(2) 010162 SSNEWTEST \$TN,<>,SCOPE
(%) .IRP ASC],O
(3) CIF EQ SNWTST
% NLIST
(%) SNWTST=1
(3) LSBITL 122 ASCI
«3) LLIST
(&) STARS
(3) sTEST 22 ASCI
(3) IFF
(3) ASC]
(3 JENDC
(3 .ENDM
(3) 010162 STARS
(4) 002 .IF B8
(l,) .';ttttttittt'ttit"tttl!titttttttttitIttttttt'l'.'.tiQ'lt'tt!.'tt
(4) .IFF
(4) .NLIST
(4) .REPT
(&) LIST
(4) NN R AR RN RN AR R RO NP E R TR R RRTRRNCTANIATRACORORTEOTOROOMQONITNS
(&) NLIST
(&) .ENDR
(4) LIST
(4) 001 .ENDC
52; 010162 000004 1$722: SCOPE
(3) 000023 $TN=$TN+
(2) LIFF
(2) SENEWTEST \$TIN,<C>,O
() 000 .ENDC
(2) 001 .IF NE 4000L$SWR
(2) 00?2 “IF NB
(2) 003 JF LE <=1>
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:5; IFE MoV #1,8TIMES ::D0 1 JTERATION
(2) MOV #,8TIMES ::00 ITERATJIONS
(2) 002 JENDC
(2) 001 ENDC
(2) 002 Jf NB
(2) MOV #,.8LPADR ::SET SCOPE LOOP ADDRESS
(2) 001 JENDC
(2) 000 ENDC
(2) 001 JIF NB
(?) 002 JIF DF SMAIL
(2) .IRP TNM,<\$TN=1>
(2) MOV # TNM,STESTN +:SET TEST NUMBER IN APT MAIL BOX
(2) JENDM
(2) 001 JENDC
(2) 000 LENDC
(1) 000000 REPT 0
(1) NLIST
(1) LRADIX 10
) LLIST
Q) .IRP $DN,<\S\>
(1) NEWTST
) MOV #SDN,STSTNM :SAVE THIS
(1) .ENDM
(1) NLIST
(1) .RADIX 8
() LIST
) ;. 1IF NB <, MoV ¥ ,RETURN ;SET UP THIS RETURN
(1) :.11F NB <>, MOV #, 1 COUNT :SET UP THIS ICOUNT
1) : JF NB O
1) : MOV # NEXT :G0 TO THIS TEST WHEN THRU
() JFF
(1) NLIST
A1) .RADIX 10
(1) LIST
(1) .IRF $DE , <\SE>
1) JF DF  TST'SDE
(1) : MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(1) ENDM
(1) NLIST
) .RADIX 8
(1) LLIST
(1) FF
1) : MoV #.E0P NEXT ;60 TO THIS TEST WHEN THRU
(1) LENDC
(1) LEND(
(1) :.1IF NB <, MoV #,LO0CK :SET UP FOR SCOPE LOOP
(1) NL]IST
(1) RADIX 10
4} SN=SN+1
(1) SE=$E+1
(1) RADIX 8
() LIST
(1) ENDR
8400
8401 010164 TSETUP MINT,SYNEXT,EIGHT ,NOPAR,26
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(1) 010164 $RESET
(2) 010164 052777 000400 171534 BIS #MRESET,aTXCSR ;MASTER RESET
(1) 010172 012777 020000 171522 MOV NSYNEXT,@PARCSR ;SET THE MODE
(1) 010200 $RESET
t%i 010200 052777 000400 171520 BIS #MRESET,3TXCSR ;MASTER RESET
(1) :SET MAINTENANCE MODE & SEND
() “NOTE:BIT WINDOWRCLK ARE CLEARED (MTDATA=0)
f}; 010206 012777 004020 171512 MOV #MINT'SEND,aTXCSR
(1) ;SET MODE n OF BITS,PARITY SENSE,& LOAD SYNC REG
(1) 010214 012777 026026 171500 #SYNEXT'EIGHT 'NOPAR! 26,aPAR(SR )
8402 010222 016703 171500 nov TXCSR,R3 :SETUP FOR ERROR MESSAGE
8603 010226 112777 000252 171476 MOV8 #252,3TXDBUF SLOAD DATA CHAR.
8404 010234 012767 000252 171236 MOV 8252 .$TMP1 SSHISTED CHAR
840S 010242 012767 000010 170652 MOV #8.,SHIFT ¥ OF SHIFTS
8406 :GET INTO SYNCRONIZATION
8407 010250 $POKE
(1) 010250 052777 020000 171450 8IS #CLK,BTXCSR :POKE CLK UP
8£85 010256 042777 020000 171442 BIC #CLK.ATXCSR :POKE CLK DOWN
8409 010264 005000 1$: (LR RO
8410 010266 006067 171206 ROR $TMP1 ;FORCE CARRY
8611 010272 103002 BCC 2%
gt}g 010274 052700 002000 BIS #B1TW.RO :EQUIV OF BIT WINDOW
8414 010300 2% :
(1) 010300 052777 020000 171420 B'S #CLK,3TXCSR ;POKE CLK UP
(1) 010306 042777 020000 171412 BIC #CLK,ATXCSR :POKE CLK DOWN
8415 010314 017701 171406 POV aTXCSR,R1 *ACTUAL
8616 010320 042701 075777 31C #07577%,R1 *SAVE ONLY BIT WINDOW & DNA
8617 010326 020001 ‘MP RO,R1
8418 010326 001401 &€0 RYA
8419 010330 104003 EFROR 3 :BIT WINDOW DID NOT MAT(H
8420 :ACTUAL DATA BIT
8421 010332 005367 170564 DEC SHIFT
8422 010336 022767 000003 170556 (MP ®,,SHIFT
8423 010344 001003 BNE $
8424 010346 042777 000020 171352 BIC #SEND,aTXCSR :DROP SEND
8625 010354 005767 1705642 3¢: ST SHIFT
8426 010360 001341 BNE 1s ;D0 IT AGAIN?
8427
i
8430 ::THIS TEST VERIFYS THAT RXDONE ASSERTS WHEN STRIP SYNC IS SET
8431 ::MODE: SYNC INTERNAL
8432 ;s sLENGTH: EIGHT
8433 ‘.
8434 010362 $1STNOD
(1) 010362 NEWTST
(2) 000000 SNWTST=0
(2) 001 JF 8 ©
(2) 010362 $SNEWTEST \$1N,<>,SCOPE
(3) JRP  ASCI,¢>
(3) "IF EG SNWTST
(3) NLIST
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(3)

(3)

(3)

(3)

(3)

(3)

(3)

(3

(3)

(3) 010362

(&) 002
(4)

(4)

(L)

(L)

(&)

(4)

(4)

(&)

(4)

(4) 001
t%; 010362 000004
(3) 0000264
(2)

(2}

(2) 000
(2) 001
(2) 002
(2} 003
(2)

(2)

(2)

(2) 002
(2) 001
(2) 002
(2)

(2) 001
(2) 000
(2) 001
(2) 002
(2)

(2)

(2)

(2) 001
(2) 000
1) 000000
(1)

1)

(1)

(1)

1)

(1)

(1)

(1)

(1)
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81
INITIALIZE THE COMMON TAGS

SNJTST=
LSBITL 7123 ASCI

WU —
-—f
N
(V]

ASCI

e % (Ne

X 1aalasl — B =4

ASCl

DO MDD Wn»
DNIEH

FNenPZZ >

D E oo
m
o
-

e o o & Sew (Ne

—
—
w
g

B4 2322 X2X22222 2202232322222 22200 202 RRRRRRRaRRdltRRdRRRRRlRllld)

€ 40008$5WR

E <=1
MOV #1,8TIMES

MoV #,8TIMES

220
@

MOV ¥ ,$LPADR

DF SMAIL

N
; NB
RP TNM,<\$TN-1>

MOV # TNM,STESTN

. IRP $DN, <\$SN>
NEWTST

"ENDM
NLIST
"RADIX 8

MOV #SON,STSTNM

ARG ERCRERAN RN RN C NN O RN NC RN ORNANANANARNNNRRNRNRARAROEBOOOCOQTEORERONRTS

SSNEWTEST \$IN, <>,

::00 1 ITERATION
;.00 ITERATIONS

:sSET SCOPE LOOP ADDRESS

2:sSET TEST NUMBER IN APT MAJL 80X

s SAVE THIS

SEQ 0095
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1) LIST
(1) :.J1F NB <, MoV # ,RETURN :SET UP THIS RETURN
) :.J1f NB <, MoV #,ICOUNT JSET UP THIS ICOUNT
(1) ..IF NB <O
t}; 'IFF MOV # NEXT ;G0 TO TH]S TEST WHEN THRU
(1) .NLIST
(1) RADIX 10
(1) L1187
(1) .IRP SDE‘<\SE>
(N JIF DF  TST'$DE
(1) : MOV #TST'SDE, NEXT ;60 TO THIS TEST WHEN THRU
(1) .ENDM
(1) NLIST
(1) LRADIX 8
(1) LLIST
(1) JIFF
(1) : MOV #.EOP NEXT ;GO TO THIS TEST WHEN THRU
(1) JENDC
) JENDC
(1 :.11F NB <, MOV #,L0Ck ;SET UP FOR SCOPE LOOP
(1) NLIST
(@) ADIX 10
(1) $N=$N+1
(M SE=SE+1
(1) L.RADIX 8
QP LLIST
G D) .ENDR
8435 010364 RSETUP MINT,SYNINT,EIGHT , NOPAR,Z6
(1) 010364 $SRESET
(2) 010364 052777 000490 171334 BIS #MRESET,aTXCSR ;MASTER RESET
(1) 010372 012777 030000 171322 MOV #SYNINT ,aPARCSR ;SET THE MODE
(1) 010400 SRESET
z%; 010400 052777 000400 171320 BIS #MRESET ,aTXCSR ;MASTER RESET
(1) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
5}; 010406 012777 0640017 171312 MOV #MTDATA'CLK 'MINT 'BREAK,3TXCSR
(1) ;SET MODE .# OF BITS,PARITY SENSE,LLOAD SYNC REG
8(;A 010414 012777 036026 171300 MOV cSVNlNI'ElGHT'NOPAR‘Zb aPAR(SR
&4
g:gg 010422 052777 000420 171262 BIS #SYNSCH!STPSYN, aR§CS?P SY&E‘ SYNC SEAR(H &
8439 :POKE CLK TO GETV RECEIVER INTO SYNCRONIZATION......
8440 010430 042777 020000 171270 81C #CLK,aTXCSR ;POKE CLK
8441 010436 052777 020000 171262 81S #CLK,8TXCSR :
8442 010444 $POKER
(1) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(1) 010444 042777 020000 171254 BIC #CLK,8TXCSR ;POKE CLK¥ DOWN
(1) 010452 052777 020000 171246 BIS #CLK,aTXCSR sPOKE (LK UP
8443 010460 016703 171232 MOV RXDBUi R3 ;FOR ERROR MESSAGE
B4LL 010464 012767 000002 170432 MOV #2,(0U NT :# OF TIMES OF SYNC CHARS.
B844S JTEST T0 SEE HOW MANY SYNC CHARS NEEDED
8446 010472 105767 170450 1STB SYNCNO
8447 010476 100402 BM] 1% ;WILL 1T BE ONE OR TWwO ?
8448 (010500 005367 170420 DEC COUNT ;MAKE [T ONE LESS
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8449 010504 012767 000010 170410 3$: MOV #8,,SHIFT ;#OF SHIFTS
B4SO 010512 012767 000026 170760 MOV #26,8TMP1 :SYNC CHAR
8451 010520 004767 006446 JSR PC,RPOKE
B4S2 010524 005367 170374 DI¢ COUNT  :IS IT THE LAST SYNC (HAR ?
8453 010530 001365 BNE 1% ;GO AGAIN AND SHIFT [N ANOTHER SYNC (HAR
8454 010532 032777 004000 171152 8]7 #RECACT,aRXCSR ;RECACT=1?
8455 010540 001001 BNE YA
8456 010542 104004 ERROR & :RECACT SHOULD BE ASSERTED
8457 010544 105777 171142 1ST18 aRX(SR :RXDONE=0?
8458 010550 100001 BPL . *h
8459 010552 104004 ERROR & :RXDONE SHOULD NOT BE ASSERTED
84660 010554 012767 000010 170340 MOV #8, ,SHIFT ;MOF SHIFTS
84661 010562 012767 000025 170710 MOV #25,8TMPT ;ANY CHARACTER
8462 010570 004767 006376 JSR PC,RPOKE
8463 010574 105777 171112 1S718 aRX(SR ;RXDONE=1?
8464 010600 100401 BM] RTA
8465 010602 1040604 ERROR & :RXDONE SHOULD NOW BE ASSERTED
8466 010604 012700 000025 MOV #25,R0 ;EXPECTED
8467 010610 017700 171102 MoV aRXDBUF ,R1 :ACTUAL
8468 010614 020001 CMP RO,R1
8469 010616 001401 BEQ .*4
gz;? 019620 104002 ERROR 2 :CHARACTERS SHOULD BE MATCHED
8472
8473
8474 ::THIS TEST VERIFYS THAT BY DROPPING SYNSCH
8475 ::IN THE MIDDLE OF A CHARACTER, SYNC CHARACTER SEQUENCE
8476 ::1S NEEDED BEFORE RECACT, RXDONE ASSERT AGAIN.
8477 ;:ALSO NOTE: SINCE RECACT IS DEPENDENT ON MAT(CH DETECT,
8478 ::AND IF SYNSCH IS DROPPED IN THE MIDDLE OF
8479 ::A SYNC CHARACTER AND THEN RAJSED AGAIN ;RXDONE SHOULD
8480 ::NOT ASSERT UNTIL NEW SYNC CHARACTER SEQUENCE........ HOWE VER
8481 ::ONE ''PAD'" CHARACTER MUST PRECEED THIS JUGGLING OF SEARCH SYNC (SYNSCH)
8482 ::MODE: SYNC INTERNAL (SYNINT:
8483 ::LENGTH: EIGHT
8484 M
8485
B486 010622 $TSTNO
(1) 010622 NEWTST
(2) 000000 SNWTIST=0
(2) 001 JF B <O
(2) 010622 SSNEWTEST \$TN,<>,SCOPE
&) .IRP ASC],<>
(3) JIF EQ SNWIST
(3) NLIST
(3) SNWTST=1
3 LSBTTL 124 ASCI
%) LLIST
(3 STARS
%) seTEST 24 ASC1
(3) JAFF
3) ASCI
(3) LENDC
(3) LENDM
(3) 010622 STARS
(&) 002 .IF B
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22222 X2 X2 X222 RX23 222222220 XRR RN AR RN RD)

JFF
.REPT
LLIST
::i't't't"tt.t"'0""""0t"QQ."t't"tt'.tt"'tt't.'tl"t"t.
LNLIST
LENDR
LLIST
LENDC
1ST24: SCOPE
$TN=STN+
IFF
SSNEWTEST \$IN,<>,<>
ENDC
.JF NE 4O00RSSWR
.IF NB
JF LE <=1>
1FF MOV #1,8TIMES ::D0 1 ITERATION
MOV #,8TIMES ::D0  JTERATIONS
JENDC
JENDC
.JF NB
MOV #,3LPADR :sSET SCOPE LOOF ADDRESS
JENDC
LENDC
.JF NB
JUF DF SMAIL
IIRP INM,<\$TN-1>
MOV #'TNM,STESTN ::SET TEST NUMBER [N APT MAIL BOX
.ENDM
LENDC
JENDC(
REPT 0
.NLIST
LRADIX 10
LLIST

.IRP $DN ., <\¢N>

NEWTST
MOV #SDN,STSTNM
ENDM
NLIST
LRADIX 8
;.11F NB <>, MOV
;.11F NB <>, MOV
;.1F NB <
: MOV # ,NEXT ;GO0 TO
JIFF
.NLIST
LRADIX 10
LLIST
. IRP $DE‘<\SE>
JIF DF TST'SDE

:SAVE TH]S
# ,RETURN :SET UP TH
¥, 1COUNT :SET UP TH

THIS TEST WHEN THRU

1S RETURN
IS 1COUNT

SEQ 0098
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(1)
(1)
(1)
()
(1)
1)
(1)
(1)
1)
1)
(1)
(1)
1)
1)
N
1)
(1)
8487
8488 0106264
(1) 010624
(2) 010626 052777
(1) 010632 012777
(1) 010640
g%; 010640 052777
(1)
:}; 010646 012777
1)
(1) 010656 012777
8489
8490 010662
i}; 010662 052777
(1) 010670 042777
(1) 010676 052777
8??} 010704
(1) 010704 042777
(1) 010712 052777
8492 010720 012767
8493 010726 016703
8494 010732 012767
8495 010740 012767
8496 010746 004767
8497 010752 005367
8498 010756 001403
8499
8500 010760 105767
8501 010764 100762
8502
8503 010766 032777
85064 010774 001001
8505 010776 104004
8506 011000 105777
8507 011004 100001

) 14-D
2 13:27

000400
030000

000400
064001
036026
000020

020000
020000

ol elielalelola)
NOOONONN
OO MNVOO

170162

004000

170706

DEC-82 10:02 PAGE 62-85

INITIALIZE THE COMMON TAGS

;60 TO THIS TEST WHEN THRU

;GO TO THIS TEST WHEN THRU

#,LOCK ;SET UP FOR SCOTE .COP

:MASTER RESET

#SYNINT ,@PARCSR ;SET THE MODE

sMASTER RESET

ENANCE MODE
!BREAK,8TXCSR

ZLOAD SYN(C REG
PAR'!26,3PARCSR

sSET SYNC SEARCH

sPOKE CLK TO GET RECEIVER INTO SYNCROIZATION....

.POKE CLK DOWN
+POKE CLK UP

;POKE CLK DOWN
:POKE CLK UP

:# OF TIMES

¢FOR ERROR MESSAGE
:# OF SHIFTS

:SYNC (HAR.

sRECACT=1?

;RECACT SHOULD BE SET

s MOV #TST'SDE  NEXT
.ENDM
NLIST
LRADIX 8
LLIST
.lFF
H MOV ¥ . EOP,NEXT
+JEND(
JENDC
:.11F NB <>, MoV
.NLIST
LRADIX 10
SN=$N+]
$E=SE+1
.RADIX 8
LLIST
ENDR
r E;g? MINT,SYNINT,EIGHT ,NOPAR, 26
R
171074 BIS #MRESET,aTXCSR
171062 MOV
SRESET
171060 BIS #MRESET,@TXCSR
:SET MAINT DATA,CLK,BREAK,EMA
171052 MOV #MMTDATACLK!
sSET MODE ,# OF BITS,PARITY
171040 MOV #SYNINT'!EIGHT!
$SYNCR
171022 8IS #SYNSCH,aRX(CSR
171030 BI(C #CLK,3TXCSR
171022 BIS #CLK,aTXCSR
$POKER
sPOKE CLK TO GET LOGIC INTD SYNCRON]ZATION
171014 BIC #CLK,aTXCSR
171006 BIS #CLK,8TXCSR
170176 MOV | Y COUNT
MOV RXDBUF RY
170162 1$: MOV lB..SHlF!
170532 MOV #26,3TMPY
JSR PC,RPOKE
DEC COUNT
BEQ 2%
;TEST 1O SEE HOW MANY SYNC CHARACTERS NEEDED
1S78 SYNCNO
BM] 1%
170716 2%: g&g #RECACT ,aRX(SR
ERROR &
ISIB aRXCSR ;RXDONE

BPL

*h

= 02

SEQ 0099
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CNDUUA . MY 29-0CT-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0100
8508 011006 104004 ERROR & :RXDONE SHOULD = 0
8509 :THE_FOLLOWING ALLOWS THE RECEIVER '‘CHIP'' TQ RECOGNIZE THE DROPPING OF SYNSCH
8510 :...BASICALLY IT SIMULATES THE 'PAD CHARACTER REQUIREMENT AT THE END
8511 0F DATA rannsrea.
8512 ‘ONE "'PAD'* CHARACTER IS REQUIRED TO FLUSH OUT SYNC CHARACTER
8513 AND es.YOU HAVE TO DROP SYNSCH ON THE NEXT OR FOLLOWING CHARACTER
8514 :FOR "CLEAN" RESTARY
8515 011010 012767 000010 179104 MOV 3. ,SHIFT @ OF SHIFTS
8516 011016 012767 000025 173454 MOV #25°81MP S"DAD'* CHARACTER
8517 011026 004767 006142 JSR PC . RPOKE TSHIFT IN '‘PAD™ CHARACTER
8518 011030 105777 170656 TSTB aRXCSR :RXDONE = 1 ?
8519 011034 100401 BM] . +h
8520 011036 104004 ERROR & :RXDONE SHOULD = 1
8521 011040 0177017 170652 MOV aRXDBUF R1 :STORE ACTUAL £ CLEAR RXDONE
8522 011044 012700 000025 MOV #25,R0 “;EXPECTED
8523 011050 020001 CMP RO,R1  :COMPARE EXPECTED DATA VS ACTUAL DATA
8524 011052 001401 BEQ YA
8525 011054 104002 ERROR 2 :DATA SHOULD COMPARE WITHOUT ERROR FLAGS
8526 STHE FOLLOWING 1S THE SYNC CHARACTER AFTER THE ''PAD'* CHARACTER
8527 TIN WHICH seancu SYNC (SYNSCH) IS JUGGLED TO CREATE AN ABORT SITUATION
8528 AT THE END OF A DATA TRANSFER SEQUENCE
8529 011056 012767 000004 170036 MOV 86 SHIFT :# OF SHIFTS
8530 011066 012767 000026 170406 MOV #26,$TMP 1SYNC CHAR.
8531 011072 004767 006074 JSR P" .RPOKE
8532 011076 032777 004000 170606 BIT #RECACT,3RXCSR ;RECACT=1?
8533 011104 001001 BNE .4
8534 011106 104004 ERROR & ;RECACT SHOULD STILL BE SET
8535 011110 105777 170576 TSTB @RXCSR :RXDONE = 0 ?
8536 011114 100001 BPL .+4
8537 011116 104004 ERROR 4 :RXDONE SHOULD = O FROM PREVIOUS READING OF RXDBUF
8538 011120 042777 000020 170564 BIS #SYNSCH,3RXCSR  :DROP SEARCH SYNC
8539 011126 032777 004000 170556 BIT #RECACT.3RXCSR :RECACT=0?
8540 011134 001401 BEQ . +4
8541 011136 104004 ERROR & 'RECACT SHOULD NOT BE SET
8542 :NOW SHIFT TWO BITS TO ALLOW SEARCH SYNC =0 TO TAKE
8543 “EFFECT IN THE LOGIC(THIS ALLOWS THE RECEIVER CHIP TO SEE
8544 :THE DROPPING OF SEARCH SYNC)
8545 011140 012767 000002 167754 MOV #2,SHIFT 4 OF SHIFTS
8546 011146 004767 006020 JSR PC .RPOKE
8547 011152 052777 000020 170532 BIS #SYNSCH,aRXCSR  :SET SEARCH SYNC
8548 011160 032777 004000 170524 BIT #RECACT .aRXCSR
8549 011166 001401 BEQ .4
8550 011170 104004 ERROR 4 SRECACT =0 ?
8551 011172 105777 170514 TSTB  aRXCSR :RXDONE = 0 ?
8552 011176 100001 BPL Y
§553 011200 104004 ERROR & :RXDONE = 0 ?
8554 (11202 012767 000002 167712 MOV #2,SHIFT <8 OF SHIFTS TO FINISH UP THE SYNC CHARACTER
8555 011210 004767 005756 JSR PC .RPOKE
8556 011214 032777 004000 170470 BIT SRECACT,3RXCSR  ;RECACT=0?
8557 011222 001401 BEQ Y
8558 011226 104004 ERROR 4 -RECACT SHOULD NOT BE SET
8559 011226 105777 170460 TSTB  @RXCSR ;RXDONE=0?
8560 011232 100001 BPL 04
8561 011234 104004 ERROR :RXDONE SHOULD NOT BE ASSERTED
8562 011236 012700 000025 MOV czs RO SEXPECTED
8563 011242 017701 170450 MOV aRXDBUF ,R1 TACTUAL
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2 PAGE 62-87
INITIALIZE THE COMMON TAGS
g?g ROLRI ; COMPARE EXPECTED VS ACTUAL
W
ERROR 2 : CHARACTERS SHOULD BE MATCHED....o0000s

“REMBEMBER THAT THE '' 25 ' FROZE WHEN SYNSCH WAS DROPPED
-THEREFORE ....25 WILL BE READ AND NOT 26
;THE FOLLOWING VERIFYS THAT THE RE SYNCRONIZATION COMES UP ''CLEAN''
MOV #2,COUNT :# OF TIMES OF SYNC CHARS.

STEST TO SCE HOW MANY SYNC CHARS NEEDED
TSTB  SYNCND :HOW MANY SYNCS ARE YOU STRAPPED FOR ?

BM] 3 sWILL IT BE ONE OR TWO ?
DEC COUNT  :IT WAS ONLY ONE NEEDED
3%: MOV #8.,SHIFY <HOF SHIFTS

MOV #26,$TMP1
JSR PC,RPOKE

: SYNC CHAR

DEC COUNT ;IS IT THE LAST SYNC CHAR ?
BNE 1% ;G0 AGAIN AND SHIFT IN ANOTHER SYN( CHAW
gég JRECACT.GRXCSR ;RECACT=1?

¢

ERROR & sRECACT SHOULD BE ASSERTED

1STB aRXCSR :RXDONE=0?

ERROR & :RXDONE SHOULD NOT BE ASSERTED
MOV #8.,SHIFT s#OF SHIFTS

MOV #25,81MP1 ;ANY CHARACTER

JSR PC,RPOKE

1S18 aRXCSR ;RXDONE=1?

BMI .+

ERROR 4 :RXDONE SHOULD NOW BE ASSERTED
MOV #25,R0 <EXPECTED

MOV aRXDBUF ,R1 sACTUAL

(MP RO, R

8EQ .+

ERROR 2 : CHARACTERS SHOULD BE MATCHED

::THIS TEST VERIFYS THAT HDX MODE DISQUALIFIES THE
JJRECEIVER WHEN SEND IS ASSERTED

JsMODE: SYN(C EXT

;sLENGTH: EIGHT

sNOTE: THIS TEST WORKS ONLY IN MAINT. EXTERNAL MODE
:;THIS TEST USES BOTH RECEIVER & TRANSMITTER LOGIC

$TSTND
NEWTST
SNWTIST=0
JIF B ©
SSNEWTEST \$TN,<>,SCOPE
JRP ASCI,L <>
JIF EQ S$NWTST
NLIST
$NWTST=1
LSBTTL 125 ASCI
LLIST
STARS
SeTEST 25 ASCI

SEQ 0101
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CNDUUA . M1 29-0CT1-8
(3)
(3)
(3)
(3)
(3) 011412
(4) 002
(4)
(4)
(4)
(4)
(4)
(4)
(6)
(4)
(4)
(4) 001
gg; 011412 000004
(3) 000026
(2)
(2)
(2) 000
(2) o0
(2) 002
(2) 003
(2)
(2)
(2)
(2) 002
(2) 001
(2) 002
(2)
(2) 001
(2) 000
(2) oo
2) 002
(2)
(2)
(2)
(2) 001
(2) 000
(1) 000000
(1)
(1)
(N
(1)
(1)
(1
(1)
(1
(1)
(1)
(1)
(1)
(1)
()

) 1
2 13

4L=DEC-82

2

7

10:02 PAGE 62-88

INITIALIZE THE COMMON TAGS

A 2222222220282 20R00RR R R 202 2000 R RRRARRRERRRRRRANRARD)

cl-‘F
ASCI
STARS
F B
JAFF
NLIST
.REPT
LIST
NLIST
.ENDR
LEND
T1S125: SCOPE
STN=STN+1
.IFF
SSNEWTEST
LENCC
JJF NE 40008$SWR
.IF NB
JIF LE <=1>
1FF MOV #1,8TIMES
MOV ¥, 9TIMES
.ENDC
LENDC
.JF NB
MOV #,SLPADR
ENDC
.ENDC
.1F NB
LIF DF SMAIJL
.IRP TNM,<\$TN=1>
MOV #'TNM,STESTN
.ENDM
LENDC
LENDC
.REPT 0
LNLIST
LRADIX 10
LIST
. IRP $DN,<\SN>
NEWTST
: MOV #SDN,STSTNM
.ENDM
.RADIX 8
L1IST
;. 11F NB <>, MOV
:.JIF NB <>, MOV
:JJF NB O
: MOV # ,NEXT

':'.tl.'.'t.tt"’ﬁ""""t"Q't'.'.lt.i'!lt!"'l'.t.t"'..".tt.

\$TN, O, <>

;:D0 1 ITERATION
::D0 ITERATIONS

:+SET SCOPE LOOP ADDRESS

:oSET TEST NUMBER IN APT MA[L BOX

:SAVE THIS
¥ ,RETURN sSET UP THIS RETURN
#,1COUNT SSET UP THIS ICOUNT

;G0 T0 THIS TEST WHEN THRU

SEQ 0102
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190 CNDUUA.M1T 29-0CT-82 13:27 INITIALIZE THE COMMON TAGS SEQ 0103
(1) JIEF
(1) NLIST
() RADIX 10
(1) LIST
(1) JIRP  SDE <\$E>
(N “IF DF  1STY$DE
(N : MOV #TST'SDE,NEXT ;GO TO THIS TEST WHEN THRU
(1 "ENDM
(1) NLIST
(1) RADIX 8
(1) LIST
(1) CIFF
() : MOV #.EOP,NEXT ;GO TO THIS TEST WHEN THRU
(N "ENDC
(M "ENDC
(1) ;. 11F NB o, MOV #,L0CK :SET UP FOR SCOPE LOOP
(1) INLIST
(M "RADIX 10
(1) SN=SN+1
(M $SE=$E+1
() LRADIX 8
(1) LIST
(1) "ENDR
8608 011414 105767 167533 TSTB  JMRBY L
8609 011420 100155 BPL 1% ;GET OUT OF THIS TEST IF *'NO
8610 011422 016703 170270 MOV RXDBUF ,R3 "FOR ERROR MLSSAGE
8611 011426 TSETUP MEXT,SYNEXT,EIGHT,NOPAR, 56
(1) 011426 SRESET
(2) 011426 052777 000400 170272 BIS NMRESET,3TXCSR ;MASTER RESET
g}; 8}}223 012777 020000 170260 SRESET MOV #SYNEXT.3PARCSR :SET THE MODE
gg; 011442 052777 000400 170256 BIS #MRESET,3TXCSR :MASTER RESET
(1) :SET MAINTENANCE MODE & SEND
(1) :NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
f}; 011450 012777 010020 170250 MOV #MEXT!SEND,aTXCSR
(1) :SET MODE,¥ OF BITS,PARITY SENSE,E LOAD SYNC REG
(1) 011456 012777 026026 170236 MOV #SYNEXT! excnr'nopAnszo.apAacsn
8612 011466 052777 000020 170220 BIS #SYNSCH,BR xcsn ;SET SEARCH SYNC
8613 011472 112777 000025 170232 MOVB  #25,3TXDBUF TANY CHARACTER
8614 :POKE CLK FOR SYNCRONIZATION
8615 011500 PUSSYFOOT
(1) 0611500 052777 020000 170220 BIS #CLK,ATXCSR :POKE CLK UP
(N ;WAIT FOR CABLE & DRIVER DELAYS
(1) 011506 016702 167406 MOV HOLD,R2 :WAIT THIS AMT
(1) 011512 005302 DEC R? CWALT
5;; 011514 001376 erEu,EuI =2
(1) 011516 042777 020000 170202 BIC #CLK,3TXCSR :POKE CLK DOWN
(1) ;WAIT FOR CABLE & DRIVER DELAYS
(1) 0115264 016702 167370 MOV HOLD,R2 :WAIT THIS AMT
(1) 011530 005302 DEC R2 TWALT
g}; 011532 001376 8?511 =2
8616 01153¢ 012767 000010 167360 MOV #8.,SHIFT 4 OF SHIFTS
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091 CNDUUA . M11 29-0CT-82 13:27 NITIALIZE THE COMMON TAGS SEQ 0104
8617 011542 2%:
(1) 011542 052777 020000 170156 BIS #CLK,BTXCSR :POKE CLK UP
(1) ) :WAIT FOR CABLE & ORIVER DELAYS
(1) 011550 016702 167344 MOV HOLD,R?2 UAIT THIS AMT
(1) 011554 005302 DEC P2 WALT
2}; 011556 001376 82511 =2
(1) 011560 042777 020000 179140 BIC #CLK,BTXCSR :POKE CLK DOWN
(1) :WAIT FOR CABLE & DRIVER DELAYS
(1) 011566 016702 167326 MOV HOLD,R2 qur THIS AMT
(1) 0311572 005302 DEC R2 WALT
{}; 011576 001376 egs =2
8618 011576 005367 167320 DEC "SHIFT  :# OF SHIFTS
8619 011602 022767 000003 167312 CMP ¥3,SHIFT SIS IT TIME TO LOAD NEXT CHAR ?
8620 011610 001003 BNE 38’
8621 011612 112777 000024 170112 MOVB  #24,aTXDBUF :LOAD NFXT CHAR.
8622 011620 005767 167276 3$: E31 SHIFT
8623 011626 001346 BNE 2¢
8624 011626 105777 170060 TSTB  @RXCSR :RXDONE=1?
8625 011632 100401 BMI . +4
8626 011636 10460064 ERROR & ;RXDONE SHOULD BE SET
8627 011636 012700 000025 MOV #25,R0 ;EXPECTED
8628 011642 017701 170050 MOV aRXDBUF ,R1 *ACTUAL
8629 011646 020001 CMP RO,R1
8630 011650 001401 BEQ . +4
8631 011652 104002 ERROR 2 : CHARACTERS SHOULD COMPARE
8632 011654 052777 000010 170044 8IS NHDXEN,BTXCSR  :SET HALF DUPLEX HDX
8633 011662 012767 000010 167232 MOV #8.,SHIFT ‘¥ OF SHIFT
8634 011670 43:
(1) 011670 052777 020000 170030 BIS #CLK,3TXCSR :POKE (LK UP
(1) :WAIT FOR CABLE & DRIVER DELAYS
(1) 011676 016702 167216 MOV HOLD,R? UAIT THIS AMT
(1) 011702 005302 DEC R2 WAIT
z“ Vli706 001376 el&” .2
(1) 011706 042777 020000 170012 BIC #CLK.BTXCSR :POKE CLK DOWN
N SWAIT FOR CABLE & DRIVER DELAYS
(1) 011714 016702 167200 MOV HOLD,R2 qur THIS AMIT
(1) 011720 005302 DEC R2 WAIT
(1) 011722 001376 BNE =2
(1) :EX]T...
8635 011724 005367 167172 DEC SHIFT
8636 011730 001357 BNE L%
8637 011732 105777 167754 TSTB  @RXCSR :RXDONE=0?
8638 011736 100001 BPL Y
8639 011740 104004 ERROR & :RXDONE SHOULD NOT BE ASSERTED
8640 :CHECK OUT HDX LOGIC
8641 011242 017701 167750 MOV anxoaur.n1 *ACTUAL
8642 011746 020001 CMP RO,R1
8643 011750 001401 BEQ L+
8644 011752 104002 ERROR 2 : CHARACTERS SHOULD COMPARE
8645 “NOTE THAT CHARACTER 25 WILL BE FROZEN
8646 “IN THE RXDBUF EVEN THOUGH CHARACTER 24 WAS
8647 ‘SENT TO THE RECE[VER
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8649 011754 1$:

HE COMMON TAGS SEQ 0105

THAT B8R

A EAK FORCES A SPACE CONDITICN
LE_TRANSMITTIN
B? ECEI

ER AND TRANSMITTER LOGIC

VERIF
E WHI
USES
C EX
IGHT

<M

TH THE R

BESH . - MODE: T (SYNEXT)
8656 ..LENGTH

8657 ‘e

$TSTNO
NEWTST
000900 SNWTST=0
001 JAF B O
011754 SSNEWTEST \$TN,<>,SCOPE
.IRP ASCl,<>
JF EQ SNWTST
SNWTST=1
SBITL 126 ASCI
LIST
STARS
;*TEST 26 ASCI

OO
—
— b
~N~
F

011754 STARS
002 IF B
T T LR TR R
JIFF
NLIST
.REPT
.LIST

2233222222222 2X222328232382232332022232200dR2RRRRRRRRRRRRR ARl

NLIST

T Nt N S S Sl S St St N S S St S st st St vt~ D)

oM .EN
011754 000004 1ST26: SCOPE
000027 STN=$TN+1

JIFF

SSNEWTEST \$TN, O,
000 JENDC
JIF NE 4000RSSWR
002 JIF
003 JF LE <=1
1f MOV #1,8TIMES ::00 1V ITERATION

MOV ¥, $TIMES ::D0  ITERAT]ONS
002 ENDC

001 ENDC
002 .1f NB

001 .ENDC

e Y Y e et in il e ininialatleleatatateale tatateala e talalalal Al A

LSS N NN STV NL ST N ST NIVIIWITVIY O o o ol o o o P o P W [V TV TV T TV IV VIV IV TV TW TN I (o8 Bl Al Al

MOV ¥ ,5LPADR :.SET SCOPE LOOP ADDRESS

\—vwvvvvvvuvvvvvvvvvvv
-—

~no
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(NDUUA .M 29-0(1-82 13%:27 INITIALIZE THE COMMON TAGS SEQ 0106
(2) 000 JENDC
(2) 001 .If NB
(2) 002 JIF DF SMA]L
(2) .IRP TNM,<\S$TN=-1>
(2) MoV #'TNM, STESTN ::SET TEST NUMBER IN APT MAIL BOX
(2) LENDM
(2) 001 LENDC
(2) 000 LEND(
(1) 000000 LREPT 0
(1) NLIST
(1) .RADIX 10
(1) LIST
(1) . IRP $DN, <C\SN>
(1) NEWTST
1) : MOV #SON,STSTNM JSAVE THIS
1) .ENDM
1) LNLIST
1) LRADIX 8
) LIST
(1) ;.11F NB <, MOV # ,RETURN ;SET UP THIS RETURN
1) :.11F NB <>, MOV #,1COUNT :SET UP THIS ICOUNT
1) :.JF NB <
1) : MOV # NEXT ;G0 TO THIS TEST WHFN THRU -
(1) .IFF
(1) NLIST
(1) LRADIX 10
1) LIST
(1) .IRP SDE‘<\SE>
(1) I1F DF TST'S$DE
(1) MOV #TST'SDE ,NEXT :G0 TO THIS TEST WHEN THRU
(1) .ENDM
) NLJIST
(1) LRADIX 8
(1 LIST
(1) .IFF
(1) : MOV # . EOP NEXT ;60 TO THIS TEST WHEN THRU
1) JENDC
(1) LENDC
(1) :.J1F NB <, MOV #,L0CK ;SET UP FOR SCOPE LOOP
) +NLIST
1) LRADIX 10
(1) SN=SN+1
(1) $E=SE+1
(1) RADIX 8
1) LIST
(1) .ENDR
8660 011756 TSETUP MINT, SYNEXT,EIGHT ,NOPAR,26
(1) 011756 SRESET
(2) 011756 052777 000400 167742 8IS #MRESET ,8TXCSR ;MASTER RESET
(1) 011764 012777 020000 167730 MOV #SYNEXT ,@PARCSR :SET THE MODE
(1) 011772 $RESET
:%; 011772 052777 000400 167726 BIS #MRESETY,BTXCSR  ;MASTER RESET
(1) :SET MAINTENANCE MODE & SEND
(1 :NOTE:BIT WINDOWRBCLK ARE CLEARED (MTDATA:=()
(1) 012000 012777 004020 167720 MOV #MINT'SEND,8TXCSR
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10:02 PAGE 62-93

INITIALIZE THE COMMON TAGS

SSET MODE # OF BITS,PARITY SENSE.L LOAD SYNC REG
MOV #SYNEXT'EIGHT 'NOPAR' 26, aPARCSR
BIS #SYNSCH. @RXCSR  ;SET SEARCH SYNC
MOV RXDBUF ,R3 :FOR ERROR MESSAGE
MOV #2 . COUNT ‘# OF TIMES
move  #25,3T1X0BUF *ANY CHARACTER
;POKE CLK FOR SYNCRONIZATION
$POKE
BIS #CLK,aTXCSR ;POKE CLK UP
BIC #CLK.DTXCSR :POKE (LK DOWN
MOV #25, RO EXPECTED
1$: MOV #8. SHIFT '# OF SHIFTS
2$:
8IS #CLK,aTXCSR ;POKE (LK UP
BIC #CLK . BTXCSR *POKE CLK DOWN
DEC SHIFT
CMP #3,SHIFT
BNE $
MOVB  #24,aTXDBUF :LOAD NEXT CHAR
38 ST SHIFT
BNE 2%
TSTB  @RX(SR :RXDONE=1?
BM] Y
ERROR 4
MOV aRXDBUF ,R1 - ACTUAL
CMP RO,R1
BEQ RYA
ERROR 3
BIS NBREAK,ATXCSR  ;SET BREAK
MOV #0,R0 SEXPECTED
DEC COUNT
BNE 1%

ssTHIS TEST VERIFYS THAT DSC CAUSES AN INTERRUPT
,,THIS TEST ONLY WORKS [N MAINT EXTERNAL MODE
: INTERRUPT VECTOR: DURIV

§7STNO
NEWTST
SNWTST=0
JUF B o

SSNEWTEST
.IRP ASCI,<>

F EQ SNWTST

L1127

ASCI

ASCI

\$IN,<>,SCOPE

SEQ 0107
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AAAﬂaAa‘hAAAA‘AAAAAﬁA'\AAARAAAAAAAAAAQAAAAAA’-\AAAAAAAAAAAA
- e W ey W e Yt N P NP WP P NP NP W W W N N N e st o N N N N N N S it N Nt Nt S N Nt it N N Nt P N N N st A N T Nt st A Nt

012176
002

001
012176 0009204
000030

001
000
000000

10:02 PAGE 62-9

INITIALIZE E COMMON TAGS

STARS
.lF B

:il.t".t.tt.."."t!Q""'tt"'ttt'tlttttt"Qtt"t'tt'tt'tt""'
JIFF

NLIST

.REPT

LIST

::."t"tt'l'."""""""""'1'.'t'..'.li'i‘lti.i"""t"t"'

.NLIST

A IST
LENDC
18127: SCOPE
$IN=8TN+1
JFF
SONEWTEST \$IN, >,
lF NE 40002%$SWR
.JF NB
JJF LE <=1>
- Mov #1,8TIMES +:D0 1 ITERATION
MOV #,37TIMES ::D0 ITERATIONS
LENDC
LENDC(
MOV #,S5LPADR :sSET SCOPE LOOP ADTwEd>
LENDC
LENDC
CIF NB
JIF DF SMAIL
.IRP TNM,<\$TN=1>
ENDM MoV #°'TNM, STESTN ::SET TEST NUMBER IN APT MAIL BOX
.EN
ENDC
JENDC
.REPT 0
NLIST
RADIX 10
.IRP $DN, <\SN>
NEWTST
: MOV #SDN,STSTNM ;SAVE THIS
.ENDM
«NLIST
LRADIX 8
LLIST
:.11F NB <>, MOV # ,RETURN :SET UP THIS RETURN
'°}§F gB <, MOV #, 1 COUNT :SET UP THIS ICOUNT
e NB O
'lfr MOV # ,NEXT G0 TO THIS TEST WHEN THRU
.NL

SEa 0108
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(1) JRP_ $DE <\$E>
(1) JJF DF  TST'S$DE
(1 : MOV #TST'SDE  NEXT ;G0 TO THIS TEST WHEN THRU
1) .ENDM
ap JNLIST
(1) LRADIX 8
(1) LIST
(1 .IFF
(M . MOV #.EOP _NEXT :6) TO THIS TEST WHEN THRU
) ENDC
(1) +LND(
1) :.11F NB <, MOV #,L0CK ;SET UP FOR SCOPE LOOP
(1) LNLIST
&P LRADIX 10
() $N=$N+1
1) $SE=SE+1
(1) LRADIX 8
1) LLIST
(1) .ENDR
8694 012200 105767 166747 ISTB JMRBY :IN MAINT EXTERNAL?
8695 012204 100073 BPL 1% :1F ANSWER NO JUMP ARQUND TEST
8696 012206 SRESET
(1) 012206 052777 000400 167512 8IS #MRESET,8TXCSR ;MASTER RESET
8697 012214 105767 166731 1S18 OPTCLR ;IS THE OPTIONAL CLR JUMPER IN ?
8698 012220 100405 BM] 5% YES
B699 012222 012777 000000 167462 MOV #0,3RXCSR ;CLR THE UNRLSETTABLE BJTS
8700 012230 005777 167456 TST SRXCSR ;GET RID OF DSC BY READING RX(CSR
8701 012234 012777 012256 167474 5%: MOV #4% ,aDURIYV :SET UP TRAPCATCHER
8702 012242 016777 004564 167470 MOV DUPRT ,aDURIS :
8703 012250 106427 000000 MTPS 80 sALLOW INTERRUPTS
8704 012254 000422 BR 1% :JUMP AROUND INTERRUPT SVC ROUTINE
8705 ;THE FOLLOWING IS THE INTERRUPT SV( ROUTINE
8706 012256 106427 000300 4% : MTPS #300 ;DON'T ALLOW ANYMORE INTERRUPTS
8707 012262 005777 167424 187 aRXCSR :0SC=1?
8708 012266 100401 8M] . *4
8709 012270 104004 ERROR A JFALSE INTERRUPT
8710 012272 042777 000040 167412 B8]C #DSINTE ,8RXCSR ;CLEAR INTERRUPT ENABLE
8711 012300 012716 012370 MOV #2%,(SP) :SET UP RETURN LOCATION
B712 012304 016777 167430 167424 MOV DURIS.,aDURIV :RESTORE TRAPCAT(CHER
8713 012%12 012777 000000 167420 MOV #0,aDURIS :
g;}g 012320 000002 RT]
8716 012322 052777 000040 167362 1%: BIS #DSINTE ,aRXCSR ;SET [NTERRUPT ENABLE
8717 012330 052777 000002 167354 BIS #DTR,IRXCSR :TRY 10 CAUSE INTERRUPT
8718 012336 005000 CLR RO
8719 012340 005200 INC RO :WAIT FOR INTERRUPT
8720 012342 001376 BNE .=
8721 012344 016777 167370 167364 MOV DURIS,8DURIV :RESTORE TRAPCATCHER
g;g% 012352 0127772 000000 167360 MOV #0,380URIS :
8724 012360 042777 000040 167324 BIC #DSINTE ,@RXCSR ;CLEAR INTERRUPT ENABLE
8725 012366 104004 ERROR 4 :INTERRUPT FAILED YO OCCUR
8726 012370 106427 000300 2%: MIPS #300
g;gg 012374 3s:
8729 01237¢ PRGEND <DUV1T CNDUU=A TAPE E>,<END OF PASS TAPE E>
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:3; 012374 $EOP .BEGIN
(2) 000012 LRADIX 10
(2) 000000 SN=$N-1
(2) 000010 L.RADIX 8
(2) ;END OF PASS
(2) “TYPE NAME OF TEST
(2) :UPDATE PASS COUNT
(2) ;CHECK FOR EXIT TO ACT=-11
55; :RESTART TEST
(2) 012374 000004 LEOP: SCOPE
(2) 012376 004767 000340 JSR PC,CKSWR
(2) 012402 104401 TYPE :TYPE NAME OF TEST
(2) 012404 015532 MEPASS
(2) 012406 104413 012640 CONVRT  ,OUTCRY
(2) 012412 104401 0153%1 TYPE LOEVICE
(2) 012416 105767 166530 1518 MULTD  ;ARE YOU RUNNING MULTJPLE DEVICES ?
(2) 012422 001511 BEQ cce :NO, JUMP AROUND
(2) 012624 005767 166536 TST ACTREG ARE ANY DEVICES ACTIVE ?
(2) 012430 001007 BNE RUNIT VES
(2) 012432 104401 015363 TYPE ,MCOW
(2) 012436 016700 166524 MOV ACTREG, Rb :DISPLAY ACTREG
(2) 012442 000000 HALT :SELECT SOMETHING TO RUN @ ACTREG:
(2) SSELELT SWITCHES & HIT CONTINUE (PUT SW00 =1)
(2) 012444 000167 167502 JMP .START ;START OVER AGAIN...... YOU DESELECTED EVERYTHING
(2) 012450 062767 000010 166476 RUNIT: ADD #10,BASEADD :NEXT BLOCK (ADDRESSES)
(2) 012456 062767 000010 166476 2ERO:  ADD #10,BASEIV sNEXT BLOCK (VECTORS)
(2) 012464 000246 CLC
(2) 012466 006167 166476 ROL ROTADD :UP DATE ROTATING POINTER
(2) 012472 103410 BCS 3 IS 1T THE LAST DEVICE
(2) ;70 BE TESTED IN THIS PASS ?
(2) 012476 (36767 166470 166464 BIT ROTADD,ACTREG  :;TEST THIS DEVICE FOR ACTIVE STATUS
(2) 012502 001762 BEQ RUNIT  ;IF NOT ACTIVE, TRY NEXT ADDRESS
(2) 012504 004767 000034 JSR PC,REPLAY :CALCULATE NEW PARAME TERS
(2) 012510 000167 000210 JMP RESTRY ;YES IT WAS ACTIVE,TEST THIS DEVICE
(2) 012514 012767 000001 166446 2%: MOV #1,ROTADD :0K!' ,NOW SET UP ROTATING
(2) POINTER FOR NEXT MULTIPLE PASS
(2) 012522 016767 166430 166424 MOV KEEPADD ,BASEADD ;RESTORE BASE ADDRESS
(2) 012530 016767 166430 166424 MOV KEEPIV,.BASEIV  ;RESTORE BASE INTERRUPT VECTORS
(2) 012536 004767 000002 JSR PC,REPLAY :CALC NEW PARAMETERS
(2) 012542 000441 BR CCC :JUMP AROUND REPLAY
(2) 012544 Q16767 166404 004416 REPLAY: MOV BASEADD ,DUBASE ;SET UP FOR NEW ADDRESSES
(2) 012552 004767 004260 ] JSR PC,DUADDR ;CREATE NEW ADDRESSES
(2) 012556 0167¢7 166400 16715¢ MOV BASEIV,DUR]YV ;CREATE DURLV
(2) 012564 062767 000002 166370 ADD #2 ,BASEIV
(2) 012572 016767 166364 167140 MOV BASE]V,DURIS :CREATE DURIS
(2) 012600 062767 000002 166354 ADD #2,BASEIV
(2) 012606 016767 166350 167126 MOV BASEIV,DUTIV ;CREATE DUTIV
(2) 012614 062767 000002 166340 ADD #2 ,BASE IV
(2) 012622 016767 166334 167114 MOV BASEIV,DUTIS ;CREATE DUTIS
(2) 012630 016767 167102 166324 MOV DURIV,BASEILV ;RESTORE
:5; 012636 000207 RTS PC
(2) 012640 000001 OQUTCRY: 1
(2) 012647 006 002 LBYTE 6,2
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012646 (01712 RXCSR
012646 ccc:
012046 005067 166530 CLR $TSTNM :CLEAR TEST NUMBER
012652 005067 166540 (LR $ERRP( ;CLEAR LAST ERROR P(
012656 005067 166521 (LR $ERFLG :CLEAR ERROR FLAG
012662 005267 166224 INC PASCNT JUPDATE PASS COUNT
012666 016767 166220 165206 MOV PASCNT,LIGHTS :DISPLAY PASS COUNT
012674 016767 166212 166632 MOV PASCNT ,SPASS :PASS COUNT TQ APT
012702 0137017 000042 MOV aNL2 R ;CHECK FOR A(T=11 QR DDP
012706 001406 BEQ RESTRT :1F NO CONTINUE TESTING
012710 000005 RESFT
012712 000905 RESET
012714 004711 $ENDAD: JSR PC,(RT)
012716 000240 NOP
012720 000240 NOP
012722 000240 NOP
012724 RESTRT:
012726 012767 003376 166454 MOV #T1ST1+2 ,$LPADR ;LOAD LAST ADDR
012732 004767 000004 JSR PC,(KSWR
012736 000167 170346 JMP .BEGIN
012742 $(k

sCHECK SWITCH REGISTER ROUTINE.
sCHECKS TO ALLOW FOR <*G> TO ALLOW
: THE CHANGING OF LOCATION 176

012742 005737 000042 C(KSWR: TST Y 1Y

012746 003040 BNE ouT

012750 022767 000176 166462 CMP #SWREG, SWR :SOF TWARE SWR PRESENT?
012756 001034 BNE ouT iNO==LEAVE
012760 105777 166460 1ST8 a$TKS ‘CHECK TTY READY
012766 100031 BPL ouT INO--LEAVE
012766 017767 166454 000422 MOV as$TKkB, .MSG ‘GET CHARACTER
012774 042767 177600 000414 BIC 0177600, .MSG SSTRIP JUNK
013002 122767 000007 000406 C(MPB  #7,.MSG YIS IT <*6> ?
013010 001017 BNE ouf *ND

013012 104401 016137 TYPE JMONTG

013016 005137 013056 CNTLU:  COM A#RDSW

013022 104401 016147 TYPE ,MMSWR

013026 104413 CONVRT

013030 013060 SWRE GL

013032 104406 016160 INSTR,MMNEWV

013036 104410 PARAM

013040 000000

013062 177777 127777

013044 000176 SWRE G

013046 000 001 .BYTE 0.1

013050 005037 013056 ouT : CLR aFRDSW

013054 000207 RTS PC

013056 000000 RDSW: .WORD O

013060 000001 SWREGL: 1

013062 006 002 BYTE 6,2

013066 000176 SWRE G

AAAAAAAAAAAAAA"hAﬂAﬂAAI\AAf\’\AAAﬂAf'\AAA/\AﬁAAAAAAAﬁAA’\AHAAARA
N Y, N1, S, V), ST VLN VL N STV N, O ST N STV ,VT, ST, N1, ST, N1 N] ST NI, N1 S ST SN T S ST SRl NS S NI N LNl S 1N [ N1 ST, S T ST, N LN U1, ST, U1 P Lo a8 [, §)
w\—w\.—vvvvvvvvvvvvvvvvvvw\.—vvvvus.—\p\—‘-rvvvvvvvwvvvwvvvvvvvvvvv

013066 000005 5
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ég; 013070 $SC0P1
t%; sCHECK FOR FREEZE ON CURRENT DATA
(2) 013070 004767 177646 .SCOP1: JSR PC,CKSWR
(2) 013074 032777 001000 166336 BIT #SW09,asuwR
(2) 013102 001402 BEQ 1%
(2) 013104 016716 166000 MOV LOCK, (SP)
(2) 013110 000002 1%: RT]
(1) 013112 .STYPE
t%; LSBTTL TYPE ROUTINE
(2) 013112 STARS
(3) 001 AF B
3) R A A A R A R AR AR ARl l
(3) IFF
(3) LNL]IST
(%) .REPT
(%) .LIST
(%) R N R A R A A AR AR AR l])
(3 NLIST
(3) .ENDR
(3) .LIST
(3) 000 ENDC
(2) ;*ROUTINE TO V1YPE ASCIZ MESSAGE. MESSAGE MUST TERMINA, ~"TH A 0 BYIE,
(2) ;*THE ROUTINE WILL INSERT A NUMBER QF NULL CHARACTERS .+ _R A LINE FEED.
(2) 'NOVE1 $NULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER C(HARA(CTER.
(2) 'NOTEZ $FILLS CONTAINS THE NUMBER OF FILLER CHARA(CTERS REQUIRED.
{g; 'NOTES $FILLC CONTAINS THE C(HARACTER TO FILL AFTER,
(2) 'CALL
(2) '1) USING A TRAP INSTRUCTION
i%; OR TYPE -MESADR : sMESADR [S FIRST ADDRESS OF AN ASC[Z STRING
(2) ; TYPE
(2) :' MESADR
8
(2) 013112 105767 166341 $IYPE: T1S18B $STPFLG ;1S THERE A TERMINAL?
(2) 013116 100002 B8PL 1% ;s8R IF YES
(2) 013120 000000 HALT :oHALT HERE IF NO TERMINAL
(2) 013122 000430 BR b3 1 s LEAVE
(2) 013124 010046 1%: MOV RO,=(SP) s+ SAVE RO
(2) 013126 017600 000002 MOV a2 (SP) RO ;:GET ADDRESS OF ASCIZ STRING
(2) 001 JIF DF SMAIL
(2) 013132 122767 000001 166406 (MPB #APTENV,$ENV ..RUNNING IN APT MODE
(2) 013140 001011 BNE 629 +NO,GO CHECK FOR APT CONSOLE
(2) 013142 132767 000100 166377 8118 #APTSPOGL , SENVM ..SPOOL MESSAGE TO APT
(2) 013150 001405 8EQ 62% ..NO GO CHECK FOR CONSOLE
2) 013152 010067 000004 MOV RO,61% SETUP MESSAGE ADDRESS FOR APT
(2) 013156 004767 164624 JSR PC,SATYS :SPOOL MESSAGE TO APT
(2) 013162 000000 61%: .WORD 0 HESSAGE ADDRESS
(2) 013164 132767 0000640 166355 62%: Bl1I8 #APTCSUP,SENVM ..APY CONSOLE SUPPRESSED
(S; 013172 001883 ENDC BNE 60% sYES,SKIP TYPE QUT
( -
(2) 013174 112046 2%: MOvB (RO)+ ,=(SP) ;;PUSH CHARACTER TO BE TYPED ONTO STA(K
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(2) 013176 001005 BNE 48 ;:BR IF IT ISN'T THE TERMINATOR
(&) 013200 005726 ST (SP)+ *“1IF TERMINATOR POP [T OFF THE STACK
(2) 013202 012600 60%: MOV ($P)+,RO **RESTORE RO
(2) 013204 062716 000002 3%: ADD #2,(5P) *2ADJUST RETURN PC
(2) 013210 000002 RT] : *RETURN
(2) 013212 122716 000011 4%: CMPB  #HT,(SP) "'BRANCH IF <HT>
(2) 013216 001430 BEQ 8$
(2) 013220 122716 000200 CMPB  #CRLF, (SP) :sBRANCH IF NOT <CRLF>
(2) 013226 001006 BNE 5$
(2) 013226 005726 1ST (SP)+ <:POP  <CR><LF> EQUIV
(2) 013230 104401 TYPE TITYPE A CR AND LF
(2) 013232 001523 SCRLF
(2) 013234¢ 105967 000130 CLRB  $CHARCNT ::CLEAR CHARACTER COUNT
(2) 013240 000755 BR 28 TtGET NEXT CHARACTER
(2) 013242 004767 000056 58 : JSR PC,STYPEC 21G0 TYPE THIS CHARACTER
(2) 013246 126726 166204 6% CMPB  SFILLC.(SP)+  ::I1S IT TIME FOR FILLER CHARS.?
(2) 013252 001350 BNE 2% “:1F NO GO GET NEXT CHAR.
(2) 013254 016746 166174 MOV $NULL ,=(5P) “:GET # OF FILLER CHARS. NEEDED
(2) PIAND THE NULL CHAR.
(2) 013260 105366 000001 7%: DECB  1(SP) *:DOES A NULL NEED TO BE TYPED?
(2) 013264 002770 BLT 6% TIBR IF NO--GO POP THE NULL OFF OF STACK
(2) 013266 004767 000032 JSR PC.STYPEC 1260 TYPE A NULL
(2) 013272 105367 000072 DECB  $CHARCNT 1100 NOT COUNT AS A COUNT
:5; 013276 000770 BP 7% ::LO00P
25; :HOR]ZONTAL TAB PROCESSOR
(2) 013300 112716 000040 8%: MOVB  #' ,(SP) ::REPLACE TAB WITH SPACE
(2) 013304 004767 000014 9% : JSR PC.STYPEC PITYPE A SPACE
(2) 013310 132767 000007 000052 BITB  #7.$CHARCNT P'BRANCH IF NOT AT
(2) 013316 001372 BNE 9% 1:TAB STOP
(2) 013320 005726 ST (SP)+ ::POP SPACE OFF STACK
(2) 013322 000724 BR 28 TSGET NEXT CHARACTER
(2) 013326 105777 166120 $TYPEC: 1STB  @$TPS “SWAIT UNTIL PRINTER IS READY
(2) 013330 100375 BPL STYPEC
i%; 013332 116677 000002 166112 MOVB  2(SP),asTPB . :LOAD CHAR TO BE TYPED INTO DATA REG.
(2) 013340 122766 000015 000002 CMPB  #(R,2(SP) :+1S CHARACTER A CARRIAGE RETURN?
(2) 013346 001003 BNE 1% : :BRANCH IF NO
(2) 013350 105067 000014 CLRB  $CHARCNT *iYES=-CLEAR CHARACTER COUNT
(2) 013354 000406 BR $STYPEX SREXIT
(2) 013356 122766 000012 000002 18: CMPB  #LF,2(SP) 131S CHARACTER A LINE FEED?
(2) 013364 001402 BEQ STYPEX *:BRANCH IF YES
(2) 013366 105227 INCB  (PC)+ 1:COUNT THE CHARACTER
(2) 013370 000000 $CHARCNT: .WORD 0 :CHARACTER COUNT STORAGE
55; 013372 000207 $TYPEX: RTS PC
(2) J11F NDF HT,HT= 11 ::CODE FOR HORIZONTAL TAB
(2) "11F NDF LF.LF= 12 13CODE FOR LINE FEED
(2) "11F NDF CR.CR= 15 1:CODE FOR CARRIAGE RETURN
(2) "11f NDF CRLF,CRLF= 200 ::CODE FOR CARRIAGE RETURN-LINE FEED
(2) "IIF NDF STPS.ETPS:
(2) "IIF EQ .-$TPS ... 5: WORD 177564 <:TTY PRINTER STATUS REG. ADDRESS
(2) "11F NDF $TPB.$1PB:
(2) "1IF E0 .-$TPB,$1PB: MORD 177566 -:TTY PRINTER BUFFER REG. ADDRESS
(2) “11F NDF SNULL.SNULL:
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(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(1) 013374

(2)

(2)

(2)

(¢) 013374 017667
(2) 013402 062716
(2) 013406 105767
(2) 0373412 001036
(2) 013416 104401
(2) 013416 000000
(2) 013420 012704
(2) 013424 012703
(2) 013430 105777
(2) 0134364 100375
(2) 013436 117714
(2) 013442 142714
(2) 013466 121427
‘2) 013452 001760
2) 013454 122427
(2) 013460 001413
(2) 013462 105777
(2) 013466 100375
(2) 013470 117777
(2) 013476 005303
(2) 013500 001353
(2) 013502 104401
(2) 013504 015457
(2) 013506 000742
(2) 013510 000002
(1) 013512

(2)

(2)

(2)

(2) 013512 011605
(2) 013514 012567
(2) 013520 012567
(2) 013524 012567
(2) 013530 112567
(2) 013534 112567
(2) 013540 010516

6) 14-DEC-82 10: OZVPPAGE 62-100

82 13:27

166134

016172
000007
16601,
166004
000200
000025
000015
165762

165752

E ROUTINE
J1IF EQ .=$NULL,SNULL: .BYTE 0
J1IF NDF SFILLS.SFILLS:
J11F EQ .-SFILLS,SFILLS: BYTE 2
JIT1F NDF SFILLC,$FILLC:
C1IF EQ .-$FILLE,SFILLC: .BYTE 12
"11F NDF S$TPFLG.STPFLG:
J11F EQ .=-STPFLG,STPFLG: .BYTE 0
.11F NDF SQUES,SQUES: .
J1IF EQ .-$OQUES,SQUES: .ASCII ' ::QUESTION MARK
.11F NDF $CRLF,$CRLF:
“1IF EQ .-SCRLF,SCRLF: .ASCII <15> ;; CARRAJGE RE TURN
“11F NDF SLF,SLF:
J1IF EQ .=SLF,SLF: ASCIZ 12> ::1 INEFEED
“11F NE i8., .EVEN
$INSTR
;ASCII STRING INPUT ROUTINE
000000 000014 .INSTR: MOV a(sP), .MSG :PICK UP MESSAGE
000002 ADD 82, (SP) 1JUMP AROUND MESSAGE FOR RT]
1STB  SENV *APT CONTROL
BNE INSTR2 ‘YES NO TYPE
JINST1: TYPE
.MSG: 0
MOV # INBUF ,R4 :GET STARTING LOC OF INBUF
MOV #7,R3 :MAX # OF (CHARS
1$: 1STB asfkS  ;TTY FLAG
BPL 1%
MOVB  a%TkB, (R&) :TAKE CHAR
BICB  #200, (R&) *STRIP
CMPB  (R&) .#25 SIS 1T <G>
BEQ JINST1
C(MPB  (R4)+,#15 :CHECK FOR (R
BEQ INSTR?
2%: TSTB  a$iPS  :TEST FLAG
8PL 2%
165754 MOVB aSTKB asTPB ;ECHO CHARACTER
DEC R3 :DID YOU TYPE TOO MANY (HARS ?
BNE 1%
JINSTE: TYPE
MOM ;2
BR "INST1 ;RETRY
INSTR2: RTI
$PARAM
;CONVERT ASCII STRING TO OCTAL
.PARAM: MOV (SP),RS ;PUT CONTENTS OF SP INTO RS
MOV (RS)+,LOLIM ;PUT LOW LIMIT INTO LOLIM
MOV (R5)+ HILIM SPUT RIGH LIMIT INTO HILIM
MOV (RS)+.DEVADR  :PUT STORE LOC INTC DEVADR
MOVB  (R5)¢.LOBITS  ;PUT MASK INTO LOBJTS
MOVB  (R5)+ ADRCNT  :PUT COUNT INTO ADRCNT
MOV RS, (SP) ;RESTORE RETURN ADDR ON STACK FOR RTI

;;CONTAINS NULL CHARACTER FOR FILLS
;s CONTAINS # OF FILLER CHARACTER
;s INSERT FILL CHARS. AFTER A LI

SEQ 0114

;: 'TERMINAL AVAILABLE'® FLAG (BIT
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102 CNDUUA . M11 29-0C1-82 13:27 TYPE ROUTINE SEQ 0115

(2) 013542 005005 PAGAM1: (LR RS

(2) 013544 012704 016172 MOV # INBUF R4

(2) 013550 122714 000015 (MPB  #15, (R) . (R ?

(2) 013354 001420 BEQ PARERR :YOU TYPED CR TOO SOON !

(2) 013556 121427 000060 1$: CMPB  (R4),#60 SLOW LIMIT ASCII O

(2) 013562 002415 BLT PARERR

(2) 013564 121427 000067 CMPB  (R4),#67 sHIGH LIMIT ASCII 7

(2) 013570 003012 BGT PARERR

(2) 013572 142714 000060 BICB  #60, (R4) :CONVERT TO OCTAL

(2) 013576 152405 BISB  (R4J+,RS :STORE AWAY ITS AN OK (AR

(2) 013600 122714 000015 CMPB  #15, (R4) ‘CR ?

(2) 013604 001414 BEQ LIMITS ;NOW CHECK FOR HIGH SLOW LIMIT CONDS

(2) 013606 006305 ASL RS SALLOCATE ROOM FOR NEXT CHAR

(2) 013610 006305 ASL RS

(2) 013612 006305 ASL RS

(2) 013614 000760 BR 1%

(2) 013616 122714 000015 PARERR: (MPB  #15, (R4) ; CR?

(2) 013622 001003 BNE 1206

(2) 013624 005737 013056 TST A¥RDSW :CK SWR USED

(2) 013630 001023 BNE PARTI

(2) 013632 104407 1208:  INSTER :RETRY

55; 013634 000742 BR PARAM1

253 ;TEST TO SEE IF NUMBER IS WITHIN LIMITS

(2) 013636 020567 000042 LIMITS: CMP RS,HILIM

(2) 013642 101365 BH] PARERR :THE # IS T0O HIGH

(2) 013646 020567 000032 CMP RS,LOLIM

(2) 013650 103762 BLO PARERR :THE # IS TOO LOW

(2) 013652 136705 000032 BIT8  LOBITS,RS STEST BY MASKINGTHE #

:g; 013656 001357 BNE PARERR

25; ;STORE NUMBER AT SPECIFIED ADDRESS

(2) 013660 016704 000022 MOV DEVADR, R4 ;GET STARTING ADDR OF

(2) 013664 010524 1$: MOV RS, (R4} + SSTORE AT THIS ADDR

(2) 013666 062705 000002 ADD #2.RS

(2) 013672 105367 000013 DECB  ADRCNT ;HOW MANY TIMES + 2 ?

(2) 013676 001372 BNE 1%

(2) 013700 000002 PARTI: RTI

(2) 013702 000000 LOLIM: 0

(2) 013704 000000 RILIM: 0

(2) 013706 000000 DEVADR: 0

(2) 013710 000000 LOBITS: 0

2) 013711 ADRCNT=L0OB]T1S+1

55; 013712 $REG

ﬁ%i :SAVE PC OF TEST THAT FAILED AND RO=RS

gg; 013712 016667 000006 165206 .SAVOS: MOV 4(SP), SAVPC

gg; :SAVE RO-RS

(2) 013720 010567 165550 SV0S: MOV RS.$REGS

(2) 013724 010467 165542 MOV R4 . $REG4

(2) 013730 010367 165534 MOV R3.$REH3
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(2) 014157 SPACNT=CHR(NT+1
(2) 014160 000000 BINWRD: O
g%; 014162 $SETFLG
(2) : COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
(2) B”FFER TO THE CHARACTERS ''N'' AND °
(2) J1F THE CHARACTER [S ''N'' CLEAR THE FLAG
g%; :IF THE CHARACTER IS '"'v'' SET THE FLAG
(2) 014162 017605 000000 SETFLG:MOV  @(SP).RS -
(2) 014166 122767 000116 001776 (MPB #'N, INBUF SIS IT N 2
(2) 014174 001002 BNE T
(2) 0146176 105015 CLRB (RS) . 000
(2) 014200 000406 BR 2% -
(2) 0164202 122767 0001317 001762 1$: CMPB #'Y, INBUF SIS IT YYT 2
(2) 014210 001005 BNE 3%
(2) 014212 1127215 177777 MOvB #-1,(RS) ;377
(2) 014216 062716 000002 2$: ADD ¥2,(SP)
(2) 014222 000002 RT]
(2) 014224 104407 3: INSTER ;RETRY
(2) 014226 000755 BR LSETFLG
(1) 014230 .SERROR SAVIT
2%; .SBTTL ERROR HANDLER ROUTINE
(2) 014230 STARS
(3 001 .AF B
(3) L A e AR L ARty
(3) JIFF
(3) .NLIST
(3) .REPT
(3) LLIST
(%) N R AR R P R R R P N R R R R R A AR AN A AR T TR TR RN RANN NN REETORRY
(3) NLIST
(3 .ENDR
3) LIST
(3) 000 END(
(2) :*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
(S) 001 ;?AVESXH§TERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
(2) vV
(%) .}}: NE 2000088SWR,;*AND TYPE OUT THE PC OF THE ERROR INSTRUCTION
(2) .
2%; 000 EAND GO TO SAVIT ON ERROR
(2) :*THE SWITCH OPIIONS PROVIDED BY THIS ROUTINE ARE:
'SH15 1 HALT ON ERROR
\. 'SU13 INHIBIT ERROR TYPEQUTS
(2) 'SU10 1 BELL ON ERROR
(2) *SU09 1 LOOP ON ERROR
(2) *CALL
(2) .' ERROR N : sERROR=EMT AND N=ERROR ITEM NUMBER
(2)
(2) 014230 $ER
2) .llf NE SSETUPE100 CKSWR
(2) o JF NB <
(2) .1RP NEUINS <O
(2) NEUINS

;TEST FOR CHANGE IN SOF T-SwR

SeQ 0117
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) .ENDM
(2) 000 "ENDC
(2) 014230 105267 165147 78 INCB  SERFLG ::SET THE ERROR FLAG
(2) 014234 001775 BEQ 7% “:DON'T LET THE FLAG GO TO 2ERQ
(2) 016236 016777 165140 165176 MOV $STSTNM,aDISPLAY ::DISPLAY TEST NUMBER AND ERROR FLAG
(2) 001 J1F E0 20008$SWR :SW10
2%; ' INC SERTTL s INC THE ERROR COUNT
. 4
(2) 014244 032777 002000 165166 81T #B1T10,a5WR ;;BELL ON ERROR?
(2) 014252 001402 BEQ 1$ YINO = SKIP
(2) 014254 104401 001516 TYPE $BELL *:RING BELL
§%; 014260 005535 165126 1%§oc INC $ERTTL *:COUNT THE NUMBER OF ERRORS
(2) 014264 011667 165126 MOV (SP), SERRP( ::GET ADDRESS OF ERROR INSTRUCTION
(2) 014270 162767 000002 165120 SUB #2,$ERRP(
(2) 014276 117767 165114 165110 MOVE  SSERRPC,SITEMB ;:STRIP AND SAVE THE ERROR ITEM CODE
(2) 001 JIF NE 200008$SWR :SW13
(2) 014304 032777 020000 165126 BIT #B1T13,a8WwR ;:SKIP TYPEQUT IF SET
gg; 014312 001004 - BNE 208 1ISKIP TYPEOUTS
(2) 002 CIF DF $4OCAT
(2) CMP (SP), #1002 ::1F RETURN PC LESS THAN 1002
(2) BHI 12% *:ERROR IS ILLEGAL TRAP
(2) : :PROCESS UNEXPECTED TRAP OR INTERRUPT
(2) MOV 4(SP),S$ERRP( ::GET PC AT TIME OF FALSE TRAP
(2) SUB #2,$ERRPC 1 3ADJUST PC
(2) TYPE 108 LSTYPE HEADER
(2) TYPOCT ‘ERRPC :3TYPE PC AT TIME OF ERROR
(2) TYPE 118
(2) SUB 86, (SP) ;:GET FALSE TRAP VECTOR ADDR
() MOV (SP) , SERRP(
(2) 1rP0CT  $ERRPC
(2) T.rE LSCRLF
(2) CMP (SP)+, (SP)+ ;:POP FALSE TRAP VECTOR PCRADDR
(2) BR 208
(2) 10$: LASCIZ  <200>°'PC= *
(2) 11$: "ASCIZ * UNEXPECTED TRAP TO °
(2) .EVEN
(2) 12%:
(2) 001 JENDC
(2) 002 ) JIF NB  SAVIT
(2) 014314 004767 000072 JSR PC.SAVIT ::G0 TO USER ERROR ROUTINE
(2) 001 .ENDC
(2) CIFT
(2) 002 JIF B SAVIT
(2) TYPE $CRLF
(2) TYPOCT $ERRPC,<ERROR ADDRESS>
() 001 .ENDC
(2) 014320 104401 001523 TYPE L$CRLF
(2) 000 LENDC
(2) 014324 208
(2) 001 JIF DF SMAIL
(2) 014324 122767 000001 165214 CMPB  #APTENV,SENV  ::RUNNING [N APT MODE
(2) 014332 001007 BNE PINC,SKIP APT ERROR REPORT
(2) 014334 116767 165054 000004 MOVE  SITEMB,21% PISET ITEM NUMBER AS ERROR NUMBER
(2) 014342 006767 163450 JSR PC,SATYS “'REPORT FATAL ERROR TO APT
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165012
165112
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10:02 PAGE 62-105

ERROR HANDLER RO
21%: BYTE
.BYTE

22%: BR
JENDC
JF NE $SWRE1000
2%: TST

BPL

HALT
JII1F NE $SETUPE?
.JF NE $SWRE1000
$: BIT
BEQ
MOV
4%: 1Y)
BEQ
MOV

N

NE $SWRE1000
Bl

BEQ
MOV
1%: 187
BtQ
MOV

ENDC

.1F NE $SETUPE20
(MP
BNE
HALT

lE
sSWRE10

c 10

UTINE

0

0

2¢%

00 ;SW1S
aSWR

3%

00, CKSUR
lng09 aSUR

SLPERR,(SP)
$ESCAPE
5%

SESCAPE, (SP)

. SW09
#B1109,aSwR
3%

SLPERR, (SP)
SESCAPE
3

SESCAPE, (SP)

;B1104~--

#SENDAD, 3!42
6%

mMNO DYV -
Chreoe oo ™ oo
.o .o .o

oS>
©
m

APE: .WORD

: sAPT ERROR LOOP

::HALT ON ERROR
¢ :SKIP IF CONT I UE
: sHALT ON ERROR

,,TEST FOR (HANGE [N SOFT-SWR

;:LO00P ON ERROR SWITCH SET?

;:BR IF NO

::FUDGE RETURN FOR LOOPING

;s CHECK FOR AN ESCAPE ADDRESS
;:BR [f NONE

::FUDGE RETURN ADDRESS FOR ESCAPE

;:LOOP ON ERROR?

;B8R |F NO

::FUDGE RETURN FOR LOCPING
::CHECK FOR AN ESCAFE ADDRESS
::BR [F NONE

::FUDGE RETURN ADDRESS FOR ESCAPE

(.$EOQP)
ssACT=11 AUTO-ACCEPT?
; :BRANCH [F NO

.:;YES
: :RETURN
MORD O : :ERROR COUNT
.BYTE 0 ;2 TEST NUMBER
.BYTE 0 ::ERROR FLAG
0 ;+ESCAPE ON ERROR ADDRES:

Sea 0119
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ERROR HANDLER ROUTINE

“I1F NDF SERRPC,SERRP(:
“11F EQ .-SERRP(,$ERRPC: WORD O
"1F NE $SWRE2000:SW10
“11F NDF SBELL,$BELL:
'é§5c5° L=SBELL,SBELL: .ASCIZ <207><377><377> ::ASCII CODE FOR BELL
"IIF NDF $ITEMB,SITEMB:
"11F EC .~SITEMB,$ITEMB: MORD 0 ;:1TEM BYTE
.1IF NDF "$QUES,SOUES: ,
"11F EQ .~SQUES,SQUES: .ASCII ' ;:QUESTION MARK
"11F NDF $CRLF,SCRLF:
"11F EQ .-SCRLF,SCRLF: .ASCII <15> :: CARRAIGE RETURN
"11F NDF SLF.SLF:
J1IF EQ .=SLF.SLF: ASCIZ Q> ;1 INEFEED
J11F NE 8., .EVEN
$NEED , B
SAVIT: MOV RO,HLDO
MOV R1.HLD?
MOV R2.HLD?
MOV R3.HLD3
MOV R4 - HLDA
MOV RS . HLDS
MOV STSTNM.HLDG
.SERRTYP
"SBTTL ERROR MESSAGE TYPEOUT ROUTINE
STARS
JIF B
::itttttttti.ittttttt"t'ttt't":‘--‘.-‘.2.:tttrtt"tttt.'itt'tttti'l't
1FF
LNLIST
.REPT

‘:I.ﬁt"i"lit"""".."V"'i'.& (ZEE3RSAR2RRARRARRRRARRRRRRARRRR D

TNLIST
"ENDR
bl
$eTHIS ROUTINE USES THE "'ITEM CONTROL BYTE'' (SITEMB) TO DETERMINE WHICH

;*ERROR [S 1O BE REPORTED, 11 THEN OBTAINS, FROM THE ''ERROR TABLE'' (SERRIB),

s *AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.

S$ERRTYP:

TYPE LSCRLF ::"'CARRIAGE RETURN'® & "'LINE FEED’

MOV RO,=(SP) : :SAVE RO

(LR RO s cPICKUP THE ITEM INDEX

B1SB a¥$1TEMB,RO

BNE 1% ss1F ITEM NUMBER [S ZERO, JUST

:: TYPE THE PC OF THE ERROR
TYPOCT SERRPC,<ERROR ADDRESS>
MOV SERRPC,-(5P) ;s SAVE SERRPC FOR TYPEOQUT
. ;ERROR ADDRESS
IF B TYPOC :.60 TYPE=-=OCTAL ASCII(ALL DIGITS)

SEQ 0120

;sLAST ERROR INSTRUCTION EXECUTE
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08 CNDUUA.M11 ERROR MESSAGE TYPEOUT ROUTINE SEQ 0121
:%; 014474 000426 - BR 6% ;:GET ouT
(3) BR 108 <:GET ouT
(3) 000 LENDC
(3) 014476 005300 is: DEC RO ::ADJUST THE INDEX SO THAT [T WILL
(3) 0145C0 006300 ASL RO I WORK FOR THE ERROR TABLE
(3) 014502 006300 ASL RO
(3) 014504 006300 ASL RO
(3) 014506 062700 001652 ADD #SERRTB,RO ;;FORM TABLE POINTER
(3) 014512 012067 000006 MOV (RO)+, 26 S:PICKUP “‘ERROR MESSAGE’' POINTER
(3) 014516 001404 BEQ 13 *:SKIP TYPEOUT IF NO POINTER
(3) 016520 104401 TYPE S:TYPE THE "ERROR MESSAGE''
(3) 014522 000000 2% LMWORD 0 :i“ERROR MESSAGE'' POINTER GOES HERE
(3) 0164526 106401 001523 TYPE SCRLF *3"'CARRIAGE RETURN'' & "‘LINE FEED"
(3) 016530 012067 000004 3¢ MOV (RO)+,48 PIPICKUP "'DATA MEADER'' POINTER
(3) 014534 0014064 BEQ 5% SiSKIP TYPEQUT IF 0
(3) 016536 104401 TYPE SSTYPE THE "'DATA HEADER''
(3) 014540 000000 4$: .MORD 0 ::"DATA HEADER'' POINTER GOES HEPE
E%; 014542 10488} 001523 8 TYPE L$CRLF P3*"CARRIAGE RETURN'' € "‘LINE FEED'
(3) 014546 011000 5% MOV (RO),RO ;:PICKUP “DATA TABLE'' POINTER
(3) 014550 0010064 BNE 1360 TYPE IHE DATA
:g; 014552 012600 6$: MOV (SP)+,RO SRESTORE RO
(3) 014554 104401 001523 TYPE ,$CRLF "' CARRIAGE RETURN'' € ‘'LINE FEED"
(3) 014560 000207 RTS PC : SRETURN
(3) 014562 7%:
zz; 016562 013046 I MOV a(RO)+,=(SP) ::SAVE a(R0)+ FOR TYPEOUT
L ] <>. :;
(4) 014564 106402 TYPOC ::60 TYPE=-OCTAL ASCIICALL DIGITS)
(3) 014566 005710 ST (RO) :31S THERE ANOTHER NUMBER?
(3) 014570 001770 BEQ 6% S:BR IF NO
(3) 014572 1064401 014600 TYPE 8% SITYPE TWO(2) SPACES
(3) 014576 000771 BR 7 ::LO0P
(3) 014600 020040 000 8$: ASCIZ /7 $3TW0(2) SPACES
(3) 014604 -EVEN
(3 JIFF
(% 5%: MOV R1,=-(SP) ::SAVE R
3 MOV (RO)+ . R1 S:PICKUP ''DATA TABLE'® POINTER
(3 BEOQ 9% ::BR_IF NO DATA TO BE TYPED
(3) MOV (R0)+,R0 ::PICKUP. “DATA FORMAT'' POINTER
3 6%: 1518 (RO) + S:"'OCTAL'' OR '‘DECIMAL
(3) BNE 7% S:BR IF DECIMAL
(3) TYPOCT @a(R1)+ S:TYPE AN OCTAL NUMBER
(3 BR 13
(%) 7%: TYPDEC a(R1)+ ::TYPE  DECIMAL NUMBER
(3) 8$: ST (R1) 1315 THERE ANOTHER NUMBER?
(3 BEQ 9% SiBR IF NO
(3) TYPE 118 SSTYPE TWO(2) SPACES
:g; BR 63 ;:LOOP
(3) 9% : MOV (SP)+,R1 : sRESTORE R
(3 108 : MOV (SP)+.RO P RESTORE RO N N
(3) TYPE ,$CRLF PICARRIAGE RETURN' € “‘LINE FEED
(3) RTS PC : 'RETURN
(3) 1$: ASCIZ 7/ $ITWO(2) SPACES
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(3) LEVEN

(3) 000 LENDC

(1) 014604 LSTYPOCT

2%; “SBTTL BINARY TO OCTAL (ASCII) AND TYPE

(2) 014604 STARS

(3) 001 AF B

(3) :;'..""l"'tt."'.""Q'..’l""".t'...Qt"'.Q"l't'.t't"'t""

(3) IFF

(57 LNLIST

(%) LREPT

(3) .LXST

(3) t'.ttlti."""'tt't"'t"'t'l"tt'ttttti'ilt'it'tt'ttttttttttt

(3) "NLIST

3 .ENDR

(3) LIST

(3) 000 LENDC

(2) ;*THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6-DIGIT

(2) 'OCTAL (ASCI1) NUMBER AND TYPE IT.

i%g '%LIEOS---ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE
L 4

(2) : MOV NUM,=(SP) ::NUMBER TO BE TYPED

(2) ;- TYPOS ::CALL FOR TYPEOQUT

(2) A BYTE N J:N=1 TO 6 FOR NUMBER OfF DIGITS TO TYPE

(2) . .BYTE M ::M=1 OR 0

(2) ot ;;1=¥YPE LEADING ZEROS

:g; i :0=SUPPRESS LEADING ZEROS
b ]

(2) :*S$TYPON====ENTER HERE TO TYPE QUT WITH THE SAME PARAMETERS AS THE LAST

(2) ;*$TYPOS OR $TYPO(

(2) coCALL:

(2) o MOV NUM,=(SP) J:NUMBER TO BE TYPED

8; e TYPON :;CALL FOR TYPEOUT
b ]

t%; -%LVPOC---ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
;*(CALL:

(2) ;t MOV NUM,=-(SP) ;:NUMBER TO BE TYPED

ES; . T TYPOC ::CALL FOR TYPEOQUT

(2) 014604 017646 000000 $TYPOS: MOV a(SP),-(SP) ::PICKUP THE MODE

(2) 014610 116667 000007 000211 MOVB 1(SP),S0FILL J:;LOAD ZERO FILL SWITCH

(2) 014616 112667 000207 MOVB (SP)¢,SOMODE+1 ;:NUMBER OF DIGITS TO TYPE

(2) 0164622 062716 000002 ADD #2,(5P) :;ADJUST RETURN ADDRESS

(2) 014626 000406 BR $TYPON

(2) 014630 112767 000001 000171 STYPOC: MOVB #1,80F]LL JSET THE ZERO FILL SWITCH

(2) 014636 112767 000006 000165 MOvB #6,30MODE *1 ..SEI FOR SIX(6) DIGITS

(2) 014664 112767 000005 000154 STYPON: MOVB #5,800(NT ::SET THE ITERATION COUNT

(2) 014652 010346 MoV R3,=(SP) ::SAVE R3

(2) 0164654 010446 MOV R4 ,=-(SP) ::SAVE R4

(2) 014656 010546 MOV RS,=(SP) ::SAVE RS

(2) 0146660 116704 000145 MOVB SOHODE*1.R4 ::GET THE NUMBER OF DIGITS TO TYPE

(2) 014666 005604 NEG R&

(2) 0146666 0627064 000006 ADD #6,R4 ::SUBTRACT T FOR MAX, ALLOWED

(2) 014672 110467 000132 MOVB RL.tOHODE :sSAVE IT FOR USE

(2) 014676 116704 000125 MOVB $OFJLL,RG ::GET THE ZERO FILL SWITCH

(2) 014702 016605 000012 MOV 12(SP),RS ::P1CKUP THE INPUT NUMBER
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(2) 014706 005003 CLR R3 ;;CLEAR_THE OUTPUT WGRD
(2) 014710 006105 1%: ROL R5 S:ROTATE MSB INTO °°C'
(2) 014712 000404 BR 3% 2160 DO MSB
(2) 014714 006105 2%: ROL RS “IFORM THIS DIGIT
(2) 014716 006105 ROL RS
(2) 014720 006105 ROL RS
(2) 014722 010503 h RS,R3
(2) 014724 006103 3%: ROL R3 ;3GET LSB OF THIS DIGIT
(2) 014726 105367 000076 DECB  $OMODE S:TYPE THIS DIGIT?
(2> 014732 100016 BPL 7% ::BR IF NO
(2) 014734 062703 177770 BI( #177770.R3 “:GET RID OF JUNK
(2) 014740 001002 BNE ‘8 TSTEST FOR 0
(2) 014742 005704 st R4 :SUPPRESS THIS 0?
(2) 016744 001403 BEQ 5$ P:BR IF YES
(2) 014746 005204 4%: INC R4 ::DON'T SUPPRESS ANYMORE 0°S
(2) 014750 052703 000060 BIS #°0,R3 LIMAKE THIS DIGIT ASCII
(2) 014754 052703 000040 5% BIS # R3 LiMAKE ASCII IF NOT ALREADY
(2) 014760 110367 000040 MOVB  R3,8% $:SAVE FOR TYPING
(2) 014764 106401 015024 TYPE 13 1:G0 TYPE THIS DIGIT
(2) 014770 105367 000032 7%: DECB  $OCNT :>COUNT BY 1
(2) 014774 003347 BGT 28 *:BR IF MORE 10 DO
(2) 014776 002402 BLT 6% *:BR IF DONE
(2) 015000 005204 INC R4 S INSURE LAST DIGIT ISN'T A BLANK
(2) 015002 000744 BR 2% 1260 DO THE LAST DIGIT
(2) 015004 012605 68 ROV (SP)+,RS :RESTORE RS
(2) 015006 012604 MOV (SP)+ R **RESTORE R&
(2) 015010 012603 MOV (5P)+_R3 **RESTORE R3
(2) 015012 016666 000002 000004 MOV 2(SP) .4 (SP) TiSET THE STACK FOR RETURNING
(2) 015020 012616 MOV (SP)+ . (SP)
(2) 015022 000002 RT] < :RETURN
(2) 015024 000 8$: BYTE 0 *:STORAGE FOR ASCII DIGIT
(2) 015025 000 BYTE 0 ;3 TERMINATOR FOR TYPE ROUTINE
(2) 015026 000 $OCNT: .BYTE 0 S:0CTAL DIGIT COUNTER
(2) 015027 000 SOFJLL: .BYTE 0 S22ERO FILL SWITCH
(2) 015030 000000 SOMODE: .WORD O *NUMBER OF DIGITS TO TYPE
(1) 015032 SPFAIL
25; JENTER HERE ON POWER fFAILURE
(2)
(2) 015032 SPWRDN :
(2) 015032 010046 LPFAIL: MOV RO,=-(SP) :SAVE RO=-R5 ON PROCESSOR STA(K
(2) 015034 010146 MOV R1,=-(SP)
(2) 015036 010246 MOV R2.-(SP)
(2) 015040 010346 MOV R3.=(SP)
(2) 015042 010446 MOV RG.=(5P)
(2) 015046 010546 MOV RS.=(5P)
(2) 0150646 016746 162752 MOV 24.=(5P)
(2) 015052 010667 164040 MOV SP,SAVSP :SAVE STACK POINTER
(2) 015056 012767 015070 162740 Mov FRESTART 24 :SET UP FOR POWER UP TRAP
(2) 015064 000000 HAL T THALT ON POWER DOWN NORMAL
55; 015066 000777 B8R .
<%) :PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED
(2)
(2) 015070 016706 164022 RESTAR: MOV SAVSP,SP JRESTORE STACLK POINTER
(2) 015074 012605 Mov (SP)¢+ RS :RESTORE RO=RS
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(2) 016144 020040 000
(2) 016147 040 053523 036522 MMSWR: ASCIZ / SWR= /
(2) 016154 020040 000040 i
(2) 016160 020040 047040 053505 MMNEW: .ASCIZ /  NEwWw= /
(2) 016166 020075 000040
(2) LEVEN
:}; 016172 $SBUFFER
2%; JBUFFERS FOR INPUT=-QUTPUT
(2) 016172 000000 INBUF 0
(2) 016234 +40
(2) 016234 0009200 TEMP 0
(2) 016276 =,440
(2) 016276 000000 MDAlA 0
(2) 016340 +40
(1) 016340 SQCOPE
(2) 016340 .$SCOPE 5,S5C,.SC1
(3) LSBTTL SCOPE HANDLER ROUTINESTARS
(3 :*THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
(%) 'AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
(%) 001 LIF EQ STSTNM+1-SERFLG
&) :'AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
(3) 000 LENDC
(%) ;*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(3) ;*SW14=1 LOOP ON TEST
(3) eSWil= 1 INHIBIT ITERATIONS
(3) :*SW09=1 LOOP ON ERROR
(3) 001 IF NE 400R$SWR
(3) .-SH08=1 LOOP ON TEST IN SWe<7:0>
(3) LIIF EQO <$SWRMKR377>-200,:+S5W08=1 LOUP ON TEST IN SWR<6:0>
(3) JJIF EQ <$SWRMKR377>-300,;+5Ww08=1 LOOP ON TEST IN SWR<S:0>
(3) JJIF EQ <$SWRMKE377>=340,;+SW08=1 LOOP ON TEST IN SWR<4:0»>
(3) JIIF EQ <$SWRMKR377>-360,;+5W08=1 LOOP ON TEST IN SWR<3:0>
(3 JJIF EQ <$SWRMKR377>-370,;:+Suw08=1 LOOP ON TEST IN SWR<2:0>
(3) LIF EQ <ssunnx&377>-3n..-su08=1 LOOP CN TEST IN SWR<1:0>
(3) JJIF EQ <$SWRMKE377>-376;+SW08=1 LOOP ON TEST IN SWR<O>
(3) 000 JENDT
(%) o CALL
z%; o SCOPE ::SCOPE=]10T
(3) 016340 $SCOPE:
(3) JAIF NE $SETUPE100, (KSWR ::TEST FOR CHANGE IN SOF T=SWR
(%) om JF NB <SO>
(3 IRP NEWINS,<S(>
(3) NEWINS
(4) .ENDM
gg; 016340 SC
(g) ;SCOPE LOOP AND INTERATION WANDLER
(5)
(5) 016340 .SCOPE :
(5) 016340 004767 174376 JSR PC,C(KSWR
(5) 016344 005067 163046 CLR $SERRPC ;CLEAR LAST ERROR PC(
(5) 016350 022716 003376 (MP #1ST142,(SP) :1S SCOPE AT BEGINING OF TEST 17
(5) 016354 001422 BEQ $XTSTR JYES NO LOOP.
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(5)
(5) 016356 032777 040000 163054 TTST: BIT #BIT14,35WR :THIS CODE IS FOR TESTING FOR BIT 14
2 (5) 016364 001412 BEO 1$ SON LSI WHICH SYSMAC CANNOT HANDLE
(5) 016366 016767 163010 163012 MOV STSTNM, SLPADR
| (5) 016374 000406 BR 1$
(5) 016376 105777 163042 TSTB  a$TKS :KEYBOARD DONE?
(5) 016402 100123 BPL $OVER :BR IF NO
(5) 016404 017766 163036 177776 MOV a$TKB,=2(SP) *CLEAR DONE BIT
[ (3) 000 LENDC
(3) 001 .IF NE $SWR240000
(3) 002 LIF DF $4OCAT
(3) ::60 TO ERROR ROUTINE IF RETURN PC LESS THAN 1002
3) ::OTHERWISE CONTINUE
(3) CMP (SP), #1002 : sUNEAPECTED TRAP OR INTERRRUPT
3) BH] 1% :;ARE TRAPPED HERE vIA 107
:g; 001 ENDC JMP $ERROR 1360 PROCESS UNEXPECTED TRAP
(3) 016412 032777 040000 163020 1$: BIT #BIT14,35WR ::LO0P ON PRESENT TEST?
(3) 016420 001114 BNE $OVER SIYES IF SW14=1
(3) 000 JENDC
(3 - NNRRSTART OF CODE FOR THE XOR TESTERANNNN
(3) 016422 000416 §xTSTR: BR 6$ ;i1F RUNNING ON THE *XOR' TESTER CHANGE
(3) “THIS INSTRUCTION 1O A ''NOP™* (NOP=240)
(3) 016426 013746 000004 MOV APERRVEC,=(SP) ::SAVE THE CONTENTS OF THE ERROR VECTOR
(3) 016430 012737 016450 000004 MOV #5% , aNERRVEC 23SET FOR TIMEOUT
(3) 016436 005737 177060 ST ar197060 ::TIME OUT ON XOR?
(3) 016442 012637 000004 MOV (SP)+,a#ERRVEC ::RESTORE THE ERROR VECTOR
(3) 016446 000463 BR $SVLAD 2360 TO THE NEXT TEST
(3) 016450 022626 5¢: CMP (SP)+,(SP)+ S:CLEAR THE STACK AFTER A TIME OUT
(3) 016452 012637 000004 MOV (SP)+.aNERRVEC ::RESTORE THE ERROR VECTOR
(3 001 JIF NE ssuna1ooo
tg; 016456 000423 s 7% ::L00P ON THE PRESENT TEST
(3) B8R $OVER ::LOOP ON THE PRESENT TEST
(3 000 .ENDC
(3) 016460 6$::MMNMNEND OF CODE FOR THE XOR TESTERWNNAN
(%) 001 JIFNE ssunzaoo
(3) 016460 032777 000400 162752 BIT #BIT08,aSWR ::LOOP ON SPEC. TEST?
(3) 002 JIF NE $SWRE5000:5W11 QR SW09
f%; 016466 001404 L BEQ 3 ::BR IF NO
(3) BEQ $SVLAD ::BR IF NO
(3) JENDC
(3) 002 JIF NB
(3) JIF DIF <SWO8TBL>,<>
:g; .g??on :ILLEGAL ARGUMENT [N .$SCOPE =
(3) (LR =-(SP) ::CLEAR A TEMP, LOCATION
(3) MOVB  aSWR,(SP) s:PICKUP THE DESIRED TEST NUMBER
(3) .11F NE $SWRMK, BIC #SSWRMK , (SP) ::MASK OUT UNDESIRED BITS
(3) BEQ 8% ::BRANCH If BAD TEST NUMBER IN SWR
(3) JORP XL.<\$IN=1>
(3 CMP #'x,(SP) ;s C(HECK THE NU
(%) MBER IN THE SWR
(3) .ENDM
(3) BLT 8% :sBRANCH IF TEST NUMBER 1S OUT OF RANGE



10
(NDUU=-A MACY11 30(10646) 14-DEC-B2 10:02 PAGE 62-114 L

0115 CNDUUA . M11 29-0(1 2 13:27 SCOPE HANDLER ROUTINESTARS SEQ 0128
(3) MOV (SP),$TSTNM ;:UPDATE THE TEST NUMBER
(3) DEC (5P) 1 :BACKUP BY ONE
(3) ASL (5P) S3SCALE THE TEST NUMBER AS AN INDEX
(3) ADD #SSWOBTBL,(SP) ::FORM THE ADDRESS OF TEST POINTER
(3) MOV a(SP)+,SLPADR  ::SET LOOP ADDRESS TO DESIRED TEST
(3) BR SOVER ;360 LOOP ON THE TEST
(3) 8$: ST (SP)+ ::CLEAN THE BAD TEST NUMBER OFF OF THE STACK
(%) 002 LENDC(
(3) JIFFf
(3) 003 J1F EQ $SWRMK
ig; 016470 127767 162744 162704 G CMPB  aSWR,STSTNM ::ON THE RIGHT TEST?  SWR<7:0>
(3) MOV aSwR,=(SP) ::SET DESIRED TEST NUM. FROM SWR
(3) BI( #SSWRMK , (SP) ::STRIP AWAY UNDESIRED BITS
(3) CMPB  (SP)+,$TSTNM  ::ON THE RIGHT TEST?
(3 002 JENDC
(3) 016476 001465 BEQ $OVER ;:BR IF YES
(3) 001 .ENDC
(3) 000 "ENDC
(3) 001 .IF NE $SWRES5000;Sw11'SW09
(3) 016500 105767 162677 2% TSTB  SERFLG ::HAS AN ERROR OCCURRED?
(3) 002 JIF NE ssunzaooo SW11
;g; 016524 001421 . 3 ;:BR IF NO
(%) BEQ $SVLAD ;:BR IF NO
(3) 001 JENDC
(3) 002 JIF NE $SWRE1000:SWO09
(3) 003 "IF NE $SWRR4000:SW11
(3) 016506 126767 162703 162667 CMPB isanAx SERFLG  ;;MAX. ERRORS FOR THIS TEST OCCURRED?
(3) 016514 101015 BHI 1:BR IF NO
(3 002 JENDC
(3) 016516 032777 001000 162714 BIT #B1T709,35WR ..LOOP ON ERROR?
(3) 016524 001404 BEQ 4% R If NO
(3) 016526 016767 162656 162652 7%: MOV $LPERR,$LPADR ..ser LOOP ADDRESS TO LAST SCOPE
:;; 0165364 000446 - BR $OVER
(3) 016536 105067 162641 ($: CLRB  $ERFLG ::1ERO THE ERROR FLAG
zgg 016542 005067 162744 T CLR $TIMES P:CLEAR THE NUMBER OF ITERATIONS TO MAKE
(3) 016546 000415 BR 1% ;:ESCAPE TO THE NEX' TEST
(%) 001 .ENDC
(3) 000 JENDC
(3) 001 “IF NE $SWRE4000:SW11
(3) 616550 032777 004000 162662 3$: BIT #BIT11,aSWR ..INHIBIT ITERATIONS?
(3) 016556 001011 BNE 1% ::BR IF YES
(3) 002 JIF B
(3) 016560 005767 162750 ST $PASS ::1F FIRST PASS OF PROGRAM
:g; 016564 00138? ENDC BEQ 1% 0 INHIBIT ITERATIONS
(3) 016566 005267 162612 INC $ICNT :; INCREMENT ITERATION COUNT
(3) 016572 026767 162714 162604 CMP STIMES,SICNT  ::CHECK THE NUMBER OF ITERATIONS MADE
(3) 016600 002024 BGE SOVER ::BR [F MORE ITERATION REQUIRED
(3) 016602 012767 000001 162574 1$: MOV #1,$1CNT SSREINITIALIZE THE ITERATION COUNTER
:g; 016610 016586 000056 162674 EnDC MOV SMXCNT,STIMES  ::SET NUMBER OF JTERATIONS TO DO
(3) 016616 105507 162560 $SVLAD: INCB  STSTNM :;COUNT TEST NUMBERS
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(3) 001 J15 DF SMAIL
§%; 016622 116688 162554 162702 EnDC MOVE  $TSTNM,$TESTN  ;;SET TEST NUMBER IN APT MAILBOX
(3) 016630 011667 162552 MOV (SP) ,SLPADR ; sSAVE SCOPE LOOP ADDRESS
(3) 001 ] .1F NE $SWR1000;Sw09
(3) 016634 011667 162550 MOV (SP),$SLPERR ::SAVE ERROR LOOP ADDRESS
(3) 016640 005067 162650 CLR $ESCAPE “:CLEAR THE ESCAPE FROM ERROR ADDRESS
gg; 016644 112688 000001 162543 EnDC MOV  #1,SERMAX TSONLY ALLOW ONECT) ERROR ON NEXT TEST
(3) "IIF £Q $SWRES000, CLRB  $ERFLG ;;1ERO THE ERROR FLAG
(3) 016652 016777 162524 162562 S$OVER: MOV $TSTNM,aDISPLAY ::DISPLAY TEST NUMBER
(3) 016660 016716 162522 MOV $LPADR . (SP) *:FUDGE RETURN ADDRESS
(3) 01 JIF B <SC1>
3 RTI ;3FIXES PS
(3) JIFF
(3) “IRP LASTIN,<SC1>
(3) LASTIN
(&) .ENDM
(4) 016664 SC1
(S) 016664 000002 4$: RTI
(5) 016666 001407 BRY: 1407
(5) 016670 000432 BRX: 432
(3) 000 -ENDC
(3) "IIF NDF SLPADR,SLPADR:
(3) "1IF EQ .-SLPADR,SLPADR: 0 : :SCOPE LOOP ADDRESS
(3) 001 "IF NE $SWRE1000:SW09
(3) .11F NDF SLPERR,$LPERR:
(3) "1IF EQ .-SLPERR,SLPERR: 0 ; ;ERROR LOOP ADDRESS
(3) 000 "ENDC
(3) 001 "IF NE $SWRR4000:SW11
(3) “11F NDF STIMES.$TIMES:
(3) C1IF EQ .-STIMES,STIMES: 0 ::NUMBER OF ITERATIONS TO PERFOR
(3) "1IF  NDF $ICNT,SICNT:
(3) "1IF EQ .~SICNT.$ICNT: 0
(3) "1IF  NDF $MyCNT,SMXCNT:
(3) 002 IF B 5
ig; .{}; EQ .=$MXCNT,SMXCNT: 2000. ::MAX. NUMBER OF [TERATIONS
(3) 016672 000005 $MXCNT: S s sMAX. NUMBER OF [TERATIONS
(3 001 JENDC
(3) 002 IF B
&3] "IIF NDF $PASS,SPASS:
(3) "1IF EQ .=-$PASS,$PASS: O : :PASS COUNT
(3) 001 "ENDC
(3) 000 "ENDC
(3) "IIF NDF STSTNM.STSTNM:
(3) "1IF EQ .-STSTNM,STSTNM: BYTE 0 ::TEST NUMBER
(3) "11F NDF SERFLG,SERFLG:
(3) "1IF EQ .-SERFLG,SERFLG: .BYTE 0 :sERROR FLAG
(3) .1IF NE .81, .EVEN
(3) "11F NDF SERMAX,SERMAX:
(3) "11F EQ .-SERMAX,SERMAX: 1 :sMAX. ERRORS PER TEST
3) 001 JIF NB
(3) 002 “IF IDN SWOBTBL,<>
(3 NLIST
(3) $$5W08=1
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~
(V]
-~

LIST
$SWOBTBL :
.REPT $TN=1
.IRP X,<\$8S5W08>
ENDM MORD  TST'Xe? ::STARTING ADDRESS OF TEST X

NLIST
$ESU?8=SSSUOBOI

oo
OO
O —
L]

™

=

L =4

[ ]

01667¢ +STRAP
.SBTTL TRAP DECODER

016674 STARS

001 IF B
L T T e R R TR R Y
.IFF
+NLIST
-REPT
LIST
I T T R LR T IR T T Y
.NLIST

000 .ENDC
;*THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE ''TRAP'' INSTRUCTION
s*AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
:*0F THE DESIRED ROUTVINE. THEN USING THE ADDRESS OBTAINED IT WILL
:*GO TO THAT ROUTINE.

001 AF B
016674 010046 S}??P: MOV RO,=-(SP) ::SAVE RO
$TRAP: MOV 2(SP),=(SP) :
sASSUME THE STATUS OF
BIC #20, (SP) :: THE CALLER=-=DO NOT ALLOW
MOV #1%,-(SP) J: T=-BIT TRAPS
RTI :sSET THE NEW STATUS
1%: MOV RO,=(SP) ::SAVE RO
000 .ENDC
016676 016600 000002 MOV 2(SP) RO ::GET TRAP ADDRESS
016702 005740 1ST -(R0O) :;BACKUP BY ¢
016704 11188? IF NB MOVB (RO) RO J:GET RIGHT BYTE OF TRAP
. N
BPL $TRAPI : :NON=USER TRAP,BELOW 200
BIC #*C177,R0 :sSTRIP AWAY THE JUNK
JMP (PC) ; :USER TRAP,ABOVE 177, GO TO
.WORD ;2 USER TRAP HANDLER-
$TRAPI:
000 LENDC
001 .JF NB
(MpP #STERM,RO :3CHECK FOR OQUT OF BOUNDS
8GT .*6 ::BR IF OK

AAAAA&AAAAAAAAAAA‘\AAAF\AAA’\AAAAAA’\AAAAAAAAAAA’\AAAAAAAAAA

MRS PRI PRI U AU PO AL PR NN AL R NI N RO A AU I N ML MO N W N AN N NN N N WA A RO PO N =2 U NN N NN N AN N A
uvvvvvvvvvvvv\-—V\.—vvvvvvvvuvvvvvvvvvvvvvvvvvvvvvvvvvvvvvv

HALT .. 0UT OF BOUNDS
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(2) BR =2 : s HANGUP
(2) 000 JENDC
(2) 016706 006300 ASL RO ::POSITION FOR INDEXING
(2) 016710 016000 016730 MOV $TRPAD(RO) ,RO  ::INDEX TO TABLE
25; 0167164 000200 RTS RO 1360 TO ROUTINE
(2)
tg; ::THIS 1S USE TO HANDLE THE '‘GFTPRI'* MACRO
(2) 016716 011646 $TRAP2: MOV (SP),=(SP) ;;MOVE THE PC DOWN
(2) 016720 016666 00004 000002 MOV 4(SP},2(SP) ::MOVE THE PSW DOWN
gg; 016726 000002 RTI ::RESTORE THE PSW
(2) .MACRO SETTRAP A,B,MSG
(2) $$SSET  A.B.\<TRAP+$TRP>,\$TRP,<MSG>
(2) NLIST
(2) STRP=8TRP+1
(2) LIST
(2) .ENDM  SETTRAP
(2) "MACRO $$SET  A.B.C.D,COMNT
(2) .IF EQ $TRP-1
55; "SBTTL TRAP TABLE
(2) :*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
8; :*BY THE '‘TRAF'® INSTRUCTION.
55; ; ROUTINE
(2) $TRPAD: .WORD  $TRAP2
(2) (ENDC
(2) “I11F NDF GNS,.NLIST
(2) A= C
(2) J1IF NDF GNS,.LIST
(2) 8 ;:CALL=A TRAP+D(C) COMNT
(2) LENDM  SSSET
(2) .MACRO TRMTRP
(2) $TERM= . =STRPAD
(2) .ENDM ~ TRMTRP
(2) 000001 $TRP=1
(2) 001 .IF DF $TYPE
(2) 016730 SETTRAP TYPE,$TYPE,*/TTY TYPEOUT ROUTINE/
(3) 016730 $SSET TYPE,STYPE,\CTRAP+$TRP> \$TRP ,<TTY TYPEQUT ROUTINE>
(&) 002 JIF EQ $TRP-1
:2; LSBTTL TRAP TABLE
(4) ;«THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
52; teBY THE "‘TRAP'' INSTRUCTION.
:2; : ROUT INE
(¢) 016730 016716 $TRPAD: .WORD  $TRAP?
(&) oo LENDC
(4) 104401 TYPE= 104401
(&) 016732 013112 $TYPE  ;;CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
(3) 000002 $TRP=$TRP+1
(2) 000 JENDC



cn
(NDUU=-A MACY11 30(1046) 14-DE(-B2 10:02 PAGE 62-118

19 CNDUUA .M 29-0CT-82 13:27 TRAP TABLE SEQ 0132
(2) 001 .1€ DF $TYPOC
(2) 016734 SETTRAP TYPOC.$TYPOC,*/TYPE OCTAL NUMBER (WITH LEADING ZEROS)/
(3) 016734 $SSET  TYPOC.STYPOC .\<TRAP+$TRP> ,\$TRP,<TYPE OCTAL NUMBER (WiTH LEADING 2EROS)>
(&) 002 JIF EQ $TRP=1
ﬁﬁ; SSBTTL TRAP TABLE
(4) ;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
:2> teBY THE "'TRAP" INSTRUCTION,
)
(4) ; ROUTINE
(&) et
(4) $TRPAD: .WORD  $TRAP2
(4) 901 JENDC
(&) 104402 TYPOC= 104402
(4) 016734 014630 $TYPOC ;;CALL=TYPOC TRAP+2(104402) TYPE OCTAL NUMBER (WITH LEADING ZEROS)
(3) 000003 $TRP=$TRP+1
(2) 016736 SETTRAP TYPOS,$TYPOS,~/TYPE OCTAL NUMBER (NO LEADING 2ER0S)/
(3) 016736 $SSET  TYPOS.STYPOS.\<TRAP+$TRP>,\$TRP,<TYPE OCTAL NUMBER (NO LEADING ZEROS)>
(L) 002 .IF EQ $TRP-1
:2; "SBTTL TRAP TABLE
(4) ;#THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
fﬁ; t«BY THE ''TRAP'' INSTRUCTION.
(4) : ROUTINE
(4) '  eecama=a
(4) $TRPAD: .WORD  $TRAP?2
(4) 001 JENDC
(4) 104403 TYPOS= 104403
(4) 016736 014606 $TYPOS ;:CALL=TYPOS TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING ZEROS)
(3) 000006 $TRP=$TRP+1
(2) 016740 SETTRAP TYPON,STYPON,*/TYPE OCTAL NUMBER (AS PER LAST CALL)/
(3) 016740 $SSET  TYPON.STYPON.\<TRAP+$TRP>,\$1RP,<TYPE G{TAL NUMBER (AS PER LAST CALL)>
(L) 002 .IF EQ $TRP-1
:2) "SBTTL TRAP TABLE
)
(4) :¢THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
(4) teBY THE ''TRAP" INSTRUCTION.
(4)
:2) : ROUT INE
) e o oeoeooew
(4) $TRPAD: .WORD  $TRAP?
(4) 001 JENDC
(4) 104404 TYPON= 104404
(4) 016740 014644 $TYPON ;;CALL=TYPON TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
(3) 000005 $TRP=$TRP+1
(2) 000 JENDC
(2) 001 JIF DF $TYPDS
(2) SETTRAP TYPDS,$TYPDS,~/TYPE DECIMAL NUMBER (WITH SIGN)/
(2) 000 JENDC
(2) 001 .IF DF $TYPBN
(2) SETTRAP TYPBN,STYPBN,*/TYPE BINARY (ASCI]) NUMBER/
gg; 000 JENDC
(2) 001 JIF DF $GTSWR
(2) SETTRAP GTSWR,$8GTSWR,“/GET SOFT=SWR SETTING/
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000 .ENDC

1F DF $CKSWR
ENDC SETTRAP (KSWR,$CKSWR,*/TEST FOR (HANGE IN SOFT-SWR/

.IF DF SRD(HR
ENDC SETTRAP RD(HR,SRDCHR,“/TTY TYPEIN (HARACTER ROUTINE/

.1F DF SRDLIN
ENDC SETTRAP ROLIN,SRDLIN,~/TTY TYPEIN STRING ROUTINE/
N <

.1F DF SRDOCT
ENDC SETTRAP RDOCT,$RDOCT,*/READ AN OCTAL NUMBER FROM TTY/

.1F DF SRDDEC
ENDC SETTRAP RDDEC,$RDDEC,*/READ A DECIMAL NUMBER FROM TTv/

"IF DF $SAVREG

SETTRAP SAVREG,$SAVREG,*/SAVE RO-RS ROUTINE/
N SETTRAP RESREG.SRESREG.*/RESTORE RO-R5 ROUTINE/
N

C
F DF SR2A
SETTRAP R2AZ,$R2A!
SETTRAP R2AZ.,$R2AZ.
SETTRAP R2AZQ,$R2AZ0

C

RAP SCOP1,.SCOP1 ;CALL TO LOOP ON CURRENT DATA HANDLER
$$SET  SCOP1,.SCOP1,\<TRAP+$TRP> ,\$TRP,<>

EQ $TRP-1

.SBTTL TRAP TABLE

;*TH]S TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
;*BY THE "TRAP'* INSTRUCTION.

; ROUT INE
$TRPAD: .WORD  $TRAP2
000 JENDC
104405 SCOP1= 104405
016742 013070 .SCOP1  ;;CALL=SCOP1 TRAP+5(106405)
000006 $TRP=$TRP+1
016744 SETTRAP INSTR,.INSTR  :ACLL TO ASCII STRING OUTPUT ROUTINE
016744 $$SET  INSTR,.INSTR,\<TRAP+$TRP>,\$TRP, <>
001 .IF EQ $TRP-1
"SBTTL TRAP TABLE

s*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
:¢BY THE "'TRAP"' INSTRUCTION.

: ROUTINE
$TRPAD: .WORD  $TRAP?
000 LENDC
10440¢ INSTR= 104406
016744 013374 JINSTR  ;;CALL=INSIR TRAP+6(104406)
000007 $TRP=$TRP+1
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(1) 016746 SETTRAP INSTER,.iNSTER :CALL TO INPUT ERROR  « HANDLER
016746 001 - ‘¥335{ INSTER, . INSTER, \<TRAP+$TRP> ,\$TRP, <>

.SBTTL TRAP TABLE

«*THIS TABLE CONTAINS THE
:*BY THE ''TRAP'" INSTRUCTI

: ROUTINE

$TRPAD: .WORD  $TRAP?

oaTARTlNG ADDRESSES OF THE ROUTINES CALLED

000 ENDC
104407 INSTER= 104407
016746 013502 «INSTER ;;CALL=INSTER  TRAP+7(104407)
000010 $TRP=$TRP+1
016750 SETTRAP PARAM, . PARAM ;CALL TO NUMERICAL DATA INPUT ROUTINE
016750 001 It Eo S?:gE{ PARAM, .PARAM, \<TRAP+$TRP> ,\$TRP,<>

.SBTTL TRAP TABLE

s*THIS TABLE CONTAINS THE
;*BY THE "'TRAP'' INSTRUCTI

: ROUT INE

$TRPAD: .WORD  $TRAP?

OaTARTING ADDRESSES OF THE ROUTINES CALLED

000 .ENDC
104410 PARAM= 104410
016750 013512 .PARAM ;. CALL=PARAM TRAP+10(104410)
000011 S$STRP=$TRP+1
016752 SETTRAP SAV0S5,.SAVO0S ;CALL TO REGISTER SAVE ROUTINE
016752 $SSET  SAVOS, .SAVOS,\<TRAP+$TRP>,\$TRP, <>
oM .IF EQ $TRP-1

.SBTTL TRAP TABLE

:*THIS TABLE CONTAINS THE START,NG ADDRESSES OF THE ROUTINES CALLED
;*BY THE ''TRAP'' INSTRUCTION.

: ROUTINE

$TRPAD: .WORD  $TRAP?

000 +ENDC
1044611 SAV05= 10441
016752 013712 .SAVOS5 ;;CALL=SAVO5 TRAP+11(104411)
000012 $TRP=$TRP+1
016754 SETTRAP RESO05,.RESOS :CALL TO REGISTER RESTORE ROUTINE
016754 $SSET  RESOS, .RESOS5,\<TRAP+S$TRP>,\$TRP,<>
001 1fF EQ STRP-1

.SBTTL TRAP TABLE

s¢THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
;*8Y THE "'TRAP'' INSTRUCT]ON.

: ROUTINE

$TRPAD: .WORD  $TRAP2

e e e e Yo laiealnte e balala i la X o X W W W ¥ N N W Y alealeakalalealalenlel e lelelal el alaYealeteYeleYeaYe Y Yo uw W W Qg
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(3) 000 LENDC
(3) 104412 RESOS= 104412
(3) 016754 013752 RESOS ;;CALL=RESOS TRAP+12(104412)
(2) 000013 $TRP=$TRP+1
(1) 016756 SETTRAP CONVRT,.CONVRT .CALL TO DATA QUTPUT ROUTINE
(2) 016756 $S$SET CONVRT..(ONVRT \<TRAP+$TRP> ,\$TRP, <>
(3) J01 JIF EQ $TRP=-1
:%; .SBTTL TRAP TABLEt
(3) ;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINEZ CALLED
:%; ;*BY THE ''TRAP'' INSTRUCTION.
:%; : ROUT INE
(3 $TRPAD: .WORD  $TRAP2
(3) 000 .ENDC
(3) 104413 CONVRT= 104413
(3) 016756 014004 +CONVRT ;:CALL=CONVRT TRAP+13(104413)
(2) 000014 $TRP=$TRP+1
(1) 016760 SETTRAP SETFLG,.SETFLG ;CALL TO FLAG SET ROUTINE
(2) 016760 $$SET SETFLG, .SETFLG,\CTRAP+S$TRP> ,\$TRP, <>
(3) 001 JJF EQ $TRP-1
z%; LSBTTL TRAP TABLE
(3) ;*THIS TABLE (ONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
:%; :*BY THE ‘‘TRAP'' INSTRUCTION,
2%; : ROUTINE
(3) $TRPAD: .WORD  STRAP?
(3) 000 +JENDC
(3) 1064414 SETFLG= 104414
(3) 016760 014162 SETFLG ;; CALL=SETFLG TRAP+14(104414)
(2) 000015 STRP=$TRP+1
8730 Y A I I I I T LI R I I IITI Y]
8731 UTILITIES
8732 RN R RN TR R AR R R AN R RO R R RN R RN AR R RN RN RN ORI RSY
8733
8734 sTHIS UTILITY CALCULATES PRIORITY LEVEL
8735 016762 006367 000044 DULEV: ASL DUPRT JSHIFT LEFTY
8736 016766 006367 000040 ASL DUPRT
8737 016772 006367 000034 ASL DUPRY :
8738 016776 006367 000030 ASL DUPRY :
8739 017002 006367 0000264 ASL DUPRT
8740 017006 016767 000020 00020 MoV DUPRY,LESS1 sMOVE THIS TO LESS!
8741 01701& 162767 000001 000012 SuB #LESHT sCREATE LESS?
8742 017022 042767 000037 000004 BIC l37.LESS1 SCLEAR TNZVC
8743 017030 000207 RTS PC
8744 017032 000240 DUPRT: PRS
g;zg 017034 000200 LESSY1: PRé sLEVEL TO ALLOW INTERRUPTS
8747 ;NEW DU ADDRESSES
8748 017036 016767 000126 162646 DUADDR: MOV DUBASE ,RXCSR s XXAX0
8749 017064 005267 000120 INC DUBASE
8750 017050 016767 000114 162636 MOV DUBASE ,HRXCSR  ;xxx1
8757 017056 005267 000106 INC DUBASE
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8752 017062 016767 000102 16%626 MOV DUBASE ,RXDBUF ;XXX
8753 017070 016767 000074 162624 MOV DUBASE .PARCSR - XXX
8754 017076 005267 000066 INC DUBASE
8755 017102 016767 000062 162610 MOV DUBASE ,HRXDBUF  ;XXX3
8756 017110 016767 000054 162606 MOV DUBASE _HPARCSR - XXX3
8757 017116 005267 000046 INC DUBASE
8758 017122 016767 000042 162576 MOV DUBASE , TXCSR S XXXG
8759 017130 005267 000034 INC DUSASE
8760 017134 016767 000030 162566 MOV DUBASE ,HTXCSR  :XXXS5
8761 017142 005267 000022 INC DUBASE
8762 017146 016767 000016 162556 MOV DUBASE,TXDBUF  ;XXX6
8763 017154 005267 000010 INC DUBASE
8766 017160 016767 000004 162546 MOV DUBASE ,HTXDBUF  :XXX7
8765 017166 000207 RTS PC
g;gg 017170 000000 DUBASE: 0
8768 ;THIS UTILITY POKES THE MAINT DATA BASED UFON THE
8769 ; INFORMATION CONTAINED IN $TMP1 AND IT IS
8770 ;SHIFTED IN BY THE CONTENTS OF SHIFT
8771 017172 042777 040000 162526 RPOKE: BIC #MTDATA,3TXCSR
8772 017200 005067 162276 (LR $TMP?
8773 017204 006067 162270 ROR $TMP1  ;FORCE CARRY
8774 017210 006067 162266 ROR $TMP2  :PICK UP CARRY [N BIT 15
8775 017214 006267 162262 ASR $TMP2  :SHIFT [NTO BIT 14
8776 017220 042767 100000 162254 BIC #B1715,8TMP2 :CLR BIT 15
8777 017226 056777 162250 162472 BIS $TMP2.aTXCSR ‘POKE MAINT DATA
8778 017234 042777 020000 162466 BIC #CLK,3TXCSR :POKE (LK
8779 017242 052777 020000 162456 8IS #CLK.BTXCSR :
8780 017250 005367 161646 DEC SHIFT
8781 017254 001346 BNE RPOKE
g;g% 017256 000207 RTS P(
8784 ;THIS ROUTINE CALCULATES ODD PARITY FOR AN 8 BIT CHAR
8785 017260 016767 162214 162214 0ODD8: MOV $TMP1,$TMP? :SAVE TEMP1
8786 017266 005067 162212 CLR $TMP3
8787 017272 012727 000010 MOV #8.,(PC)+
8788 017276 000000 4$: 0
8789 017300 006067 162176 1% ROR $TMP2
8790 017304 005567 162174 ADC $TMP3
8791 017310 005367 177762 DEC (3
8792 017314 001371 BNE 1%
8793 017316 006067 162162 ROR $TMP3
8794 017322 103404 BCS 2%
8795 017324 052767 0004600 162146 BIS #B1T8,$THPI :SET ODD PARITY
8796 017332 000403 BR 3$
8797 017334 042767 000400 162136 2%: BIC ¥BIT8,$TMPY :CLR EVEN PARITY
8798 ;$TMP1 NOW HAS ODD PARITY CHARACTER
gggg 017342 000207 38 RTS PC
8801 :THIS ROUTINE CALCULATES EVEN PARITY FOR AN 8 BIT CHARACTER
8802 017344 016767 162130 162130 EVENB: MOV $TMP1,$TMP? :SAVE TEMPY
8803 017352 005067 162126 (LR srnps
8804 017356 012727 000010 MOV #8.,(P0)
8805 017362 000000 4%: 0
8806 017364 006067 162112 1$: ROR $TMP2
8807 017370 005567 162110 ADC $TMP3
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8808 017374 005367 177762 DEC 4%
8809 017400 00137 BNE 1%
BB10 017402 006067 162076 ROR $TMP3
BB11 017406 103004 BCC 2%
8812 017410 052767 000400 162062 BIS #BITB,S$TMPI ;SET EVEN PARITY
8813 017416 000403 BR 3%
8814 017420 042767 0006400 162052 2%: BIC #BIT8,8TMPI :CLR ODD PAR]ITY
8815 :$TMP1 NOW HAS EVEN PARITY CHARACTER
8816 017426 000207 3s: RTS PC . g
8817 017630 062716 000002 TRPREG: ADD #2,(SP) ;ALLOW 1T TO "'CRUNCH'' INTO HLT BACx
8818 :IN MAIN PART OF THE PROGRAM
8819 017434 000002 RTI
8820 SINITIALIZE SBC 11/2° PROCESSOR ODT AND LKVEC
8821 017436 LINIT
1) 017436 POINT= ;SAVE POINTER
(1) 009100 .=100
(1) 000100 017436 $CLKVEC :LKVEC HANDLER
(1) 000102 000300 300 s INTERRUPT HANDLER PR]
(1) 000140 .=140 :BRKVEC
(1) 000140 170000 170000 :0DT START ADDRESS
(1) 000142 000300 300 :PRIORITY
(1) 017436 .=POINT :RESTORE POINTER
(1) 017436 104401 017444 $CLKVEC: TYPE,CLKMES
(1) 017442 000000 HALT
(V) 0176444 005015 045514 042526 CLKMES: .ASCi?Z <1S><12>/LYVEC INTERRUPT = DISCONNECTY LTC /
(1) 017452 020103 047111 042524
(1) 017460 051122 050125 020124
(1) 017466 020055 044504 041523
(1) 0172474 047117 042516 052103
(1) 017502 046040 041524 000040
8822 000001 LEND
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AAA 003200 B148Ba

ABASE = 000000 B1LB

ACDWY1 = 000000 8148

ACOWZ = 000000 8148

ACPUOP= Q00000 B148

ACTREG 001166 B1438+ 8729

ADDWO = Q00000 8148

ADDW1 = 000000 8148

ADDW10= 000000 8148

ADDW11= 000000 8148

ADDW12= 000000 8148

ADDW13= 000000 8148

ADDW14= 000000 8148

ADDW15= 000000 8148

ADDWZ = 000000 B148

ADDWY = 000000 8148

ADDW4& = 000000 8148

ADDWS = 000000 8148

ADDW6 = 000000 8148

ADDW?7 = 000000 8148

ADDW8 = 000000 8148

ADDW9 = 000000 8148

ADEVCT= 000000 8148

ADEVM = 000000 8148

ADRCNT= 013711 87294+

AENV = 000000 8148

AENVM = 000000 8148

AFATAL= 000000 8148

AMADR1= 000000 8148

AMADRZ= 000000 8148

AMADR3= 000000 8148

AMADRS4= 000000 Bi48

AMAMS1= 000000 8148

AMAMS?2= 000000 8148

AMAMS 3= 000000 8148

AMAMSS= 000000 8148

AMSGAD= 000000 8148

AMSGLG= 000000 8148

AMSGTY= 000000 8148

AMTYP1= 000000 8148

AMTYPZ2= 000000 8148

AMTYP3= 000000 8148

AMTYP4= 000000 8148

APASS = (000000 8148

APRIOR= 000000 8148

APTCSU= 000040 70084 8729

APTENV= 000001 70084 8729

APTSI2= 000200 7008# 8148

APTSPO= 000100 70084 8729

ASWREG= 000000 8148

ATESTN= Q00000 8148

AUNIT = 000000 8148

AUSWR = 000000 8148

AVECT1= 000000 8148

AVECT2= 000000 8148

BASEAD 001154 B148Ne 8729+
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BASEIV 001162 B1484r  B729v

003026 B148a

BlNHRD 014160 87294+

BITw = 002000 B1484 B150 8151 8152 8153 8154 8155
8378 8412

81710 = 000001 81484

81100 = 000001 B148#

81101 = 000002 B148#

BIT02 = 000004 B148#4

B1103 = 000010 81484

81104 = 000020 81484

81705 = 000040 B148A

81706 = 000100 81484

81107 = 000200 81484

B1108 = 000400 81484 8729

81709 = 001000 B148B¥  B729

BIT1 = 000002 B148#

BIT10 = 002000 B1484 8729

BIT11 = 004000 81484 8729

B1112 = 010000 81484

BIT13 = 020000 81484  B729

BIT14 = 040000 B1484 8729

BI115 = 100000 B1484 8776

Bi12 = 000004 81484

BIT3 = 000010 Bl4Ba

BIT14 = 000020 81484

BITS = 000040 B148BN

BI16 = 000100 81484

81717 = 000200 81484

BIT8 = 000400 B148¢ B795 8797 881¢ 8814

8119 = 001000 B148#

BPTVEC= 000014 81484

BREAK = 000001 B1484 8181 8220 8261 8435 8488 8684

BRKVEC= 000140 81484

BRW 016666 87294

BRX 016670 87294

CARDET= 010000 8148#

cC 012646 87294

CHRCNT 014156 87294+

(KSWR 012742 87294

(Lk = 020000 81482 8150 8151 8152 8153 8154 8155
8181 8182 8183 8195 8196 8220 8221
8255 8279 8284 8314 8316 8339 8373
8442 8488 8490 84N 8615 8617 8634

CLKMES 017444 8821

(NTLU 013016 8148 87294

(ONVRT= 104413 87294

COUNT 001124 81484 8197« 8204+ 8313+«  B8322+ B8331r  B340e
8575« 8579+ 8663+  B686*

(R = 000015 B1484 8729

CRLF = 000200 81484 B729

(1S = 020000 B1484

DDISP = 177570 B148#

DEVADR 013706 B7294+

DEVICE 015351 B7294

DF 1 002132 B148#

8157

00 00 00 00
O NNy —»
o~0orVWN
oo~

Bubbe

8158 8159
8158 8159
8231 8232
8407 8414
8670 8778

864Be  B452e

“€Q 0139

8160 8161 8162

8160 8161 8162
8241 8242 8254
8435 8440 8441
8779

8492+« 8497« 8570
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DH1 002067 B148#

DISPLA 00144¢2 B1484c B729+

DISPRE 000174 B148#

ONA = 100000 B1484

DNAINT= 000040 81484

psC = 100000 81434

DSINTE= 000040 81484 8710 8716 87264

DSR = 001000 B14BA

DSWR = 177570 B1484

DTR = 000002 81484 8717

011 002116 81484

D14 002126 B148#4

DUADDR 017036 8148 8729 87484

DUBASE 017170 8148 8729+ 8748 8749+ 8750 8751« 875¢ 8753 87564+
8759+ 8760 8761+ 8762 8763+« 8764 87664

DULEV 016762 8148 87354

DUPRT 017032 8148+ 8702 8735+ B736* B737+ 8738 8739« 8740 87448

DURIS 001740 B148% B702+« 8712 8713« 8721 8722« B729+

DURIV 001736 81484 B701e 8712+ 8721+ 8729+

pUTIS 001744 B14BN¢  B729+

puTIv 001742 B14B4 8729+

EIGHT = 006000 81484 8152 8153 8154 8155 8157 8158 8159 8160
8241 8273 8309 8366 8401 8435 8488 8611 2460

EMTVEC= 000030 81484

£EM 001762 B148#

EM2 002022 B148#

gEm3 002043 81484

EMG 001746 81484

ERRCNT 001114 81484

ERRVEC= 000004 81484+ 8720+

EVENB 017344 8802#

EVEPAR= 001400 8i148¢ 8150 8152 8154 8157 8159 8161

EVPAR = 000400 81484

fFIVE = 000000 81484

fRMERR= 020000 81484

GNS = sdenet |J 8729

HDXEN = 000010 81484 8632

HILIM 013704 87294+

HLDO 001130 81484 8729+

HLD1 001132 81484 B729*

HLD?2 001134 81488 8729+

HLD3 001136 81488 8729+

HLD& 001140 B148#¢  B729t

HLDS 001142 81484 8729+

HLD6 001144 B1484 8729+

HOLD 001120 81484 8615 8617 8634

HPARCS 001724 81488 8756+

HRXCSR 001714 81484 8750«

HRXDBU 001720 Bi1484  B755¢

HT = 000011 B1484¢  B729

HIXCSR 001730 81488 8760«

HTXDBU 001734 81484  B764»

INBUF 016172 8148 87294

INIFLG 001172 81484

INSTER= 104407 8148 87294

INSTR = 104406 8148 87294

8755

8161

8756

8162

8757+

8181

SEc 0140

8758

8220
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RXDBUF 001716 B14B4  B225 8234 8257 8312 8325 8348
8610 8628 8641 8662 8680 8752+

RXDONE= 000200 81484

RXERR = 100000 B148a  B347

SAVIT 014412 87294

SAVPC 001126 81488  B729¢

SAVSP 001116 Bi4BN  B729v

SAVOS = 104411 87294

SCOP1 = 104405 87294

SEND = 000020 81484 8150 8151 8152 8153 8154 8155
873 8309 8366 8368 8371 8401 8424

SEREC 001150 B148#

SETFLG= 104414 8148 87294

SEVEN = 004000 81484 8150 8151

SEXMIT 001147 B148#

SHIFT 001122 8148# B150+ 8151+ 8152« 8153« 8154  B155¢
8184+ 8190+ 8201+ 8223+  B239»  B243+ 8263«
8405+ 8421+ B42? 8425 B44L9r  BL60r  BL94r
8616 8618+ 8619 8622 8633+  B635+  B668e

Six = 002000 B148#

SPACNT= 014157 87294+

SRD = 002000 81484

STACK = 001100 B1484 8729

STD = 000010 81484

STFLG 001173 B148ar

STKLMT= 177774 81484

STPSYN= 000400 81484 8311 8437

Sv05 013729 87294

SWR 001440 81484+ 8729

SWREG 000176 81484 8729

SWREGL 013060 8729#

SW0 = 000001 Bi4Ba

Sw00 = 000001 81484

Sw0l = 000002 81484

Sw02 = 000004 B148¥

SWw03 = 000010 Bl46#

SWo4 = 000020 81484

SW05S = 000040 81484

swo6 = 000100 81484

SwW07 = 000200 B148#

SW08 = 000400 81484

SW09 = $01000 81484 8729

Swl = 020002 81484

Swi0 = 602000 81484

SWwil = 004000 81484

Swi2 = 010000 8148#

Swi3 = 020000 8148#

SWwi4 = 040000 81484

SW15 = 100000 81484

Sw2 = 000004 81484

sw3 = 000010 81484

Sw4& = 000020 81484

SwS = 000040 81484

swé = 000100 81484

SwZ? = 000200 81484

Sw8 = 000400 8148#4
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C 12
EC-87 10:02 PAGE 63-7
CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0145

(NDUU=~A MACY11 30(1046)
CNDUUA . M1, 29-0CT1-82 1

$APTHD 002136
BASTAT= eeveer
SATYC 000024
$ATY1 000000
$ATYS 000006
$ATYL 000016
SAUTOB 001434
$BASE 001602
$BDADR 001422
$BDDAT 001426
1516
606

»n

$BELL 00
 J*) 001
$C(Ow2 001610
$CHARC 013370
SC(KSWR= weenere )
$CLKVE 0174636
$(MTAG 001400
sCml 000006
$(M2 000014
Y4} ) 000006
(M6 000006
$CPUOP 001554
$CRLF 001523
$ODW0O 001612
$D0DW1 001614
$00W10 001636
300w11 001640
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8

7

8729

$ODW13 001644
$0DW14& 001646
$00W15 001650
$00W2 001616
$ODW3 001620
$0DW4 001622
$ODWS 001624
$0DW6 001626
$ODW7 001630
$ODwW8 001632
$ODW9 001634
$DEVCT 001536
SOEVM 001604
002002

o donde Lo o Jo T Lo To Jo To To -To To -To Yo .lo Lo -To To -Tod ol o To Lo -To To -Toolo Qoo Jo doode To R =g
RNV R AR

©o 0o 0000 00
L2 R & X 4

L J

SE =
SENDAD
SENV
SENVM
SERFLG
SERMAX
$ERROR
S$SERRP(
$ERRTB
SERRTY
SERTTL
SESCAP
$ETABL
SETEND
SFATAL

OO
[ 21
- PN)
~
-
&~

o
o
(W Te JUTV.F o 2l B olN D o ol e d
NN S ot =2 NN =2 N = O S S
OO VO NONOWVHANNO

— il e i s L D s J i i
— e 2 () SO b e d e i el ) d i wd wd ad el e o d i i e d e i i QD N N ed D e =D =R O OO =

B OOT NSNS D000 COoO N

(o Jo Yo To .To-To-Te To
R Bw

» . »

" TEXEX T L

O
LR

(elolelelelelelelele le
OOO0OO0O~00 =200
Q) = b b b N b b
QOO
(e oJo -To -To .o ]
LR R R R J

» ®
oo G000 000000 0000000000
— NN ONSNNNNN——N
o~ A0 NN SN
g WO VOO0V OO0OOOO



D 12

C(NDUU=-A MACY11 30(1046) 14-DE(-82 10:02 PAGE 63-8

CNDUUA M1 29=-0(1=-82 13:27 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0146

$FFLG 000244 70084+

$FILLC 001456 81484 8729

$FEILLS 001455 B148x 8729

$GDADR 001420 B148#

$GDDAT 001424 8148#

$GTISWR: resenr 8729

SHIBTS 002136 B148#

$1ONT 001404 81488 38729

SINTAG 001435 81484

SITEMB 001414 81488 8729

SLF 001524 81484 8729

SLFLG 000243 70084+

SLPADR 001406 B148BNr 8729

SLPERR 001410 81484 8729

$MADR1 001560 81484

SMADR? 001564 81484

S$SMADRY 001570 81484

SMADRSG 001574 81484

SMAIL 001526 81484 8729

$MAMST 001556 81484

SMAMS? 001562 8148#

SMAMSY 001566 8148#

$MAMSSL 001572 81484

$SMBADR 002140 81484

SMFLG 000242 70084+

$MSGAD 001542 7008« 81484

$MSGLG 001544 7008«  B148#

SMSGTY 001526 7008 81484

SMTYP1 (001557 81484

SMTYP2 001563 81484

SMTYPS 001567 8148#

SMIYP4L 001573 81484

SMXCNT 016672 8729#

$N = 000000 68354 8729

$NULL 001454 81484 8729

$NWTST= 000000 81504 81514 81524 81534  B154# 81554 81574 8158 81594 B160# 81614 Bl62s 81784
B2194  B271a  B307# B364N B399  BL3Lx  BLBO6N  B6O7M 86594  B6O3N

$OCNT 015026 87294

$OMODE 015030 87294

SOVER 016652 87294

$PASS 001534 B1484c 8729«

SPASTM (002144 81454

$PWRDN 015032 8148 87294

$QUES 001522 81484 B729

SROCHR= seener 8729

SRODE(= evenes 8729

SROLIN= seewer 8729

SRDOCT= eeseee 8729

SREGAD 001460 81484

SREGO 001462 81488 8729«

S$REGI 001464 81484 8729+

$SREG2 001466 81484 8729

$REG3 001470 B1488 R729«

$RE G4 001472 81488 3729

SREGS 001474 81488 8729«

SR2A = eeesee | 8729
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(NDUU-A MACY11_30(1
CNDUUA .M

. CONVR
.EOP
<INSTE
+INSTIR
LINSTY
MSG
.PARAM
LPEAIL
.RESOD
.SAV05
.SCOPE
.SCoPY
SETFL
.STARTY
SASTA=
i 3 SR
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b h b o ad b d e d md ok D
£ N O NN UNANLNUN NP £
O N IS =N N = b b O NO
NOOMNIMNININION S PO

o
o
~n
-—
o
~no

LA AR R R

002136

29-0C

04
1=

6
8

)
21

14=DE (=82
3:27

87294

8729#

87294

87234

87294

B729#

B7294

8148 37294
87294

87294

87294

87294

87294

B1484 8729
7008

81484
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CROSS REFERENCE TABLE == USER SYMBOLS

10:02 PAGE 63-10

SEQ 0148



G 12

CNDUU=-A MACY11 30(1046) 14-DEC-82 10:02 PAGE 64

CNDUUA .M 29-0CT1-82 13:27 CROSS REFERENCE TABLE == (RO NAMES SEQ 0149

(OMMEN 15664  8148»

ENDCOM 15784  B8148#

ERROR 81484 8150 8191 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8189 8200
8208 8237 8260 8277 8282 8287 8321 83°8 8346 8351 8385 8419 8456 8459 8465
8470 8505 8508 8520 8525 8534 8537 8541 8550 8553 8558 8561 8566 8583 8586
8592 8597 8620 8631 8639 8644 8679 8683 8709 8725

ESCAPE 16984  8148#

GETPR] 13124  B148#

GETSWR 17714  B148#

MULT LLB4N  B14B2

NEWTST 16264 81484  B1S0 8151 8152 8153 815¢ 8155 8157 8158 8159 8160 8161 8162 8178
8219 827 8307 8364 8369 8434 8486 8607 8659 8693

POP 2153 7008 B14BA

PRGEND 81144 8729

PRGFRT 72484 8148

PUSH 21454 7008 81484

PUSSYF 79854 8615 8617 8634

REPORT  S463@ 64948  B148a

RSETUP 74434 8181 8220 8241 8435 8488

SC 68084 B729

SCOPE 81484 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8178 8219
8271 8307 8364 8399 8474 8486 8607 8659 8693 8729

SC 68268 8729

SETPRI] 12794 8148#

SETTRA 6493 8729«

SETUP 1337¢ 8148#

SKIP 1733 8148#

SLASH 1517# 81484

SPACE 8148#

STARS 14854 7008 81484 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162
8178 8219 8271 8307 8364 8399 8434 8486 8607 8659 8693 8729

SWRSU 14534 B148w

TRMTRP  8729#

TSETUP 74554 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8273 8309
8366 8401 8611 8660

TYPBIN 20884 B148#

TYPDEC 20584 B148#

TYPNAM 18264 B14B#

TYPNUM 20254 B148#

TYPOCS 19784 B148#

TYPOCT 19414 B14BN  B87¢9

TYPTXT 18944  B148#

$BEGIN A7178 8148

$BINAR 7932«
$SBUFFE 71224 8729
$CABLE  8000#

SCATCH 65864 8148
$CK 69624 8729
$CLRVE 67324 8148
$CONVR 71334 872
SDONA 7833#

$EOP 68804 872
SGETFL  6762¢ 814
$SGETPA 67524 814
$GETSY 67684 814
$HEADE 64978 814



H1
(NDUU=A MACY11 30(1046) 14--DEC=-B2 10:02 PAGE 64=-1 2
CNDUUA . M1 29-0CT1-82 13:27 CROSS REFERENCE TABLE == MACRO NAMES SEQ 0150

$INSTR 70004 8729
$1508 77614
SMAT(H  7570#

$MRR 76304

$SMRRW 7378«

$MRW 7613

$MSG 70964 8729

$NEED 81024 8729

SPARAM 70394 87729

:SBQéL ;§§§3 g:%% 8191 8152 8153 8154 815¢ 8157 8158 8159 8160

< 1 16 8161 8162 8279 8284

8314 8316 £339 8373 8380 8407 8414 8666 8670

$POKER 75584 8183 £195 8196 8221 8222 8242 8442 8491

$RONET 80124

SRECAC  7492#

$REG 72214 8729

SRESET 73744 8150 3161 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8181 8220
8241 8273 8309 8366 B840 8435 8488 8611 8660 8696

SRXACT 74684

$SCOPE  6831» 8729

$SCOPY 69974 8729

$SETFL 67884 8729

$SETVE 65974 8148

$START 66754 B148

$SSTRIP 78024

$SYMBO 65134  B148

$SYNCR 75644 B182 8490

$TRPAR  7884» 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162

$ISTNO 6838# 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8178 8219
8271 8307 8364 8399 8434 8486 8607 8659 8693

SUNIBU  7357#

SVARIA 66134  B148

$WORDF 7700#

SWORDD  7650#

SWORDP 77284

$SCMRE  8148#

SSCMTM  8148#

$SESCA 17112 81484

SINEWT 16624 81484 8150 8151 8152 8153 8154 8155 8157 8158 8159 8160 8161 8162 8178
8219 8271 8307 8364 8399 B4 34 8486 8607 8659 8693

$$SET 87294

$SSETM 81482

$9S5KIP 174604 81484

.EQUAT 1894 64930 8148

+HEADE 61» 64921

JINIT 56584 B148v 8821

LSETUP 1213 6492y 8148

.SWRHI 104%

LBACTI SO64LN  64L94N 8148

LSAPTB  S1094 64948 81488

LOAPTH 53704 64944 8148

LSAPTY  S5474 64948 7008

.SASTA 561 7#

LBCATC Q328 649N

LSCMTA 10472 649.% 8148

.$DB2D  4L6BO#
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(NDUU=-A MACY11 30(104
CNDUUA M1 29-0(T-

.$0B20
D1V

LSEOP

.St RRO
.SERRT
JIMULT
. SPOWE
.3RDDE
LSREAD
SR2AZ
.SSAVE 39694
35820 477»
.$SB20 4B74n
$SCOP 2454«
L9SIZ2E 4361
LSSUPR 49134
STRAP L0734
.51YPB 12874
S3TYPD 32094
.STYPE 29854
SIYPO 31124
.$40CA Q724

SN B £ S OO B
O N N OO NN OD NNV OD
O OOVONINVO — 00—
NN = NOWOO £~ N
L E R X R R R R X % P

. ABS. 017510

ERRORS DETECTED:

6) 14-DE(-82
0CT-82 13:27
6L92#

64934  B729
64934  B729
6493
64934  B729
64938 8729
64924 8729
6493 8729
000

0

1 12
10:02 PAGE 64-?
CROSS RFFERENCE TABLE == MACRDO NAMES

CNDUUA,CNDUUA/CR?/gtéégggtNHACZ.SML.CNDUU1.H11,CNDUU?.H11.CNDUUA.H11
RUN-TIME RATIQ: 80/37=2.1
(86 PAGES)

RUN-TIME: 17 18
(ORE USED: 43k

SEQ 0151



